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Test Booklet Code UPT_ 19 Test Booklet No.

Paper : 11

Roll No.

Time Allowed : 12:30 p.m. to 3:00 p.m. (272 Hours) Maximum Marks : 150

INSTRUCTIONS

Do not open the Test Booklet before 12:30 p.m.

Read the question carefully before marking the right answer in the appropriate circle of the OMR

Answer-Sheet.

e No candidate will be allowed to appear in the examination without Admit Card and it should be produced before
the Invigilator when asked.

e No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

e Any book, paper, cell phone, calculator or any electronic gadget or objectionable materials are not allowed in the
Examination Hall. Candidates are allowed to bring only Admit Card and ball-point pen in the Examination Hall.

e Candidate will have to keep all his/her belongings and materials outside the Examination Hall at his/her own
risk.

e Any candidate found using unfair means or violating the above or any of the examination rules shall be disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Test Booklet.

Only one circle, either (A), (B), (C) or (D) is to be darkened completely for each answer on the OMR Answer-Sheet.

Candidate should not make any stray marks on the OMR Answer-Sheet.

Candidate should not staple, fold, pin, wrinkle or damage the OMR Answer-Sheet.

Scratching, overwriting, tick marking, multiple answering will be considered as wrong answer.

e Candidates will have to sign twice the Attendance/Roll Sheet presented by the Invigilator on duty, once after
taking their seats in the Examination Hall, and once at the time of handing over their Test Booklet and OMR
Answer-Sheet to the Invigilator. Cases where a candidate has not signed the Attendance Sheet a second time
will be deemed not to have handed over the Answer-Sheet.

e The candidate has to return the Test Booklet along with the OMR Answer-Sheet to the Invigilator before leaving
the Examination Hall.

e Candidate should do all the necessary Rough Work on the Test Booklet in the space provided. Rough Work
should not be done on the Answer-Sheet or on any other paper. If any Rough Work is done on the Answer-Sheet,
the Answer-Sheet will not be assessed.

e There will be one single OMR Answer-Sheet for all the questions. No extra Answer-Sheet will be provided
for any mistake or correction.

e The OMR Answer-Sheet will be provided along with the Test Booklets» Candidate should fill up the particulars in
the OMR Answer-Sheet, i.e., Roll No., Test Booklet No., Test Booklet Code, Language Code, etc., carefully with
blue/black ball-point pen only.

e The test is of 2% hours duration and will consist of 150 questions.

e The candidate should use blue/black ball-point pen only for writing particulars on this page/marking responses
in the OMR Answer-Sheet.

e The candidate should make sure that the corresponding Test Booklet Code is properly written/shaded in
the OMR Answer-Sheet by him/her. For example, if the candidate gets Test Booklet Code ‘O’, then he/she
should fill up ‘O’ in the box provided in the OMR Answer-Sheet and also shade the circle ‘O’ in the OMR
Answer-Sheet. In case of any discrepancy in the Test Booklet, the candidate should immediately report the
matter to the Invigilator for replacement.

e This Test Booklet has five Parts, i.e., Parts I, II, III, IV and V consisting of 150 Multiple-choice Type questions,
all carrying 1 mark each.

Part-I :  Child Development and Pedagogy (Q. Nos. 1 to 30)
Part-1I :  Mathematics & Science (Q. Nos. 31 to 90)
Part-II  : Social Studies (Q. Nos. 31 to 90)
(Candidate has to attempt Part - II or Part - III)

Part-IV  : Language-II [ English (Compulsory) ] (Q. Nos. 91 to 120)
Part-V :  Language-I (Optional) (Q. Nos. 121 to 150)

(Any one of the languages - Assamese, Bengali, Bodo, Garo, Hindi, Hmar, Nepali, Manipuri and Karbi)

e There is no negative marking for any wrong answer.

e Candidate should note that each question in Parts I, II and III is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference. In case of any
discrepancy or confusion in the medium/version, the English version will be treated as the authentic version.

e Important : Candidate please see Page No. 7 for Index.
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INDEX

Part Subject / Component Q. Nos. Page Nos.
I Child Development and Pedagogy 1 to 30 8 to 37
I Mathematics & Science 31 to 90 38 to 73

(For Mathematics and Science Teachers)
III Social Studies 31 to 90 74 to 109
(For Social Studies Teachers)
(Candidate has to attempt Part - II or Part - III)
IV Language - II [ English (Compulsory) | 91 to 120 110 to 113
\"/ Language - I (Optional) (121 to 150) (114 to 142)

(Candidate should answer from
any one of the following languages)

Assamese 1271 to 150 114 to 117
Bengali 121 to 150 118 to 120
Bodo 121 to 150 121 to 123
Garo 121 to 150 124 to 127
Hindi 121 to 150 128 to 130
Hmar 121 to 150 131 to 133
Nepali 121 to 150 134 to 136
Manipuri 121 to 150 137 to 139
Karbi 121 to 150 140 to 142
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PART - I : Child Development and Pedagogy

1. 0T FiTe Wb PR Sete Tl (@RI SHTsi ST 23 7
(@) T =ARES STt
(b) TWHRR SfGeTora ST
©  STREEEesE e

(d) TSRS SIS 19T

€ A TSITITSIF ST

B% g Aift Sferaar :
@A) (@) (b)>=(c) B) (a) ()3 (d)
© (@), (b),(c), (d) > (e) D) (b, (d)>1=(e)

1. TR e U6 P13 06 (ST @I ST Tera YA =7 2
(a) CIIF F=oAfFS TSt

(b) WIFE SheTwI STHT!

©) SRR 4TSI ST

(d) ST ST ST

@ STSTIToR ST

O 0 @R A |

@A) () (b) 932 (0) B) () (0932 (d)

©  (a)(b),(c), (d) 932 (e) D)  (b),(d) 932 (e)
1. < 96 9 TS TREE S 6 WA ST /R iR S 2

() SRS

(b) T AR ST

€  TEfEE! AEgAiE SiH
(d)  TETSTSI AREAAI S

@  TMafT STferETa TEAN S

TRAM 9R TREAREE g’
A)  (a), (b) 3 (c) ®) (), (c) 3R (d)
© (), (b), (0), (d) 3 (e) (D)  (b),(d) =W (e)
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1. TR @ o fondt w forg 1 fFrefafad SH- goensti o1 9men & gear € 2
@ IF T
(b) MR Hehe i THET
()  3TYUY Yaurdl skl HHE
d)  ErHITSTeR FHTESH 6t gHE
(€)  SACHIHRA! ot FHEA

3§ foehed &l g fafan :
A (a), (b) 3R () ® () ()R (d)
©  (a),(b),(0), (d) R (e) D  (b), (d) R (e)

1. In the period of adolescence, which of the following problems are faced by a child ?
(@) Sexrelated problems
(b)  Problem of mental complexity
()  Problem of Delinquency
(d)  Problem of Social adjustment
(e) Problem of self-dependent
Choose the correct option :
()  (a),(b)and (c) ®  (a) (c)and (d)
© (@) (b)) (d)and (e) )  W)(d)and (&)

2. Perds Jins SN o@nce, [ifas SIS 1o 8ol 276 -

(A)  ofer, Ry ore sifqamy (B)  dfaar, yeriEE, Kz<g 3= “Afqemy
© afr, =fs, st o sAfeam (D) =i, az<g o= ey

2. PR Ifad Tial O Nio, Wiiad SiF el Sl 26T

A  Afxr, ey  Ig sfaemy B) A, gerRE, REwag 47 sffem
© dfea, =yfs, o8r age sfgam D) =fs, w<E Qe sifgemm

2. Guilford M structure of intellect FHRIY FGAT Main dimension of intellect T SITETT -
(a) faf¥, gremef e’ 37 fems |
@)  fafe, grrerE, FeHi SR 357 fhars |
© faf¥, T e, o e 5 fres |
(D) TG TEI, BTeThI TR 357 e |
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fTeTRIE ot Ifg g T & STIER, SifgeH T 61 ga SURH ¢
(A)  ufsran, fawereeg R 9fom B) ke, geaisd, fammasg R aftom
©  ufsran, wgfa, fema oik afomy ®) wfa, forreayg sk uftom

According to Guilford structure of intellect, the main dimensions of intellect are :
(A)  Operation, Content and Product

(B)  Operation, Evaluation, Content and Product

(©  Operation, Memory, Thinking and Product

(D) Memory, Content and Product

QRFEAT RFT BPNZI OGNS [RIHF (@A 876 AR IqW ©f8 S=+18el’ QT (QqFey Refest ofiam
T 7

NI TR B) I eI © TaF Tl (D) TR Bret

QFTFTAR R BB ©F N [P (@ A0S AT 39 @IRhoa g’ @36 @iFes
ST AT AR 2

(A) PR Pl B)  “IF eI © &BF JfeTpler (D)  CNF e

TRREAR SFEiEf SE e 99 Wil 9916 “Identity Vs Role Confusion” STRg@I T HHT 2
@A) TeiE B TREAMITE (O S<EAMfET (D) IS EE

TR 1 fIhTE Sl TR FHE 1 T o SFTHR o™ ol W) B GRed o1 (vs) T STersdl’ Tah e
% ¥ ¥ fierar ¥ 2

@) T ® T R © I Rwp D) e

According to Erikson’s theory of stages of development in which stage, the “Identity Vs Role confusion” is
found as characteristics of development ?

(A) Infancy (B)  Earlychildhood (C) Laterchildhood (D) Adolescence

GO PIeT 0207 OB ‘YR SN ATTFI’ (Storm and Stress) FIeT - G FIAMF (FIH (FleT ?
(A)  IEHE o6 (B) TS T © o5 D) Fg

CFOTIE BIET Z6T QF ‘AT WL ATLA’ (storm and stress) QT F1eT - Q3 FAG (& IcaRE= 2
(A) ST ST (B) LA =T © ST D) T

‘ Adolescence is a period of Storm and Stress’ & YT R i ?
Q)  HAFE ST (B) A & © @EReEd (D) THR
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'W’[’%W“W 3ﬂ'{tﬂ@ﬁ” (Storm and Stress) hIcl T - 39 hYA &I fohg har a1 ?
(A) SIS (B) A B © @A O) TR

Adolescence is a period of “Storm and Stress” - Who said this statement ?

(A)  ErnestJones (B) Stanly Hall (© Watson (D)  Skinner

wfext, Frs «fts Fai 70 - 90 3 fovss M, (©68 (F FRes @FF0T @i I3 57 2

A) Afsorr fre B) &7 sifes frs
© TR D) o R

T47 OFf6 Fresg Ihag 37 70-90 ©F (GOl UEF, TAF 33 FIsE @F (ITte T 57 2

Q) AfsoRE e B) Tsfsre vt o FF O 73
© g% 3 D) g 3

SreaT I M ' et St (1Q) 3T 70 - 90 4 TsRia Ul 37sa foit Mt a9 rEiste e 2
(A) TERM I HEE 1Y (B) & AR Fren T’
© FETA’ (D) TR FEfE 19 Fe Ty’

9 IS Uah T1] %1 “Intelligence Quotient (IQ) 70 - 90 < WAL 8, Ta U frg] =l ford oft & T@ 1 wehall
g7

(A)  fdrer fag ® dRTfamfn ©Q HdEm D) g dfg T g

When the Intelligence Quotient (IQ) of a child is between 70 - 90, he is generally categorized as :
(A) Gifted (B)  Slow learner (© Idiot (D) Moron

UPT-19/P-11/O

RIS Qe i KTsr FIde sitge, 9o Frstdie Qb sitas AT 1157 SCHT9[T 657 Sfey o,
551 et gfet IR coars sl 27, (O GBI R'T

(A)  Freag SIiket giEIer (B) P SHPNS BB

©) Freag i Famaer (D) Freaq g9 Bisael

TINFCF (@TsT Q72 ST ¢t #1td, aFS Fridt 3G 2@ 01T 115 Soie (A0S 615 (@7 I 7 aTF
19 551 IR ICeT O Ol OToT X<

(A)  FrFCes Sifdset giTieae (B) PSR g e FIFEa
Q)  FPFCed Qe s (D)  FFsCeg 4T BITise

11 P.T.O.




UEl WA SNE AR @ BRIEAEE 3™ 9 WEEEl A9 EseTd 9FE 918 11 STa-w e
TS 6 I e ATSa A& BTl T SR ST STedl <@ 71 7 ?

(A) Lateral Transfer of Learning (B)  Sequential Transfer of Learning

(©  Negative Transfer of Learning (D) Positive Transfer of Learning

Ul el H I TR SRR 3181 < & o1e, ford) wer fomneff 3 e ohcte § Tar 741 11 31Ul | 9 6 319
TeRTeT ST 5 T8 T THY U K1 FASM 21§, 99 98 B

(A)  Toan wiftq w1 sifaeshar TR B) Toan wiftq o1 STIeh iR TR
(©)  T3naq 9Ifta <A1 SRUTcHeh STl (D) Toan wiftd 1 Arees TUFRRO

After teaching substraction and addition in class, a student is able to remove six apples from a pot containing
11 and understand that there would be five left, thenitisa:

(A) Lateral transfer of learning (B)  Sequential transfer of learning

(©) Negative transfer of learning (D) Positive transfer of learning

Frgdg o457 Safs @0 wiaT 8oTs fofs Ffe e targ 2
(A) SRR T (B) AWHRE T (O AFfeImt T (D) I/ i

g a9 oMo Fafaie @N wfaitaew@ fofe s Kert zmm e
(a) SRty (B) AR e (@ dFfeamiws . (D) |l e

Project method of teaching 31 TR sfel HITY HHES & )
(A) Idealistic philosophy (B) Pragmatic philosophy
(©  Naturalistic philosophy (D)  Realistic philosophy

Toreror <A1 Wehed USfa HIF-T1 < W MR ST foeh e © ?
(A) ST ®) TEwTEE © uFER (D) STEfIFHAER

Project method of teaching is developed on the basis of which Philosophy ?
(A)  Idealistic Philosophy (B)  Pragmatic Philosophy
(©) Naturalistic Philosophy (D)  Realistic Philosophy

UPT-19/P-11/O
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8. [romq ORI EIREIRT Sulads A i (7w :
I

Freas sz
@)  SCRm (i)
(b) STHINFRM (ii)
© IS SqIFAIM (iii)
(d) IR (iv)
B35 et s Sfevear

[iSaE]

@A) (@)-(v), (b)- (i), (c)-(), (d)- (i)

©  (@)-(v), (b)- (), (c)- (i), (d) - (ii)

®)  (@-() (b)- (i), (c)-(iii), (d)- (iv)
D)  (a)-(ii), (b) - (i), () - (iii), (d) - (iv)

8.  TIr¥idd ©@oNz Y32 It SBIRBTE AW (ST 7S

Frvcaa sgenR
(@) TSI

(b) STHEATSR™

(€ IS IR

(d) DITIRTIM

8% HSAb @RS |

(&) (@)-(w), (b)~(id), (c)-(i), (d)-(iii)
©  (@-(iv), (b)-(0), (c)-(i), (d)-(iii)

TBIIPCAd AW
[SREGIE]
EADIES
MoTo
BT

B)  (@)-(0), (b)-(ii), (c)(ii), (d)-(iv)
D) (@), (b)-(1), ()-(ii), (d)-(iv)

8. TN EIIHR 3R aEt fegTuhRiT @& M/ STem -

N
(Theory of learning)
(@) Connectionism

(b)  Gestalt theory of learning

(c)  Theory of operant conditioning

(d)  Theory of classical conditioning

TSHRET I T 9’
(A (a)-(iv), (b)-(ii), (c)-(i), (d)-(iii)
©  (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii)

UPT-19/P-11/O

fegattwr

(Propounder)
(i) Kohler
(i)  Skinner
(iii) Pavlov

(iv) Thorndike

®)  (@)-(0), (b)-(ii), (c)-(ii), (d)-(iv)
D) (@)-(i), (b)-(), (c)(ii), (d)-(iv)

13
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8.  Toren-wiftq o Ty SR TehT HraTS-ex o1 A fean mn ¥

Torerr-wifia o1 aaagE LI ey
@@ HIER () HRAR
(b) | (iiy =R
(€ FHEHS STTATAR (i)  YEeTE
(d)  SAITHTER (iv) e
s fasheq Exl TR FeRIfeTT
@) (@)-(@v), (b)- (i), (c)- (), (d) - (ii) ®)  (a)- () (b)- (i), (c) - (iii), (d) - (iv)
©  @-@v), (b)- () (o) - (i), (d) - (ii) D) (a)- (i), (b)- (), (c) ~(ii), (d) - (iv)
8. Names of the Learning Theories and their Propounders are given :
Learning Theories Propounders
(@)  Connectionism (i)  Kohler
(b)  Gestalt theory of learning (if)  Skinner
(¢ Theory of operant conditioning (iii)  Pavlov
(d) = Theory of classical conditioning (iv)  Thorndike

Choose the correct match :

)
©

(@) - (iv), (b) - (i), (¢) - (1), (d) - (iii)
(@) (iv), (b) - (i), (¢) - (i), (d) - (iii)

®) (@)= (), (b)- (i), () - (iii), (d) - (iv)
D) ()~ (i), (b) - (), (€) (i), (d) - (iv)

9.  TAGF NAIRCEIT &g® ‘28’ (Id)

)
(B)
©
©)

BT oo SITE ST B 7570 31 (FICAT CISTTIrsy 913 |

IRt oiphon |

< BT (o SIE SN JB <1510 31T QBT (NI (TsIest S |

IBTO! Fifeq 8219w 2AfoPo |

9.  TW(LA YAMREITI O3 38 (Id) ZeT -

)
B)
©
)

UPT-19/P-11/O

AQF I(bod JIRT QIL IWIIF A O (@FIAT SIS (73 |

3 FRodll aFfea |

N9 QP (bod IFT QI IRBIF S ©IF P AOTF (IS SR |

TNfs T TBTOIT 3917 AfePe |

14



9.  TRuSH T fafiEme fafsRiaf Jwriy anfcse ‘Id” o1 wRAR

(A)
(B)
©
(D)

HIY o) T BTei1g ST Hieweisi Stell |rHral 19

SR EHE g

TS i SRt SR Hieheisii forer &Sl Sl o
THrenel Seient | THAEE

9. RIS S FANILATI T | ‘g’ (Id) :

®)
®)
©
)

Teh 3T STerE 371 arerd & 91 SHehl IS THeh T8l ¢ |
RIESRENRFIR]

T o1 Ueh = SToeT 271 IR o 919 SHeh! Ush Joel THeh € |

aTede Hifg W gfaftsd 1

9. In Psychoanalysis theory of Freud, “Id” refers to

(A)
(B)

©
(D)

Unconscious in nature and has no direct contact with reality.
Itis logical in nature.
Itis conscious state of mind and has direct contact with reality.

Itis based on reality principle.

10. ST AT < 3T SnRFI@T it (30%

oA RT AT [CQETL]
@ SIS oo () ST TES
(b) TS STeaT (i) TOl/>TYeT
© Thess ez (i) SRR/ AW
(d) Fhaw sfear (iv) ITFE
% et 1S Sfevear
@A) (@- (@), (b)- (i), (c) - (iii), (d) - (iv) B)  ()- (), (b)- (D), () - (ii), (d) - (ii)
©  (a)- (i), (b)- (iv), (o) - (i), (d) - (ii) D)  (a)- (i), (b) - (ii), (0) - (iv), (d) - (i)

UPT-19/P-11/O

15

P.T.O.



10.

10.

10.

UPT-19/P-11/O

STOATRT ARG QIR BT BATRITNR (MSAT X7 ¢

Sifsaies ae Iz
() (SR Mool () SRS TFS
(b) SIS Srfoh (i) FFSI/ YS!
(0 Tfess sfodmr (i) SRR/ A
d JFfav Sfedr (iv) <FFR
»m N6 o 718 |
@) @-0), (b)-(ii), (c)-(itd), (d)-(iv) ®)  (@-(v), (b)-(0), ()-(id), (d)-(iii)
© (@i, (b)-(v), (©)-(1), (d)-(i) D) (@)-(iid), (b)-(id), (c)-(iv), (d)-()
T SR (motives) T T@HER R IR fafeferg e B Sem -
TR ST AR fafafermr
(Types of motives) (Examples)
(@) SR IE S G st gifa
(Organic motives) (Aim of Life)
(b)  FEISIR TE S (i)  HH
(Social motive) (Honesty)
(©  TER e S (i) TR
(Personal motive) (Food)
(d) TEHEAEE Tel SHH A 6L S (v) R
(Artificial motive) (Award)
o frel Jrere’ -
@) @-0), (b)-(i), ()-(itd), (d)-(iv) ®)  (@-v), (b)-(0), ()-(id), (d)-(iii)
© (@i, (b)-(v), (€)-(1), (d)-(i) D) (@)-(iid), (b)-(id), (c)-(iv), (d)-()

ST T YR TR ST S0 |HE foam 7o &

YT T TR B

@ Sifas sifygm () e o1 A

(b)  EmHIRSTR Sy (ii)  THA/E

(0 SAfeTa sty (i) SARVE™

(d)  Fim sfm (iv) TTERR

IS He l IR fafa :

(A)  (a)-(i), (b)-(ii), (c)-(ii), (d)-(iv) B)  (@)-(iv), (b)-(i), (c)-(i), (d)-(iii)

©  (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii) D) (a)-(ii), (b)-(ii), (c)-(iv), (d)-(i)
16




10.  Types of Motives and their examples are given below :

Types of Motive Examples
(@  Organic motive (@) Aim of Life
(b)  Social motive (i) Honesty
()  Personal motive (iii) Food
(d)  Artificial motive (iv) Award
Find the correct match :

@) @-0) ®)- ) ©- ), -@) B (@-v) b)- ), ©)- () (d)- i)
©  @-(i), 0)-(v), ©-0, -G O (@ Gi), B)- (i), ©)- (v, (@) - )

11.  AfSTH @HER oifeTst S 13RIk Oz« T 20y

AR STF Frierq Siferst Srrzget
@) whooFa () S e @R ga  SiE 6T eaels I Fress
SIS FT
(b) efsoma (i) IS REwe e gia 0o fFate B 273 51T |
© Yo (i) JUT VAR ASTH ST SR o7 qIfeT FleTT FANIT 3 |
d) foarssad (iv) TSI ITSUARSD (FolF QFIEPHR BRI (B FT |
B MeTco! 91t Sferear

&) (@)=(ii), (b) - (iii), (¢) - (i), (d) - (iv) B) (@)= (), (b)- (i), (c) - (i), (d) - (iv)
© (@)= (i), (b)- () () - (), (d) - (ii) (D) (a)- (iti), (b) = (i), (¢) - (i), (d) - (1)

11. ATSTF (e BIfCTPT WL BT SRIRFT (3T X

AfSa s @FICeTs oiferst Sarzget
(@) ShooFa () AR IFoFR WFSH R@ S KFeTold S5 Fresce 7l
IR |
(b) ofesma (i) 2 QW 71T g@ WFSH ©ic [F @0 2o A |
© Frowad (i) = WYY R 5T S QIeTHICera FAT 0T |
d) TSI (iv) P13 ASiealed (Tl [@RIEHYR SR (B8 F47 |
B WAl @R 1S |
@A) (@)-(i), (b)(iii), (c)-(0), (d)-(iv) B)  (@)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
©  (a)-(id), (b)-(i), (c)-(iv), (d)-(ii) D) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)
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11.

11.

11.

THIETRRE! TETfe B A o SR of fafefers smem -

List of Defense mechanisms Examples
@ EEgHTE ()  SATesTE YA w1 wEE S ety 3wl aram
HRIMRE! ™ TAE |
b) fomt gcicema fifdaifrm (i) SUST SIS e A HEE fhehe@t Hist el g |
©  Sifod PREEEE (i) SR AERH HEET SeeAra Maf 3< qHH Sl garer! |
) fomafy dm (iv) T SRT ISTET-o SSARTREBRIT STRg et Fieti= sl |
IR TREAT e arerg’
@) @-(id), (b)-(iid), (c)-(1), (d)-(iv) ®)  @-(), (b)-(i), (c)-(iid), (d)-(iv)
©  @-(d), (b)-(0), (c)-(iv), (d)-(ii) D)  (@)-(iid), (b)-(iv), (c)-(ii), (d)-(i)
GRET I i G ST ST IR S T E
T hIITA Thi Gt SeTeTuT
@ &fagfd ()  olen H fawe SreTen et TR BT SHeh1 fawherd < fag feren =i
IS cirEeil
®) wfamE (i)  AUST foma H AR U o off fRse # Tt el 59 e ¥ |
©  fexsh (iii) ST STEH! AN foTq STeThIet Sl S hadl § |
d) TrrEE (iv) Tomg) TsHfaes ST 1 ST WiE T TSI hAT el € |
(Identification)
IS 0 ol AR FehTerd :
@A) @-(id), (b)-(ii), (c)-(1), (d)-(iv) B) (@), (b)-(id), (c)=(iii), (d)-(iv)
©  @-(), (b)), ()-(iv), (d)-(ii) (D) (@)~(iii), (b)=(iv), (€)=(ii), (d)-(i)
List of Defense mechanisms and their examples are given :
List of Defense mechanisms Examples
(@) Compensation ()  The student who fails in examination blame teachers
for his failure.
(b)  Regression (i)  The student who is weak in English but good in
Cricket.
(© Rationalization (iii)  The old man who always talks about his youth.
(d) Identification (iv) gggrattempts to acquire characteristics of Political

Choose the correct match :
(A)  (a)- (i), (b) - (iii), (c) - (), (d) - (iv) B)  (@- (), (b)- (i), (c) - (iii), (d) - (iv)
©  (@)- (i), (b)- (), (c) - (iv), (d) - (i) D)  (a)- (i), (b) - (iv), (c) - (ii), (d) - (i)

UPT-19/P-11/O
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12.  SoTF (@ECOT SYfAE s MIPEeR ovae B 957 7

o ON

&) I @b gerRte Koty Sfeaeat w11 | B) IFT QB RN eheTs S |

©  Pw @t sTwifsE e | (D) T QB (Fogs I |

12.  f906a @A Sy faE Cifess P oF @ 8 73 7

) I 9B gt T @@ T F | B) fAIrFT OFH TREPTEeTs F |
© fawa @G st ot | D) FIFT GHT o K |

12, TREM e MeH Wit TRfafSE @ (Supervision) UR fafé 77 -
A)  TEfafsRETEn 9m8 TRifeE) figmmgen (B)  TAfafSREeE i ST S g
(€  -TAfafeREET H T gur=i fafeqm= (D) TSGR Hd AR e

12. freAfafEa wF-a1 sy dfes e o1 & Jg & 82
(A)  Ter T yoree w1 AR e % weE |
@)  Tiew U geiarere & |
©  Teor Tk |t e |
D) e T Age % |

12. ©~ Whatis not correct about modern educational Supervision ?
(A) Supervisionis a fault finding activity (B) | Supervisionisa cooperative activity

(©)  Supervision is a social service (D) Supervisionis a leadership activity

13. SIS (SUH5-F No (FCNT SleTq It 5 7
(A) 11323 #[T 18 I (B) 123%IF 7T 18 I
©) 123%I9 #}[{T16 Iz (D) 133239 7I{T 18 I

13. AT (SR NS (ST ST IRt 5 2
(&) 11 3% (AF 18 TF (B) 12T (U 18 T
© 123 (UF 16 TF (D) 13 I (U 18 T

13.  Ernest Jones 1 sfeeet SiHm (Adolescence) T ECEEIRIICIRE
(A) 11 SERHE 18 SER (B) 12 SERIHE 18 SER
© 12 SERA%E 16 SR (D) 13 SERA%E 18 SER
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13.  Ernest]Jones % STaR friRmareen st SrgEian fha-t § ?
(A) 119 ¥ 18 91 (B) 129 ¥ 18 9

© 129 ¥ 16 91 (D) 13 9 9§ 18 91

13.  Whatis the age level of Adolescence according to Ernest Jones ?
(A) 11 years to 18 years (B) 12years to 18 years
(© 12years to 16 years (D) 13 years to 18 years

14.  ©oF @O RFFE stoqamT ¢‘5-E Fied Xl wais yedideg 7

(A) Tife 3T (Engage), SNCgIe FT (Explore), I5145T ST (Explain), *w <<eel 7l (Elaborate),

YeTsII BT (Evaluate)

(B) wifG® ¥4I (Engage), 9w a1 (Enlighten), 2 a7 (Express), [<*m {@aef & (Elaborate),
Y51 4T (Evaluate)

©  3YIT P91 (Explore), 1T KT (Explain), A4 F91 (Express), o319 <1 (Evaluate),
Tii® 24T (Emergent)

(D) ©ifg® 3T (Engage), 37451 91 (Explain), &= $1 (Enlighten), 2% 97 (Express),
S (21T (Emergent)

14. 53 @HGre g soaaitag ¢ 5-E Frse st G 3% weor (AT 2@ ?

(&) Y A1, JEF B0, TS A, TR RELT S, TR S
B) FY¥® w41, g 1, AT T, KeEn K<Ee), @3, FesiaE S
© I AT, T HAT, A FT, JoTsA T, SIS 287

D) T F1, T 1, dFm P41, BT B4, SIS 2827

14. TR d¢ WA SR (Constructivism) f1 “5-E learning model” T IR HewE! fefrerit -
NI IEEIR] (Engage), Wi (Explore), ST (Explain), ﬂaﬁ THRATETAR (Elaborate), HHF

(Evaluate)

(B) TS (Engage),s{ﬁ"'ﬂ GIAHATE (Enlighten), AT (Express), ‘jalﬁ RREITAR (Elaborate),
WW (Evaluate)

(©) HEfg™ (Explore), ST (Explain), RRAEAR™ (Express), WW (Evaluate), SERAAE
(Emergent)

(D)  FieTeH™ (Engage), SIS (Explain), ST SR (Enlighten), BRAFIAT (Express), SRR
(Emergent)
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14. Tr=AfafEd HH-91 fawed Te7arR #1 ' 5-E fren usfa oisa’ &1 15 €9 9 feam €2
(A) A& T (Engage), STH (Explore), A T (Explain), foregd L] (Elaborate), &1 (Evaluate)

(B) =IK & (Engage), TG FTAT (Enlighten), oI ShTAT (Express), fogd 90 (Elaborate), Jeaich
(Evaluate)

(C)  3TY (Explore), SRS ST (Explain), JehTel T (Express), TeHish (Evaluate), Sfad B (Emergent)

(D) =¥% &1 (Engage), ATl il (Explain), 99& AT (Enlighten), Y5RT sh{AT (Express),
3fed B (Emergent)

14.  Which of the following options correctly depicts the “5-E learning model” of constructivism ?
(A)  Engage, Explore, Explain, Elaborate, Evaluate
(B)  Engage, Enlighten, Express, Elaborate, Evaluate
(©)  Explore, Explain, Express, Evaluate, Emergent
(D) Engage, Explain, Enlighten, Express, Emergent

15.  Piaget-3 N(o, (F19 I%3T 71a1 Qf6 FRIT ST eIt s FfceT SN T 7
A) 11999 B) 12373 © 133=F (D) 183=F

15.  PIRIITSIOR (Piaget) NTS F6 I2J INT(ATH WD 13 ST IT 5157 FACo BF I 2
A 13T B) 123F © 1BIF (D) 187w

15.  Piaget 1 Sfeet o1« SERMA%R & GIGAH 6 HGi SR> SR~
(A) 11 9ER (B) 12 99N @ 18 MR (D) 18 9ER

15. Piaget % TIER U oy # forg o & 311w aron o1 faermd 3R 2ran € 2
A) 119 B) 129 © 139« (D) 189 rA

15.  According to Piaget, from which year a child starts to develop self concept ?
(A) 11years (B) 12 years © 13 years (D) 18 years

16. SR (PAEIE Feag dFhe o 72

@) P AfEsT 8oFe [T 737 | (b) PR SIS S SHEife (TSI |
© P O [y dfear 927 | d) P TR oTore SToiTce 973 |

u% Fgco! TS Sferaar :

(A) (<< (a), (b) BT (d) (B) (T (a) SN (b)

© @9 (b) 3= () (D) (T (a) O (d)

21 P.T.O.
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16.

16.

16.

16.

RIS @Ter Frsc d$is @i 2

(@) Frsasifgome OE e S AT (b)  FF SSTNRC (2 FeT (R AT |
(© g @3 S ofer 931 (d) FPFe STOw S0 TooES 93 |
BT GSAb @R AS |

(&) BY(a), (b) 9= (d) B)  BY(a)9IR (b)

© BB 9R() D) B (a) 9 (d)

TR el Sora Wi Amei STggamd e 2

(a) TG S TARRE ATH AR

(b) Wi T T SR S gl

() Tl Sl Wi S S e AT
(d) HrcrerE gifgare oSt siel JE) T

TSt SRR o gREa 9r 9’
(A (a), (b) 3TRI (d) A’ &R ®)  (a) 3T (b) 3T’ R
©  (b)3T () T’ AR D) (a) 3 (d) 3T’ &R

Frfafaa - e Wit s gehfa Jeem ¢ 2

()  Toem-wift afguiar o MR 72 Sgan (b)  TreT-TG G STTHHTES ol UieHTR el ohidl |
© Toren-wf T ey quf ufspan @i €1 (d)  Tonem-wnftd st @iea % @ gfha e 7
5 forehed sl et Feprfere

(A) e (a), (b) 3R (d) (B)  hoct (a) TR (b)

©  ad (b) 3R (c) (D) e (a) 3 (d)

Which of the following indicates nature of learning ?

(@) Learning is not based on maturation. (b)  Learning does not promotes maladjustment.
()  Learning is not a passive process. (d) Learning is notrelated to goals.

Choose the correct option :

(A) (a), (b)and (d) only (B) (a)and (b) only

(© (b)and(c)only (D) (a)and (d) only
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17.

17.

17.

17.

17.

SRS YeTs Wit 27

(A) TSR Fremas e Frfwse! 59T 317 |

(B) FreT SBHCE STFen 37 el T |

© e AW IR Bra-Zals Wi el 91 /7wt |

(D) PreRT TGS STireTss 87 Yonsiaq Fa7 |

STHTEST® JeTsRIA 2o

A)  @fOFes M S Ffrwe! fFoT 47

(B) FrFERET AT STIFCETF S [Ff 47|

© fAYEE SIoRIAd S Rf@-Riald N e F7 |

(D) FreREa SWIfEs STRFETE 87 Yelss 47 |

Summative FHFET ST&T -

(A)  UTE GUMETE BRI THE AEaGARE! S

(B) TGS SR SIFESHRTEA! STHHRAR el |EE A
©  FETIAH T BRI STREr wREThR A AE! s e

(D) Tl SERM STefeRe STHaRAR e e Gl ST

Summative Evaluation ® :

(A)
(B)
©
D)

oft haft 1 T1eT YeM % Ha | wreicerd 1 ol e
Toreqn ol A1 IRES H FoReraT oh1 WX R AT |
Tt 8T AT BTH-BTA1 I 7 0 KT |
Toregr = <1 Tt H HRerdl o1 WX HoATRA Tl |

Summative Evaluation implies :

(A)
(B)
©
D)

Judging the performance during classroom teaching.
Identifying level of achievement at the time of starting of the academic year.
Judging the students for remedial teaching.

Evaluating the level of achievement at the end of academic session.

UPT-19/P-11/O
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18. TR (FIFEIE Tl fomeld (@rea Sowie ?
(a)  FF AT
(b) B STECATS 1< BB
(0 Preeg selaga
(d) sheorfss fas Afasa
(€  TRnl W S
By [Kog b Sersqr :
(A) (@), (b),(c)(d)(e) (B) (a)(c)(d) ©  (b),(d) (e D)

18. 067 (FIBTET Tmisis fome! (@116 I wFeld ST 7
@) T AT
(b)  TBTCH= STLTAMST €L HeTTbel
(© Treea sifeffy
d) R feR sfaaes
€  STIRHI W RS
BT 53d @R AIS |

@) @ ®)©) @@ @B () ©~ (b),(d)(e) D)

18. MBI dd STEIHN Stimulus variation 1 TGTHTHR -
(@ T BSINIEEIR) (Voice modulation)
(b)  FIHSI A AR RIHAR SR A== (Eye contact and movement)
(©  ®RIFTRM RCA™ (Teachers movement)
(d)  TISATIATIAT S HA=A= (Change in interaction style)
(€ =TI oSl |eT@ T (Switching sensory channels)

JR R ga’ -

A) (@ (b)) @) B ()@ (d © (b),@)(e) D)
18. fr=fafad sH-n € femar SR =1 € 2

@@ TRUET

(b) ¥ 1 FAN AR fa-fafy

© Toespi w1 =a-aed

(d) IRERE fshan @1 aRads

€  Tol HreAy w1 yfedA

s fashed =1 ?\[ﬁ'q :

(A) (@), (b), (), (d),(e) (B) (a) (o) (d) ©  (b),(d)(e) D)

UPT-19/P-11/O 24

@), (b), (), (e)

@), (0).(©)(e)

(@), (b), (c), (e)

(@), (b), (c), (e)



18.  Which of the following are components of the skill of stimulus variation ?

(@)
(b)
©
(d)
©

Voice modulation

Eye contact and movement
Teacher’s movement
Change in interaction styles

Switching sensory channel

Choose the correct option:

(A)

(@), (b), (0), (d), (&) (B)  (a)(c)(d) ©  ®) @), () (D)

(@), (b), (c), (e)

19. s e fepnz Sie 219 (@RFEenE i ey

Frag ke fernz [SIREANIE]
(@) ORI T () FrowesieenE|
(b)  STeSBIAI BT (i) PRI CATS I ATE |
(© SEPS [eer (i)~ PI3TE ST H7ed FF |
d) =T e (iv) PRSI SAICEBAS ©is 517 91T |
B, et 71fs et
(A)  (a)- (i), (b) - (iv), (c) - (iii), (d) - (ii) (B) (a)- (iv), (b) - (iii), () = (), (d)- (i)
©  @-(v), (b)- (), () - (i), (d) - (ii) D) (@)= (@), (b)- (i), (c) - (iv), (d) - (i)

19. o7 RS0 MEBTE W3e ©F @R ETSET (e 36T :

Froz Rererr et (SRR GI]
@) o () P13 o e AR
(b) SIS [T (i) 33150 “E
© RPN e (i) PR3 AW S I
d s T (iv) 13 SICTIBAR T fH0s M1t
B& SSAb (@R (@9 I :
@A) (@)-(0), (b)-(iv), (c)-(ii), (d)-(ii) B)  (@)-(v), (b)-(iii), ()-(1), (d)-(ii)
©  @-(v), (b)-(0), (c)-(ii), (d)-(ii) D) (@-(0), (b)~(id), ()- (iv), (d)-(ii)
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25

P.T.O.



19. T ETRRMA SREiATE A6 o7 o ArgUEhRE! M Se) -
T MR ARTTTE (SRR TGLATTRIT

(@ Y& SEEE G) T g Eity wiE e

(b) S EHEE ST (i) T T AT SR

© T e S (iii) T G MSIAEGT 6 g

d) <EEIR SEREEE (iv) T "HI WEREARE SRE A g
M@ R TREaEE! 9o’ -

&) (@), (b)-(iv), (c)-(iii), (d)-(ii) B)  (@)-(iv), (b)-(i), (c)-(i), (d)-(ii)
©  (@-(iv)(b)-(i), (c)-(i), (d)-(ii) O)  (@)-(@), (b)-(ii), (c)-(iv), (d)-(ii)

19. oy fomm 1 Tee) w9E SR swen Aftre wE foom o 51

forey faenmar & wead Afyree wg
(@) oo o foeRE G)  TorS uo R weRa B
(b) ST fawE (i) o) IS 9w B |
©  STafTe foshm (iii) oY ST AFvE FA T
d IR fomm (v) T e ® SRS AHRA T |
IS T hl IR fAfEd
@) @-(), (b)-(v), ()(iii), (d)-(ii) B)  (@)-(v), (b)-(iii), (c)-(1), (d)-(ii)
© @), (B0, (-G, (d)-() ©) (@), (0, (9-(v), (-G
19.  Aspects of Development of a child and characteristics are given as :
Aspects of Development of a child Characteristics
(a) Language Development (1) The child ask questions
(b)  Cognitive Development (ii)  The child is able to walk
() Emotional Development (iif)  The child feels happy
(d)  Physical Development (iv)  The child takes part in discussion

Find the correct match :
A)  (@- @), (b)-(iv), (c) - (iid), (d) - (i) B)  (@)-(iv), (b)- (i), (c) - (i), (d) - (i)
©  (@-(v),(b)- (), (c) - (iid), (d) - (i) D)  (@)- (), (b)- (i), (c) - (iv), (d) - (i)

20. IR Siegs e ovas Fefals @ ssiega sigers ot T 2

(A)  STEEEIS! (B)  SISIHIEFS! © oSl (D) SIS AT

20. I TRerer Bfea oFa s @ Tieg Terse orar T 2
A) SEEFS! (B)  WMSEEFS! Q) srsriee! D) QFEITG A

UPT-19/P-11/O 26




20. TEHIM 99 WG HHISSI WHT T (Extrovert person) W™ e &R SRgemss! HA -
A) Mer@ie’ i Qe (Self Centredness)
(B) @1 T Qe (Society Centredness)

(C)  fSITg (Shyness)
(D) BRAAS MM (Aloofness)

20. et SAfada & =afda & & § f=fataa wF @t sfadma afaga 9 s § 2

(A)  STTCH Shigehdl (B)  HHISI hf-gehdl © g (D) TN
20.  Which of the following personality traits is found in an extrovert person ?

(A)  Self centredness (B)  Society centredness

(©  Shyness (D)  Aloofness

21. B Raeot it Sferaat
(A)  OTH S JaeroE TRe T ST =3 |
B)  OSH B B T JiweToT 757 |
© 9SH Jfaorsia T5he BTer 92’38 #iiea, 68 o e i Jiaprom 233 |

(D)  9SH Bhed Jia SN BT WSS (@I T4 12 |

21. WH OGSl @I :

(A)  GFSH T Jareid Bhe Tl oA 27|

(B) UIFSH B e FuT FasT=a1a 27 7

© 9FSH Jaraa e T 71 2roB #MEH, B8 GFs »fEfle ffe FiaoraT 2E@a3 |
D) GFSH BT I UL BT N @A 94 (72 |

21. TR MRS GHiEe! oG’ ?
(A) T FEIRI IS Sieadel! QRIS Sl |
(B) W GRS ST Siectdal |1 ST |
© I UIRI YIS GRMSGe el Sl SR 12 9 SRS It SRl S |
(D) T g =1 gHEmE TR SR SRISe eI ToRTe Sie | 147 |

21. Y foereq =l et femfera
(A) Th IH g T Al s gieshe 2 g1
(B) T gftewia =fa gien gfgeia =& e 7
© TH Jfg Tv= Al giteeha T8l o7 Tohdl © foheq Tk Ylewia safaq gfg Tv= 2 & |
(D) T A Ht g 3R THICHRT % S HIE TS el ¢ |
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21.  Find the correct option:

(A)  Ahighly intelligent person is always creative.

(B)  Acreative person is not always intelligent.

(©  Anintelligent person may not be creative but a creative person should always be intelligent.

(D)  Thereis no relation between intelligence and creativity of a person.
22. 15 ifoq FResTeeTa Wiste Sgo! afs Fere] FaceT Qo e :

(@) T ACFAT ST TS RIRD 2 WA TS FIRF ATCH |

(b) EIRG/FBTETHI G TR FIR AN |

(©  frrew Frsd sToyfars Tamie o SAfUS S0 3 st |

d) few afes|fE sie K1 Seioe i e |

B [RFF! M Sferaat :

@) @O™F B (@b © =9 (b) D)  (b), ()™= (d)
22.  FReifica FEwE N5 ago! Aahs Feras] 00 2@ GFSH FIHd

(@) FTATTT B [THAESH @xp 35! A (TS FA00 T |

(b) GWIRIG/FRTA G TR A0 27 |

© fIren Frefiy STH&ee B9 W32 RS S0 =7 |

(d) fFew dfsfaar gae 1S St fes 1

T g @A 2

@ @OREQ B (a)9Re (b) © @) ) (O (9 (d)
22, AR TRIE S T SR TSR {9 g afe wRiAES e e 9w -

UPT-19/P-11/O

@) TR BfeSTE WeHATST THMT fSER T M@ g His g |

(b) THISE! T HI SAREA |

(© & fomi SR ST ST SR Sifee @i g |

d) T faeif feedback EHIT TR G SEA EHI |

TSHTRET AT R TREeE! w1 fog -

@) @ OF@ B (2 (D) ©  (b) ¥ R D)  (b), () ¥ (d)
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22, it geae g o off9 same ugfa s arheamived s & fore wes fees

(@) TR Y& Tel AT AMET Fifeh 39 THIAN ] AT HY Fehell © |

(b) AT AIE T HATR AT TG |

(©  Treran foegor o6 wrmft SeRR SR et o S =fen |

d) FreIam weasw IR Taifed Ut T =ifeu |

5 fashed =l e fafam :

@) @O B (@D © e (b) O (b),(0) ¥R (d)
22.  To make Lecture method effective among the slow learners, a teacher :

(@)  Should not use Voice Modulation as it distract their attention.

(b)  Should use Blackboard sufficiently.

(€ Should use minimum teaching aids and maximum talk.

(d)  Should provide less feedback and more advice.

Find the correct option :

(&) (a),(b)and (c) (B)  (a)and (b) ©  (b)only D)  (b),(c)and (d)
23. ©Te Rl @INEIF At SFEeg B[RS AICATS 569 foogwe @ 7

() SO (b) O © omeR (d) Pfo

(€  SCet 0 SRS @ TRE (b Sfcse

B G0 IS Sferaat

@A) (@) (), (0), (h) B)  (a), (b),(H(8) @ (b)) (D).(8) ©O)  (9),(d), (e), (h)
23. 906 (ST (FIFSCE FATHTST SF AL R ST *TCHF NS AT 7

(@) Sel (b) S © DR @ ol

(€ e ® Rl (@  AnfemEe h) wfswer

Bm 5Bdlb @R ATS |

@A) (@) (), (), (h) ®)  (a), (b), (). () © (b)) () (g) O) (9, (d), (e), (h)
23. TR 99 JAHRT M T SRHEf fafrem s -

UPT-19/P-11/O

(@) TR (Intensity) (b)  H (Size) () I A (Interest)
(d) T (Instinct) (€) TS (Emotion) () AR (Situation)
() STeREFE (Review) (h)  JHFTE (Experience)

IR fRmE e’ -

@) @), (@), ), (b ®)  (a) (b)) (8 © (), ®) @ D) (©),(d) (e) (h)
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23. To=fafEd -9 990 SRl s i |Iuel IId & &g § ?

(@) o (b) TR © e (@
(¢ e () st (® TN (h) s
IS ST ol A feafaam :
@) (@ () 6, (M) ®) (@), (). () © (b)) @) () D) (©) () (e) (h)
23.  Which of the following are included in the subjective condition of attention ?
(a) Intensity (b)  Size (©) Interest (d) Instinct
()  Emotion ® Situation () Review (h)  Experience
Choose the correct option :
@) (@) 6, (M) B) (), (®).(®) (g © (b)) @) () D) (©) () () (h)
24. PR TS ST QT TomiT &7
(A)  SIlocared B) SR ©  mEE D) MR
24, PrEIE QLG FEE Q6 ST 6T
(A) g (B) ORRWN © NI (D) Slgxr
24, EiClEE! S T WY SR Se -
(A) Tl SEIRE™ (Motivation) (B) 3TEFR (Egoistic Feeling)
(©) T (Attention) (D) 0¥ S (Interest)
24. g o1 ST el Ueh B © ¢
(A)  Wom (B) SER AN () =M O) ¥
24.  One of the factors which Obstruct learning is :
(A) Motivation (B) Egoistic feeling (©)  Attention (D) Interest

25. ©oTe @FC0T IR Frees RSfagts Tafes cvas &% 7

(A)  TA-FAIT ANFTSIE TLTSZ FCIIT S T T KNI 7T T |
(B) RIS FrrdeE @y hew o gra-graiee ST |
© Free andis STIIs TSR o486 Fi ST K8 Sorgred 37 |

(D) Preds FEHER 4T SIRACS IR |

UPT-19/P-11/0O 30




25. fpa @ w3t Frecis RSfe{he Tafod ovia um ¢

(A)
(B)
©
D)

% a—miﬁcw S Ted BIRMART FIICAT QIR SIS SIS CHa STIRIAY 4T

wfses Prss @ TfeT W32 ga-grarar S
Fres Q@-2AeE ST & 986 I AT KRE SARTF FEA |

PRFT IR AFIT VLS FATAT =T |

25. TEEM o H99AT Heuristic method of teaching 7 &R FHR -

(A)
(B)
©
D)

FEETHIE] FTS QT e SR forRi S sSeiraEre swhrie g
AT WS HRINRET AT Fioi TR FEHRR i 7T

TRIFTRET R ST wiaehRE! FRETRR frmeTa fefemm

R HIHERE! HHY 17d faenifast aeg-m

25. frfafed sm-dt st feo o1 egfifes (Heuristic) Tsfa w1 83§ g5 72

(A)
(B)
©
D)

BE-BENU ol Gfshd ®9 Y UL FHLAT I FHE GHIEH @IS H G2l S |
it el § 3181 1 21Tk Tfsha SR o190 =i fAfeng e
forereh I S-S % THE H 98l H TR hich M1 fouFeq ohl ST AT |

TR1eTo1 A1 hRd WHE Uehed o BRI AT ST © 1

25.  Which of the following statement is correct regarding Heuristic method of teaching ?

(A)
(B)
©
D)

Engage the students actively and help them to get solution of a problem.
In classroom, the teacher is more active and students are passive.
Teacher presents pre-prepared materials in front of students.

Teaching activities are conducted with a project.

26. QG FRFT H9 AP SRR T4 Bel (FFRIT Shs 7 7

@) RERE T A6 A S ST P SRR 75 g6 55(15s S |

(b) SRERE T P SRS SET |

© REEIT SIS S NP SRR SIS |

(d) SRR = SRR 5T (ofb |

B Regcsr 16 Sferear :

&) ()™= (b) (B) ()31 (d) ©  (O¥=() D)  (a) == (b)
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26.

26.

26.

26.

QPG TSP MRS U7L BIRYRS 5910 [Hba (¢ Sheafer 87 2

() SRIBRT 2 TATpleT HRHG SRET 9T BRIRS ToT T ghod TL55e SRET |

(b) RSB T 58 SRYFesET S|

(€ RSB st 68 ©RRSB el S |

(d) RSB = IR RS 5o fofa |
NERUCHIE G
@A) (0) 9 (b) (B) () 93 (d) ©  (©49R(d) D) () 9= (b)

G g 39T (Emotion) 3TRI THISTE T (Sentiment) 1 G TR s SRR 9R -
()  SATETHR WA AT Hel ST MEISTE A== e qr<iff e 7st

(b)  STTETHRT SRFT ST THISTE A= < )

(€  STERThRI IRFTSTHE SR IS A& S

(d)  SATETHR e TAEE e faen

IR fRTE g’ -

() (c) ¥ (b) B)  (a) ST (d) © (0¥ (d) D). ()T (b)

et weh =afeaa =1 St SR reya gesh o et s sfa 35 €2

@) e wEg STfd i ST Eifd sTemen 3R wrayen 7 STgyfd o Hfad srawer |

(b)  STET YT TR TR JreHeor STERE |

©  STET gug A SR WEyeT ST ¢ |

(d) TS HYE AT T G ER |

s faehed &1 g fafae :

@A) (03 (b) B) (a)FR(d) © (©3IM(d) D) (a) R (b)

Which of the following are correct statement about Emotion and Sentiment of a person ?

(@) Emotions are uncontrolled form of feelings and Sentiments are organized form of feelings.
(b)  Emotions are permanent but Sentiments are temporary.

(0 Emotions are acquired but Sentiments are inborn.

(d) Emotions are the main base of Sentiments.

Choose the correct option :

() (©and (b) ®)  (a)and (d) © (©and(d) (D) (a)and (b)
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27.

27.

27.

27.

27.

NPT T S WA T Rosawcet Tl G JRSE@ET (0T 37 ?

(A)  WHRE TG (Z07 TS S99 T 1 NHTF SRS NaE FgHeet S F0F |

(B) WAL FHRSIA HRAS WARE FE 1 AT |

©) WHRRs FFRSIE NHRE Frgo Aol (el |

(D) WP FE P NARIE TR 2001 PICGIR 7576 =TS |

THFTE FES 938 WS TR 791t awt fAesa gRs et @+ o 2

(A) VAR FES o7 NI FIF AW G2 TR FIRISEF FARE FIET S5 IS (A |

(B) WA FSEIF QOIS N FES (o7tw 1|

© WA FESSeE NIRRT I Ae) (e |

(D)  WARRS FES UL WFRTE FFSISIT T SRR o7 S9N |

TR |afE 2T M6 gt faREmEt e st a9 918 SRR 4R 7T -

(A) TSR FEfEE SRl srsiial TReH! g AR T IREE ek SatEt o | we)i
B) T wrEfE fafEmtT s MEeTi "rafE /- er |

© i wrate fafEmen e arefaft awere Me SR |

(D) TR wrafe AR M gt fafirem S dEea geEdst e 16 |

T e SR A W@ees fag @i e QU e Ffamei H & SF 91 3WE © 7

(A) AHEE TR § THESH i 61 qHed R Ao W@ foam 3 Ao @reed i oieh S
g

(B) MG T fagm & form wmfas e foe g €1
© s e foeH % R AMids Weed § 4oe ged €
(D) HHf e iR AHTAE e faam Teh-gurl & |1e gefhd g |

Which of the following statements is incorrect regarding mental health and mental hygiene ?

(A)  Mental health is ability to adjust and mental hygiene is science to deal with mental health.
(B) Mental health can be attained without mental hygiene.

(©  Mental hygiene affects mental health.

(D) Mental health and mental hygiene are related to each other.

UPT-19/P-11/O

33 P.T.O.




28.

28.

28.

28.

UPT-19/P-11/O

oeT® TR (PRI SFFFRFIR (Fao Aoy ?

(@ TS AT ANFIOT AETS Sl FI7 727 |
(b) AT ARS8 ow T 727 |

© 3w @ Fred targ O Sifbet I |

d) PrEeR @R OB OB ST FET 75T |
@ 3T StIadin e 3oiTe Afede |

B [Keg 16 Sfersar :

@) @ ©@3=Fd) B () (D)(e) © ), (=) D)

6 ST (B SYFFFEF (F@ Ty ?

(@) W AFS CITIFCFA IRE@eT ST ST AT

(b) AT AfSfFTr ow S =T 7T

© 4@ @ST @F @ Frwe 367 6 Siiber FIfs |

d) P @TerTR 9T 9F0T FE S Ied ST AT |

@ 9t P TR ered 8w Afsde |

T 755 @HG ?

A) @, @49k B (D9 (O (b)(0)(d)IR(e) (D)

MMM & 9= micro teaching T AT 3A1E -

(@) @ IR UG W YRR TRE WA Sl

(b) et AeftRemEf fETe! S S

©  RATEET HE S T e Tel g5 S

d) TTETR HRIAE STeaE! ST A Sl

() &l behaviouristic theory of learning 4 HraTel faien @re =

IR frTel v’ -

@A) @©@QMWd B ()DINE O (b)) (d)(E) (D)

frefafad sF-a1 sifem & S H w © 2

() SHH Yhd AT e 1 AR H TR Tl fohan S g |

(b)  IUICeIg ThiSss &M =&l foha ST 21

© I o e § fae w wied w7

d) Toreror 1 Hreret wE TH-Ee @l foRan T ¥

© e fren wifid i1 STRUEN dil W menfid ¥

5 forhed =i g fafa -

@) @ @I B ©E@dIMe  (© (b)) (D)IAR(E) D)
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(@), () 932 (e)

(a), (c) 3T (e)

(@), (c) A (e)



28.  Which of the following are correct about micro teaching technique ?
(@) Itisnot practised in real classroom situation.
(b)  Systematic feedback is not provided.
()  Itassumes that teaching is a complex activity.
(d) Individual teaching skills are not practised.
(e)  Itis based on the behaviouristic theory of learning.

Choose the correct option :

® @ @andd B (@ @andE (© )@, dand@E ©) () (©and(e)

29. P Fead (F@o® ©o] (FIFEIT TSR 01360 B3P @6 ?

(a) T NI TR FAT (b) Frericey eFen e S @R |

© Fredy s Xifw g afes|f | d) FredT R IE (©ETETIFS ST FT |
O Seaco! J1fS Sferaar

(A) e (a), (b) 31 (c) (B) (7T (b) AT ()

©  &<¢(a), (b) 3T (d) (D) ... @457 (b), () 3= (d)

29. Fr$d FEFIF CFa [HIbT (F1F (ATTSTET SIS B2 (@I ?

@ I IF T BRI AT by Frerione =it FreE sewemE &7 st
© Predfiy SeEa 3R dfsfe @maest @ Fres gree S SItd (¥ e
8% OB @R ANS |

A)  BY(a), (b) 9 () (B)  BY(b) 9 ()

© B (a), (b) 9 (d) D) B (b), ()9 (d)

29. TEEM 9 HFEAT Motivation in the teaching-learning situation T S&ifeH @1 ?
@) ©Fe T 9TSl BFE |
(b) S SifEhRE! o e dEE |
(€ U GO AS TR € e |
d) wEE TR e fadrt gt e |

TSITE! 7T 9R Rl 9’
(A)  (a), (b) 3T (c) 3T’ &R B)  (b)3T(c) 3T’ 4R
©  (a), (b) I (d) A’ =R D)  (b), (c) ¥ (d) 3T’ IR
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29, ‘foreror-foren-wifiq’ & &= § freAfafad wm-a1 SR w1 god Aewagu! S € 2
(@ TRREsTE
(b)  Trameff o gr0 @e 1 eerm T O
()  Toremefl =it TAINTaT il Iuge AR LA |
(d) Toeneff =6t & o 9fd 57 @l Sl =R w1

TE S| B g :
(A) e (a), (b) 3T (c) (B) Ha (b) I (c)
© e (a), (b) 3T (d) (D) e (b), () 3T (d)
29.  Which of the following are the most important techniques of motivation in the teaching-learning
situations ?
(a)  Frequentuse of punishment (b)  Setting of goals by the students
(©)  Proper feedback of student’s response (d)  Blame the students for their fault
Find the correct answer :
(A)  (a),(b)and (c) only (B) (b)and (c)only
(© (a),(b)and (d) only (D)  (b),(c)and (d) only

30. Shogl AFIR OifcTd ST GRS SBITITIe T 0T (307 :

e AT Sifert ST
() S o IR () O
(b) Sifes, taRes siie i~ (i) P EFTS
(© OIS Ihoyers, ARERYeTs SN SHE i oyers (i) TSI
d) e, TSR, JEFE oe Ko (iv)  T/I8
B et TS Sferaar

@) (@)- (), (b)- (i), () - (i), (d) - (iv) ®)  (a)-(iii), (b)- (i), (c) - (ii), (d) - (iv)
©  (@-(iv), (b)- (i), (c) - (i), (d) - (i) ©)  (@)-(iv), (b)- (iii), (c) - (ii), (d) - (i)

30. JBRFGT AF [T olfaFT U2 BIid SIRIME N (R3TT T |

e AFaTema Siferst SBIITd AW
() SBYA QI ARG () TR
(b) ©ifgs, J(Fhes Qe e (i) TESC
(0 N gfoyers, ARahoyers Qe &og dfoyerd (i) TR
d) TR, TR, oBFR €L [AFhoarm (iv) I
87 &b @RS |
(A (@)-(i), (b)-(ii), (c)-(ii), (d)-(iv) B)  (a)-(iii), (b)-(i), (c)-(i), (d)-(iv)
©  (@)-(iv), (b)-(iii), (c)-(i), (d)-(ii) O)  (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

UPT-19/P-11/0O 36




30.

30.

30.

Personality types 3R fore gfafiiitert H@! MREE B Sa -

Personality types Name of Propounders
(@) Introvertand Extrovert @) Kretschmer
(b)  Theoretical, Economic and Aesthetic (i)  Freud
(©)  Oralerotic, Anal and Genital (iii) Spranger

(d)  Pyknic, Asthenic, Athletic and Dysplastic ~ (iv) Jung

TR 9R TReEE g’

(A) (@), (b)-(ii), (c)-(ii), (d)-(iv) B)  (@)-(ii), (b)-(), (c)-(id), (d)-(iv)
©  (@-(iv), (b)-(i), (c)-(1), (d)-(ii) D)  (@)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

Hfericdl TR 1 G TR ST TraTs=eX 1 A fen T &

SfeRTed TehTT St Tt TIUTSST T A0
() SFHEl SR sfeqa i) R
(b)  difeeh, st IR Sedyao (i) W
(c) ~ HifEes Aeereh, TRRfaHes SR 3T e (iii)  BITR
(d) TG, S, g iR fagkdwE ) IF
Y6 Tl ohl IR fafan
&) (@-(), (b)-(ii), (c)-(iii), (d)-(iv) (B)  (a)(iii), (b)-(1), (¢)-(i1), (d)-(iv)
©  (@-(iv), (b)-(iii), (c)-(1), (d)-(ii) D)  (@)-(iv), (b)-(iid), (c)-(ii), (d)-(1)

List of Personality types and their Propounders are given below :

Personality types Name of Propounders
(@) Introvertand Extrovert @) Kretschmer
(b)  Theoretical, Economic and Aesthetic (i) Freud
(©)  Oralerotic, Anal and Genital (ifi) Spranger

(d)  Pyknic, Asthenic, Athletic and Dysplastic ~ (iv) Jung

Choose the correct match:

A (a)- (@), (b)- (i), (c) - (iii), (d) - (iv) B)  (a)-(iii), (b) - (i), (c) - (ii), (d) - (iv)
©  (a)-(iv), (b) - (iii), (c) - (1), (d) - (i) D)  (a)-(iv), (b) - (i), (c) - (ii), (d) - (i)
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PART - II : Mathematics & Science
(Candidate has to attempt Part - II or Part - III)

[ Candidate has to attempt Part-II or Part-III which they have
given in their Application Form and recorded in the OMR
Answer-Sheet |

31. 17abc, 34ab?, 51a2b -F FTHIIT TP T :

(A) 17abc (B) 17ab © 17ac (D) 17a%b%c

31. 17abc, 34ab?, 51a2b UF YFT ST 3T :

(A)  17abc (B) 17ab © 17ac (D) 17a’%b’c

31.  17abc, 34ab?, 51a2b 1 7t fegafifan srm -

(A) 17abc (B) 17ab © 17ac (D)  17a?b%c

31.  17abc, 34ab? 51a2b 1 WH 31999 € :

(A) 17abc (B) 17ab © 17ac (D) 17a%b%c

31. Common factor of 17abc, 34ab?, 51a2b is :

(A)  17abc (B) 17ab © 17ac (D) 17a%b2c

SPACE FOR ROUGH WORK
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32, 0T STRAT, ST UF GOl SATELF T 20% NI 50% &7 | ST {OIF TS 2T
(A) 2:5 B) 3:5 Q 4:5 O) 6:7

32, T30 T 5 GHH TOR FLAF (AF TA@ 20% UL 50% @I | S T 72167 SATS A
(A) 2:5 B) 3:5 Q 4:5 O) 6:7

32. A sif-smmmEn oA 9ed amfy sifrfgs wifd 20% TR 50% IR SRise Stf-<m1 HiAf &9 S
S| ]i|'_‘| :
(A) 2:5 B) 3:5 Q 4:5 O) 6:7

32. 3TR T WA, 3T U TG WA o hH A 20% 31X 50% ST S| a1 ST A3t =l ST 2
(A) 2:5 B) 3:5 Q 4:5 D) 6:7

32.  Twonumbers are respectively 20% and 50% more than a third number. The ratio of the two numbers is :
A 2:5 B) 3:5 <© 4:5 O 6:7

33. QB @516 25 5131, 10 735 1< 5 23%F ar 1: 2 : 3 JTes IR | T @916 §o 30 5F! 3MCE, (6@ @956
Reie 5 #12wiT yar Sz ?
(A) 50 B) 100 © 150 (D) 200

33.  GFH BICST 25 2R, 10 2RI G 5 57T [ SgTe 1:2:3 | Tt Ivsifbre @it 30 Tt A, O @
Hisiore Foafet 5 ST Jat Sy 2
(A) 50 (B) 100 © 150 D) 200

33. Y FAEE 25 T, 10 HE1 SR 5 HEr e e Wi 1 : 2 3% SEEE © | S w1 30 1 g
3TeE1 TATE 5 et e e S € 2
(A) 50 (B) 100 © 150 (D) 200

33.  UHSMH, 25 U, 10 T SR 5 T HI I HT UM 1:2:3 T 1 AR H F&T1 T30 T, 79 S H 5 T ot fopat
g Bl 2
(A) 50 (B) 100 © 150 (D) 200

33. In a bag, there are coins of 25p, 10p and 5p in the ratio 1 : 2 : 3. If there is ¥ 30 in all, how many

5p coins are there ?
A) 50 (B) 100 © 150 (D) 200

UPT-19/P-11/O
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34. IM32=2X ¥, X -INFTXT:
A 1 B) 2 © 16 D) 5

34. IM32=2X 3¥; ©F X -9J N7 F© (I ?

@ 1 B 2 © 16 D) 5
34.  §Ifq 32=2X S steen X T /AT ST ¢

@ 1 B 2 © 16 O 5
34. Afg32=2X%, X UHE BT :

@ 1 ®) 2 © 16 D) 5

34. Thevalue of X, if 32 = 2X, will be :
@ 1 ® 2 © 16 O 5

35. Mt 4051 I8 N@2yews, 5051 I¥T TS ST 2, (008 o116 AT (ETIFbAT ol 27 :

(A) ~ 25% (oTIRBI (B)  20% (STFHA Q) 25% &ile D) 20% &Tie

35. AT 400T TSN [R@gets, 5007 RSHER @y ena STHIF 2, O 116 T (TR o7 F6 201 7

(A)  25% T (B)  20% TAIAI © 25%7Te D) 20% =TTe

35.  Sfc M 40 SUGH HEME SHTSl, T 50 GGG ST S-Sl S S, STacll JeAwhl STRI @el S
SR S |

(A)  25% @l B) 20% Tl ©  25% e (D)  20% AT

35.  Afq 40 IwgaTi o1 fosnt Hed, 50 A%l o o9 Yo o HHM &, T8 1Y AT 9 1 Ffasr enm

(A)  25% THEAE (B)  20% THAM © 25% @Y (D) 20% &MY

35.  If the selling price of 40 articles is equal to cost price of 50 articles, the loss or gain percentage is :

(A)  25% loss (B) 20% loss © 25% gain (D) 20% gain

SPACE FOR ROUGH WORK
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36. M QOIeT JeT@F K9 A(1, 2) 1= B(6, 2) 3, (o0 AB (F41Tle :

(A) S eNE @ TFTFIT y =2 B) SoF @A TFINFIA y =2

© S eNE @ TF STHFIT 1 = 6 (D) TR @A IR TFIT 1 =6
36. Tt QB FaAHF g A(1, 2) 932 B(6, 2) =, B AB @215

(A) TR NE @ AR TFId y =2 B) TE® @A TF IV y =2

© ITeiE @ IR NFATx =6 (D) TFF @A INFIT =6
36. G e giE fa=1eT A(1, 2) 3TRI B(6, 2) ST 376l AB TGS SFIH |

(A) TG, Sf e =2 (B) IR @I 9f TRy =2

©) I BIE A TR v =6 (D) IR Bl 9 THFRT v =6
36. afc ws diel @ &1 fag A1, 2) 3R B(6, 2) €, 99 AB @1 BT ¢

@A) &fas T fomes TR § =2 (B) AR Y@ g g € y =2

©  &fas T foms g § x=6 (D) iR @ e Tfam g1 =6
36.  If points of straight line are A(1, 2) and B(6, 2), then the line AB s :

(A) Horizontal line with equationy=2  (B)  Vertical line with equation y =2

(©) = Horizontal line with equationx=6 (D)  Vertical line with equation x =6
37. ©OF MATHEOR foede @Ho! 3 @ ey 2

(A) 23879 (B) 23175 © 11722 (D) 77251
37.  SIba TS N @40 3 oy ore: 2

(A) 23879 (B) 23175 © 11722 (D) 77251
37.  TERETE S SAFHIGRA TS o HFHAT1 3 S TSI ?

(A) 23879 (B) 23175 © 11722 (D) 77251
37. Tr=fafea densti § § #F-w1 3 gr favwss 2m 2

(A) 23879 (B) 23175 © 11722 (D) 77251
37.  Which of the following numbers is divisible by 3 ?

(A) 23879 (B) 23175 © 11722 (D) 77251

SPACE FOR ROUGH WORK
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38. A% QDT peiF TP M S Sho! 13T I 27, T8 HOIoR SRl [FaF 2°3 7

(A) 192 IR (B) @ A © Td (D) Tl
38. M I BIFTSIER (cylinder) TSP (73 UL TTHo! R T4 2, B PITSRTI 4eeH (surface)

THATE PO R 7

(A 19FH@EANE (B) U2 AIFE © Tagd (D) fora3e
38.  TMY TG @ Wed SEree ST 9f Siem W Seisa s |1 wnferan S&ei s 2

(A) 9 IR (B) S AFTA © TEE A (D) R SFIA
38. afg Uk faeiex i 5= meft &R S At 9 ) W, a9 foacist o1 gSia &t fohdT 2 ?

(A)  1uni®FGTCN  B) TH W © 3T ®) farm
38.  If theradius of a cylinder is halved and height is doubled, then what will be the surface area ?

(A)  Increased by 1 unit? (B) Thesame

(©)  Double (D) Triple
39.  (m, —m) =0T &9 @IFOTTNFITS SES 2

(A) x=-m (B) y=m © y=x D) x+y=0
39.  (m, —m) YT Ties @7 Wwaare s<Es 2

®) r=-m ®) y=m @ |y=x @) x+y=0
39.  (m, —m) fa<ien TREM 99 HHY THREEE e ?

(A x=-m B) y=m © y=x D) x+y=0
39.  (m, —m) fag & = HH-T1 THiHT Tafied € ?

(A x=-m B) y=m © y=x D) x+y=0
39.  Onwhich of the following equations, the point of the form (m, —m) lies ?

@) r=-m ® y=m © y=x O x+y=0

SPACE FOR ROUGH WORK
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40.

40.

40.

40.

40.

QBT I29W TIPS, BoTH SJBIRIT I :
(A) BT LA (B) eI S LU

(©) ST B72ey LT (D) SR SrUes ST

QFC 29 AR TS S5 TeT 0T :

(A)  IAG T (B) XTI BT LA

© ST A AT (D)  SHATIF LS LU

Tirert TR 7T STFTHm SREe RRAmR

(A)  SrErEsTy S (B) TSTHH Sr@TESTY S

© TFE'IE A arEEs S (D) TNEYME A SREEsTd -

Teh 9gUe H, THN IRuad o =Mdish (Exponents) B © :
A) T’TTEF (Integers) B) a1 T’TTEF (Positive Integers)

(©) RO qUlish (Non-negative Integers) (D) €<% JUTieh (Non-positive Integers)

In a polynomial, the exponents of the variables are always :
(A) Integers (B)  Positive integers
(© Non-negative integers (D) Non-positive integers

41. 8539 [bACCT 7191 PM -3 419 2°a7 :
(A) 3cm (B) 4cm © 5cm (D) 2cm
41. SRR foafG (IF PM - 93 W ({7 94 7
A) 3cm (B) 4cm © 5cm D) 2cm
SPACE FOR ROUGH WORK
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41,  TISHeTE BFE EamRfwE PM At fogT |
(A) 3cm (B) 4cm © 5cm D) 2cm
41. TR feu U SRR W, PM 1 HH B :
A 3cm B) 4cm © b5 D) 2cm
41. Intheabovefigure, PMis:
A 3cm B) 4cm © b5 D) 2cm
5x 2x
42. M EN 4= E (O@2x—7="?
19 B 3
@ 3 ® 1 © o O 19
5x 2x
42. M 3 4= 3 =, 0@ 2 -7=?
19 13 13
@ 13 ® ~ 9 © o0 ®) 79
5x 2x .
42. Jfg Y - = ?,Wawzx—héﬁmwﬂﬂ?
19 B 3
@ 33 ) 19 © 0 ® 19
1. T 2 _ 4= z_x,aazl_7=7
3 5
A 19 5 _ 13 C 0 13
@ 3 ® 1 © © T
42 IfE 4= X hen2x—7="?
. 3 5 ,then2x—-7=
19 B 3
SPACE FOR ROUGH WORK
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43. U7 I7F SR P QOT (ATeTHT SR ;0T | PrRes SHTead SqATS 2°F :
@A) V3:/iw ®B) w:3 © 6:5w O  Jm:J6
43. GG I (cube) PSR CF@TE QD (SIETFR 2POCeTH CFAF(ET SNH | SITHE SIS SIS TS 7
A  3:ar B m:3 © 6 :5m D)  Jw:e
43. 9 T (cube) T Wit 3T HIFY sieH a9 Wi @ifersti 99 Sritsen foreif= Tsmfef Espemn St |
A) 34w B w:3 © 6:5w O Jm:J6
43. TH o[ H1 Y3 &A%l SR Teh Al 1 J&S &hel I § | Sk ST o STITd 21T
@A) 3:V4w B w3 © 6:5m D) Jw:\e
43. The surface area of a cube is equal to the surface area of a sphere. The ratio of their volumes will
be:
A)  J3:ax B) w:3 © 6 :5m D) Jm 6
44.  {100—(99)% x 100 -5 WiF 2’77 :
(A) 10000 (B) 9900 © 99000 (D) 1000
44.  {100—(99)"} x 100 U W F© ?
(A) 10000 (B) 9900 @ 99000 (D) 1000
44.  {100—(99)% x 100 1 |1 &M
(A) 10000 (B) 9900 © 99000 (D) 1000
44.  {100—(99)°} x 100 T HF T :
(A) 10000 (B) 9900 © 99000 (D) 1000
44. The value of {100 —(99)%) x 100 is :
(A) 10000 (B) 9900 © 99000 (D) 1000
SPACE FOR ROUGH WORK
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45. 7 -3 fSi90r Fhe Sfress @remeT 357 | 0w TF Sfress Wi 775

A 112 B) 126 © 119 D) 116
45. 7-93 foqfh wiie Sfre@es @ 357 | SR @5 Sfre 7F 35

A 112 B) 126 © 119 D) 116
45. 7 HHUM IR AN TSI 357 STEe qa(-1gs gg Aoy ST~ s&e ?

A) 112 B) 126 © 119 D) 116
45. 71 < Shifeh SRR Uk ANThet 357 § | Foid BTl 70 © :

A) 112 B) 126 © 119 D) 116
45.  The sum of three consecutive multiples of 7 is 357. The smallest multiple is :

A 112 B) 126 © 119 D) 116
46. 83x2t-IWF R :

@A) 167 ® 21 © 21 D) 8t
46. 83x2* I WIF F© ?

(A) 167 ® 2B © 2w O 8
46. 83 x24T = SR |

A) 167 ® 2B © 21 D) 8
46. SBXAUHAMT :

A) 167 ®) 213 © 210 (D) 84
46. The value of 83x2%is :

A) 167 ®) 213 © 210 (D) 84
47. 8a=(35)2—(27)2 @ a-INFZ'T;

A 8 B) 60 © 35 D) 62
47. 8a=(35)%—(27)%3(eT a 9T VI o R ?

A 8 B) 60 © 35 D) 62

SPACE FOR ROUGH WORK
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47. SIS 8a=(35)2— (27)2 Sl a T HFT SO |
A) 8 B) 60 © 35 D) 62

47. IC 8a=(35)2—(27)2 &, a 1 HH BT :
A) 8 ®) 60 © 35 D) 62

47.  If8a=(35)%— (27)? the value of a will be :
@A 8 B) 60 © 35 D) 62

48. (-1~ l-3uFfwE 7
@ 1 ® -1 © 0 ® @

48. (-1 l1QINHAIS ?
@ 1 ® -1 © 0 ® @

48. (—1)" 1 wr a¥ar ?
A 1 ® -1 © 0 ()R Vi

48. (=) lwHAFE:

@) 1 B -1 @ o ® @'
48. Whatis the value of (— 1)1 ?

@) 1 ® -1 © 0 ® o'
49. AT GOT (ST TSP GB35 FT 2T, (B0 OB SIS e 2°7 7

A 1:2 ® 2:1 © 1:4 D) 4:1

49. % GFOI (ST R AR F1 2V, B ST PO CFATENR TS F6 2 ?
Aa) 1:2 B 2:1 © 1:4 D) 4:1

49. HHY dEA TEIM qEEE! QAR SR 9 | S S sHei i ?
@A 1:2 B 2:1 © 1:4 O 4:1

SPACE FOR ROUGH WORK
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49. I T el i oo A1 o oo S, 9 TS &Il bt 1A fohaal &1 2
A 1:2 B 2:1 © 1:4 O 4:1

49.  If the radius of a sphere is doubled, then what is the ratio of their surface areas ?
A 1:2 B 2:1 © 1:4 O 4:1

50. QDT 5T, QB F I OB SHTETFT BNl e Trho! ST | PrRes SAeds Sq9ie 2°3 :
A 4:5:7 B) 3:1:2 © 1:2:3 O 3:2:1

50. @35 Piferesa, WFTE TF 3 (ST AT (51T BN WL STho! ST | SR S TS F 7
A) 4:5:7 B 3:1:2 <© 1:2:3 D) 3:2:1

50. TMY B, T TYH T (cone) AR @Te S ST 3TRI ST T8, STeet foraRf Jff & sramn
SIUIEH
A) 4:5:7 B 3:1:2 <© 1:2:3 D) 3:2:1

50. U foeiet, Uk i 31 T Ty 1 SR 31 o0 THM €| S STFd- i 3T 20
(A) 4:5:7 B 3:1:2 © 1:2:3 D) 3:2:1

50.  Acylinder, a cone and a hemisphere are of equal base and have the same height. The ratio of their volume
is:
A 4:5:7 B) 3:1:2 © 1:2:3 O 3:2:1
627 _

51. —2\/§ ?
@) 3 ® 6 © 93 (D) o= bt vz
627 _

51. —2\/5 ?
@) 349 ® 6 © 93 D) AT GO T
6327 .
e S )

5L 575 EREISIRIW
@) 349 B 6 © 93 (D) ISHf WIS TS

SPACE FOR ROUGH WORK
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23
A) 39 ®B) 6 © 93 D) TH ot T
627
51. ﬁ =
A) 39 B o6 © 93 (D)  none of the above
52. 7% 31T [1 7T 30,000 51T bl © T 4347 5T | (B0 AN ' -
(&) 237 (B) 253%F © 337 (D) 439
52. IS 7% S 2 30,000 TIFE 5 7 = 4347 TIFT | SE TSI (<
(A) 237 (B) 253%F © 33 (D) 43|
52. SIERE 7% BRE Hd @HM 30,000 T SRS &l 4347 I SIT1 ST66T THI ST -
(A)  29ER (B) 259MER ©Q 3EER D) 49ER
52. 7% alftieh SATS % X & T 30,000 1 Akl TS T 4347 € | STt THI HHT AT
a) 2@ (B) 257 @ 3ad D) 4 =d
52.  The compound interest on < 30,000 at 7% per annum is< 4347. The period is :
(A) 2years (B) 2.5years (© 3years (D) 4years
53.  HOT STF HFTS 3 : 5 | Ak GUAIGT ST 1t 9 [{Ctsr FF 27,  MONFI0FT H6 =7
12:23 | & RABIGRFNF T
(&) 49 B) 55 © 33 D) 27
53. g6 AR HFAMG 3:5 | T R TR (AF 9 KMt 11 27, S T 67 Sgoie 2 12:23 | (21
STRASIGF WIF X3 2
(&) 49 B) 55 © 33 D) 27
SPACE FOR ROUGH WORK
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53. T i ST 3 : 5, IUR WA 9 TG e e Stf-smn A 1223 S| frefes sty
AT S

Aa) 49 (B) 55 © 33 D) 27

53. < HENST & ST 3: 5% | AfG i W& § 9 R S, TT HEAST 1 STTUd 12 : 23 T | Fol BT He&A
T T BT
(A) 49 (B) 55 © 33 D) 27

53. Two numbers are in the ratio 3 : 5. If 9 is subtracted from each, the new numbers are in the ratio
12 :23. The smallest number is :

A) 49 (B) 55 © 33 D) 27

—1
54. ?j@ ;o,ya'ﬂ"b:‘?fi’?:

1 1
@ -1 ® 1 © 3 O -5

54. _?yzl. ;Co,ykﬂﬁﬂiﬁm:

1 1
@ -1 B 1 Q@ 3 ®  ~3
54. %y S Wi i 77 erewamn e ¢
1 1
@ -1 ® 1 © 3 ®) ~3
54. _—3y e H, y T U T :
1 1
@ -1 B 1 © 3 ® -3
SPACE FOR ROUGH WORK
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54.  Coefficient of y in the term 3 is:
1 _1
@ -1 ® 1 © 3 D) 3
55. 79T 56 XITO (FIAT QT JeTHAT 6 IR II© 60% a2 | (1R Q@3 361 7o 12,000 1 3 7239 770
berq ' o NI =T 7
(A) 2160 (B) 3120 © 3972 (D) 6240
55. STFel 07 TR (F1F GF ToTF 6 I 60% I I | (72 QI3 0 212,000 TIFF 3 T2 5] '
PO ?
(A) 2160 B) 3120 © 3972 (D) 6240
55. Tl Gd A ARG S QREM 6 SR IAE S IRMT 60% IRER o TE gatd gREA!
12,000 T 3 SERMA 36 FTRESTE Al S S0 ?
(A) 2160 (B) 3120 © 3972 (D) 6240
55.  HTHR TS o & § fohEf Tk AU 1 6 a9 H 60% If5 g3 | 36T Ueh &l 151 oh T T 12,000 1 3 978
TS Fhgfg AT a1 BT ?
(A) 2160 B) 3120 Q. 3972 (D) 6240
55.  There is 60% increase in an amount in 6 years at simple interest. What will be the compound interest of
12,000 after 3 years at the same rate ?
(A) 2160 B) 3120 © 3972 D) 6240
56. o1 (PIFCOT TRATIT IS QBT AT SRAT =T 72
@) 7 B) 1.9 © 0.5 O 13
56.  fI6R &F1F 715 39Ye1 WD <Ifoww sTe st 267 7
@) 7 B) 1.96 © 0.5 ©®) 13
56. TR el Y STTHIN aie TAsiaes 1 stfsm 2
@) 7 B) 1.96 © 0.5 ®) 13
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56. i fou Hemsd # fhuen sriqa T uRew gen §?

@ 7 B) 196 © 0.05 ©O) 13

56.  The square root of which of the following numbers is rational ?

@A) 7 B) 1.9 © 0.05 D) 13
57.  1.101001000100001 . . ..... STRATICOT :

(A) OB Frolf sTeast (B)  aGT 7fef 51T

© b sifgorg sieat (D) OO Spoifaemg sigast
57.  1.101001000100001 . . .. ... TS e

A) a3 Frelfas et
B) QG ofef AT
© a5 AR AT (rational number)

(D) ~ QI5 SO 74T (irrational number)

57. 1.101001000100001 =M@ S&T
(A) TR st (B) % A=A
(© TSI T fs (D) TASTE I sfm

57. €@ 1.101001000100001 . . . .. ..
(A) T YIhd A (a natural number) B) Th Tﬁ H@&A (a whole number)

O T i §en (arationalnumber) (D) U&h STURHT we (an irrational number)

57.  The number 1.101001000100001 ... .. ... is
(A) anatural number (B) awholenumber
(©) arational number (D) anirrational number
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58. 12 — 75 + 27 S WA R :
@A) V12 ®B 0 © 3 D) 243

58. 12 — 75 + 27 9T O ?
@A) V12 ®B 0 © 3 D) 23

58. 12 — 75 + 27 T A SEm
@) V12 ® 0 © 3 D) 243

58. 12 — 75 + 27 wmiEA T :
A V12 ® 0 O 3 D) 23

58. Thevalueof \/[12 — /75 + /27 is:

A J12 B 0 © 3 D) 23
N N U
59. (Ej + (gj N (Zj R
81 16 81 169
@A) a1 ® o © 150 O &7
o2y (30
59. (E} + (gj - (Z) QT TH FS ?
81 16 81 169
@A) s ® 5 © T O) o1
o2y (307
59. (E} ‘*(gj"(z) IEEIBIRSIHICE
81 16 81 169
@A) 81 ® 57 © T O) o1
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59.
N 8L L1 81 169
@) 484 ®) 81 © 169 ©) 81
-2
660
59. Thevalue of 5 3 4 is:
81 16 81 169
@) 484 ®) 81 © 169 ®) 81
60. DT fugsE RO W9 x em, (x+1) cm S (v+2) cm, W\Q\%TCBT ST BT x-S WFZT
(A) 5cm (B) 3cm © 6cm D) 4cm
60. O fagreE ARSI T x cm, (x+1) cm WIR (x+2) em, FTagSIG ST 3T ¥ - 9T W IJ
(A) 5cm (B) 3cm © 6cwm D) 4cm
60. Y SARSTHLTH RG-SR A WS x cm, (x4 1) cm 3R (v + 2) cm, ST ST=T- A ST
x T w1 S S
(A) 5cm (B) 3cm ©. 6cm D) 4cm
60. T R0 & U&l &l T&E x cm, (x+1) cm 3R (r+2)/em Tl 3R Bebor Iuon €, d& x 61 HE
B
(A) 5cm (B) 3cm © 6cm (D) 4cm
60. Lengths of sides of a triangle are x cm, (x + 1) cm and (x + 2) cm, the value of x when triangle is right-angled
is:
(A) 5cm (B) 3cm © 6cm D) 4cm
61. eiaE e REweTs oote fFal @aoT aret e 23 7
(A) BaF,+CaF, (B) CaF,+NajAlF, (C) Fe,0O5;+SiO, (D) NaF+AlF,
61. SHEINAIR Rgse ferce e et @Afb g5 = 7
(A) BaF,+CaF, (B) CaF,+NajAlF, (C) Fe,05;+SiO, (D) NaF+AlF,
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61. T Hifserd fafSRfv@mE TRErRE EHE Fo@! R S
(A)  BaF,+CaF, (B) CaF,+NaAlf, (O Fe,0,+SiO, (D) NaF+AlF,

61. TR faga fagersor & = fed T3 -1 9 g g 2
(A)  BaF,+CaF, (B) CaF,+NaAlFf, (O Fe,0;+SiO, (D) NaF+AlF,

61.  Which of the following is added in electrolysis of alumina ?
(A)  BaF,+CaF, (B) CaF,+NaAlF, (O Fe,0,+SiO, (D) NaF+AlF,

62. SIS 37 RR e p73 CFde ATTS I U513 IS 9%S oI5 FF M7 | T (FIFR1T 77 7
(A) E=0,B=0 B) E=0,B=0 © E=#0,B=0 (D) E#0,B=0

62. SIS BT [R5 QIR PRI CF(a HKALS IO QB0 S 21 97126 200 | 6T (@IS 35 2
(A) E=0,B=0 B) E=0,B=0 © E=#0,B=0 (D) E#0,B=0

62. SUE Y Hifsai ST Grehi fAfIETa =TSl (Charge) T HIMY =131 SGHTR SHETE QIMGA § | TERIA
EEEEPRIEIRICHE
(A) E=0,B=0 (B) E=0,B#0 (© E=#0,B=0 (D) E=#0,B=0

62. e e faed oIR g & § STIeIH Jerd shivrehl il 9l | TIf X <@l & 1 =i T hivi-1 TEel § ?
(A) E=0,B=0 (B) E=0,B#0 (© E=#0,B=0 (D) E=#0,B=0

62. A charged particle moves along a circle under the action of a possible constant electric and magnetic field.
Which of the following are possible ?
(A) E=0,B=0 (B) E=0,B#0 (@ E#0,B=0 (D) E#0,B»0

63. FAIIS Sfowe weT FHIIT FIIY
A) 3 ReToe sy dfEms=smamgr B) 3RS o=Ter FLeist 99 |
© 3Ifens o Sfew | D) 3 RIF6 TS T |

63.  FEAIIET SHTT et AT LA FIA ¢

(A) AT O AT (fertilization) 751l 27 AT
(B) QTR SISt FLTANSt TG '

© axfd Iz Sfen

(D) QT TSI AE AT
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63. Toma = (Gymnosperm) TEHISTE Ttherg omfaft SIHEISIEIDE
(A)  FTRRE RS AR Ao STHeT
(B) SR BIEAN=] UGS
© A®R R Af e
(D) JAHRE TRAE’ A
63.  STAIIASS IS | oSl T T 1 BRI :
(A)  TEH T HiEE A iR g T E T
(B) THH W FA & e T
© IE oEH g R
() =T 719 RIfSTRT & T |
63.  Fruits are not formed in Gymnosperms because :
(A)  Process of fertilization does not take place in them.
(B)  They are not pollinated.
(©) They are seedless plant.
(D)  They have no ovary.
64. ©eT® AT el (S S WbGEIRT SHolF 8% FHOT (AT :
(A) HOCI>HOBr> HOI () HOI>HOBr > HOCI
(© HOBr>HOI>HOCI (D) HOBr>HOCI>HOI
64. 5 e P GIASTOE SHTSBIPTOR AT SFGIF B @nfh ReT .
(A) HOCI>HOBr> HOI (8) HOI>HOBr > HOCI
(© HOBr>HOI>HOCI (D) HOBr>HOCI>HOI
64. TS B &1 'S 1o "THESHRIN TS ar e ST
(A) HOCI>HOBr> HOI (8)  HOI>HOBr > HOCI
(© HOBr>HOI>HOCI (D) HOBr>HOCI>HOI
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64. I ST T A & AHN ST (Oxoacids) Tl STHA HI Y5 FH R
(A) HOCI>HOBr > HOI () HOI>HOBr>HOCI
(© HOBr>HOI>HOCI (D) HOBr>HOCI>HOI
64.  The correct order of acidity of the following oxoacids of halogens is :
(A) HOCI>HOBr>HOI (B) HOI>HOBr>HOCI
(©  HOBr>HOI>HOCI (D) HOBr>HOCI>HOI
65. BIEIEI T WbIT fowacet sift Iy oofe fircet, 3amis fowas srote wie
(A)  ZT AT B) I i © @A D) H5=&
65. STIRIEAT 936 T (Bw(d @ I (3Ce i, T (GoEd BT Wi
(&) ZPT A ® & m © R O T
65. WA SIGRAR T FHa! (aeTa e sl A Sleal $Tacl aif AR JH] S ¢
(A)  EHEANH (Decreases) (B) ST (Increases)
© T ITIH (Remains same) (D) oIIE'S T (Becomes zero)
65. G &I 393 Tk I 3T Y g F@H-H, T GG (pressure) I HI :
(A) ™ Erm ®) Ifs Q@ TH =W (D) AT
65. If more air is pushed in a soap bubble, the pressure in it:
(A)  decreases (B) increases (©) remainssame (D)  becomes zero
66. ]33 I WC®, JFE :
(A) TSPt (B)  FCSTHCHN Q) ATF wret (D) #'5°F st
66.  T(X-9F LKA MO, SFBfCT 2

) oS (B) IR Q)  TethT wet (D) NG a3t
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66. T3 ATy S1fed TfaswRT e :

(A) TIfRTEMRA (Nucleophile) (B)  THRIHA (Electrophile)

(©) 9 TEMR (Proton donor) (D) YA ASIEUT (Proton acceptor)
66. T3 I ¥R (Concept) T TR, 3T (acid) g

(A) TR (Nucleophile) (B) TSN (Electrophile)

(C) WM S (Proton donor) (D) e el (Proton acceptor)

66.  According to Lewis Concept, acids are :

(A) Nucleophile (B)  Electrophile (©  Protondonor (D) Protonacceptor

67. SN BT 8290 [T T 0T ST 97 FIXf ©elq (FIFCIF ARG 51T ?

a) s @) sfs=fs © Rfefs (D) @9FF 9O 757

67. QTG AN ST I67 T~ 4T I [va @1 ATS = 59 2
A) @fE B) sfs=fs
© RfsHfs (D) TAET 9FHS 77

67.  HIH HeRI-<(- HETE BTell {1 SIS MerE - s Hierdersi qoH :
(A) RIEENIES] (Total Energy) (B) & ek (Kinetic Energy)
(©)  orfeR 3Ifer (Potential Energy) (D) TSit HFee 75T (None of the above)

67. UTEN Teh ol SR H fordl o aret wid 3 THI1e 3 o1 sl fefafed sia-91 aftedy & 99 € ?
(A)  F v ®B)  TIfd wfer © Teufa ufe (D) UL H Tk i &

67.  The work done by the external forces on a system equals the change in :

(A) Totalenergy (B) Kineticenergy (©) Potentialenergy (D) None of the above
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68. (R ST FXB! SLSICOT (=R :
(A)  FEEE (B) FEETH Q) WG HFw (D) FTAE
68. Tm® SNIRAT T AT S 200% -
(A) FEE™ (B) FTRCISH ©) WGt (D) FIEIATS
68. TR =& fSefEma foem et g -
(A) ToEfiE 3% (Nucleus) (B)  TEH'SH (Lysosome)
(C) W13 ki1 (Mitochondria) (D) RIRE (Chloroplast)
68. &a fafeern! (7)) e ofn & &1 22
(A)  fRIH (Nucleus) (B)  TIEHNIH (Lysosome)
© HTgerehi-g Al (Mitochondria) D) FANAEL (Chloroplast)
68.  Double membrane is absentin :
(A) Nucleus (B) Lysosome (©  Mitochondria (D)  Chloroplast
69. QGf 220 V AC S&7F SICHITH [Neq 27 -
(A) 220V (B) 1T 160V (@ 310V (D) 440V
69. GG 220 V AC ST SHTH 67 2R
(A) 220V (B) T 160V © 310V (D) 440V
69. 79 220 V AC H@IH SITEH Voltage 311 ST :
(A) 220V (B) 160 VM © 310V%H™ (D) 440V
69. T 220 V AC & (Source) 3l Hal= dleedl (Peak voltage) BN :
(A) 220V B) WE160V © WE310V (D) 440V
69. The peak voltage in a 220 V AC source is :
A 220V (B) About160V © About310V D) 440V
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70.

70.

70.

70.

70.

“OTEST9R (917 SR 7[R IeIe9T Swo! Jiag I 7, F1 :

(A) 9% ORI TIPIT CIESIT ST (<1t FS o7

(B) WX (RENE o3 Rise Fat srcenfie IR otwe sfy o

© 9% (R[S TR CTOSREITS ST &Y

o S

(D) @3 (IREITE T2 CTESIN

ISR ST (RIS 51T ) SR YO 36! Jad S Wi, FIR
(A) Q3 SIS SR ST ST I HC |

(B) Q3 TRIBE G (A KRS T SRS IR IR T |

© 9% ST AYTS TS RBES SAF 27 |
(D) Q3 STITRCETT T8 SIS

“ef T Y (Green House Gas)'' TRT AT | Te=MEME T SEMAME om@md <& M,
AT

(A) ¥ RN FEERIE Wl SerieE! e Al

(B) d TH®RI IgH HIH Infra-red FRI ASTHRE! HioHT AR
(© © THER ME M 7 (green house) HRIS HHSETST
(D) o THRRA e e

BRd T8 719 (Green House Gases) T 53 ] SIS0 =l A9HM Jf5 o foll ST €, SHHT R :
(A) ¥ 9 gyg §F I 1 SRa 3791 1 60T h el < |

B) % 9 9e 94g T3 A fafefid o aen steeifed T w1 w0 L ol ¥

© & T TE geu: BRd T8l # Sl Bl ¥

(D) I 79 FEi 1 1 efarett e gl

‘Green House Gases’ are responsible for increase of temperature on earth’s atmosphere, because :
(A)  These gases absorb the green portion of the sunlight.

(B)  These gases absorb infra-red radiation radiated by the earth’s surface.

(©) These gases are produced mainly in the green houses.

(D)  The colour of these gases is green.
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71, (OSIR IRAT RIAT 2FSIRgs FYAI 20T 7’ (Radio Carbon Dating) © I21F (R IS STg(fzs (K€ 277 :

(A) 12C B) 13C © MC (D) 3ZoF 4bIe F27
71.  (OSHR IR QIR S qoified Ty I 7ef (Radio Carbon Dating) F(6 I9%® I (A1 FHFIAFD 26T :

(A 12C ®) B¢ © MC D) UGETH GFH3 T
71.  Radio Carbon Dating 3119 STRTIAR e 33 ‘<1 ST :

a) 12C ®) B¢ © MC (D)  TirSi H&s TeT
71.  ‘Yfedhre i’ § =aer B Al HTe S LN (Isotope) ¥

A) 12C ®) BBC © HC (D) T 4 T ot &
71.  Theisotope of carbon, that is used in ‘Radio Carbon Dating’ is :

(A 12C B) 13C © M“cC (D)  None of these
72. TSRS TIRG TS RBiosee Afere SRT FI GRETg 0Z0% :

(A) T (B) wieaceamw ©  =F D) f&iew
72,  (SUNS AIRGITSH Eiowad Afaaie smEifsrer Fa19 A4 SoNm 3003 ;

A wWEF (B) WleRTGAN Q M D) o=
72. SR AR 'S T W AreE-ergt gl S e Sem/

(A) &% (Boron) (B)  HfcTsia™ (Molybdenum)

(©)  UR (Copper) (D) TS (Zinc)
72.  Sifoeh AegreH fefaeto gfshan H et s are Jaawd (Element) © :

(A) &RH (Boron) (B)  WifeTseTH (Molybdenum)

© dfen o) f5=
72.  Biological nitrogen fixation is helped by the element :

(A) Boron (B) Molybdenum (©  Copper (D) Zinc
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73. (oA SN AT cenfoafy congr T

A) "ze ®B) s1Ke © WeTe D) fzoo
73. (I (Caesin) FIHI 21T ToMBF (FIRT ST T 7

(A) IR B T © "R O fors
73.  hfad G ARM gfeT@t 9

@) e B) RS © o= O) feemE
73. o weh ot wifes & S urwn s

INERE K B) TUH © wEH (D) <HSIH (Cheese)
73.  Caesin is an animal protein found in :

(A) Fish B) Milk ©  Meat (D)  Cheese
74. ATFNT (P@w, STReS

(A) SN 9IS SRS AT | (B) = TSNS QI ETHGICK A |

(©) ~ abI Y2SF @ FI°F TFSIE A | (D) 70! 256 {IF eFOI T |
74.  ATHE CF@, Sifow@e

(A) ST G 399 TRl A |

(B) FATR JACH 39/ eFGIE A1CF AT

© 93 YZ(SF S QEET 39 TR AT |

O) gD YIS S G 397 TR AF |
74, U™ WRAEE (Projectile motion) TRET ST :

(A) AT QRIS LI 2 (B)  HIsTES SRIGHTAY ST T

© <f<d gafT o’ SR diiR ol (D) <ifed Tuf amer SRR SR e
74, 99 H & H, TG T

(A)  THI TR H T Y Y @ R
© TH GHI F foIu o ove 919 9 @ g |

(B) T TR I T WG I & &l
(D) < IHF H O H = e H &l T
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74.  Ina projectile motion the velocity :

(A) is always perpendicular to the acceleration.

(B) isnever perpendicular to the acceleration.

(©)  is perpendicular to the acceleration for one instant only.

(D) is perpendicular to acceleration for two instants.

s e
75. ST C = A + B

- -
A) ‘C‘ W‘A‘W@T@a

(B)

1< Rl o [ <8 cxareone s

(© C >®IE@E A+B-I5WH (D) C@eT8 A+B -3 W 957
- -5 >
75. WHI}{ C=A+ B
(A) ‘E)‘W‘X‘ZWWW (B) \3\<\X\ Q3 3\<\§\ 2313 37J
© C<Al A +B QT W 2 (D) CFAT8 A+ B QT I 3 AT
e
75. QHAIAAMESEE ¢ = A + B
N N >l |- e
C A <
A 3T STeATal RGN B ‘C‘ ‘A‘W‘C‘<‘B‘mm
(€  C 3T Ssa A+ B a6H (D) € 31 SisaEdl A+ B 5 991 71
- 5 >
75. HAWIST, C = A + B
— - - |- >l |-
(A) ‘C‘W‘A‘@wm%l (B) ‘C‘<‘A‘ aﬁw‘c‘<‘3‘%ﬁww%|
(© C THIM A+B o SRR Tl ¢ | (D) C &t ot A+B % IR & 7
- > -
75. letC = A + B
- — > |- e
4) ‘C‘ is always greater than‘A‘ (B)  Itis possible to have ‘C‘<‘A‘ and ‘C‘<‘B‘
(© Cisalwaysequalto A+B (D) Cisneverequalto A+B
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76.  TIRSAT S AT IFT GTco IR AA1Cw, 15[ 518 F97 *1700 ©e1q (FIFCOT 2T6e7a NF S5 27 7
(A) IS (B) ©RITS © FRs= (D) ©F%5 @

76.  TAF ST SFT IHF S0 I I, N1 38 I 103 057 @10 BRowieez 717 o5 =70 2
(A)  FAFIF (B) SIS © &= (D) ST (@5

76.  Siscll AATST A AFTRRS @i T, MersT QHfsaieHr dieiend e s Sl qHET SRl ST
(A)  @FREl (Frequency) (B) T IEUTE (Wavelength)
(©  TIERR (Amplitude) (D) T WY (Wave Velocity)

76. 9 39 Aok TH § TN id &, q9 379 Yie HIA aren g # FH=fafed wH-d1 e a1 s = 2
(A) HEAH B) T © fo=mw (D) T AT

76.  When you speak to your friend, which of the following parameters have a unique value in the sound
produced ?
(A) = Frequency (B) Wavelength (© - Amplitude (D)  Wave velocity

77.  SEIRI ESSE 2o gIfeT AT QBT BT 8bT® Wbt T L0l S0 | FOIOIE oS @It St s @of e
DETE I
(A)  FOICIE FIfeTT oo B) |G EDRLT TTeT 8oTw
© FONOR [ AR TRET SHolI @Te (D) (A) 3N (B) [0

77.  SFe G 4 9IS ATtad [ e @30 @t g | 83 By (3@ @7 283 ©76 Ti&5d @9

ASrFE@A:

A Tufba trawEd 8
(B) ©IA MG TNCGT B
© afb (I 9 2% BFet *mr G Tl 394

D) (A)932(B)5R
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77. G e HaTsl 3§ 3q1 TS TH AT T0d " fRE 76 € | e bR STEREH™ | | Jar
Trafern AN
(A) AN G | (Area of the hole)
(B) T el HeATf ST WS (Density of the liquid)
Q)  TTscA ST STel ATd Herr ElRRIEkIRIE] (Height of the liquid from the hole)
D)  (A) R (B)HFN
77. U0 G 9 U1 Uah oK het¥l o A U Bl fog 71 fog | fria 2 aren quar uere o o fAeR @ o
) fBzwaw (B) TUF TR ok T (density) T
© o= % 9o e 9 S W D) (A) 3R (B) I
77.  There is a small hole near the bottom of an open tank filled with a liquid. The speed of the liquid ejected
does not depend on:
(A)  Areaof thehole (B)  Density of the liquid
(©  Height of the liquid from hole (D)  Both (A)and (B)
78. T RO (o14% T3S STSI I S12S ATOCIE IR 7197 ATFACBIE (I 2 :
(&) FETS! B) W@='ftR © e (D) TS ST
78. TR RTE (7T BT ST S5 SR 2iraiesfe] 2o 28319 o ferarifbe 37 =7 -
A) TS (B) PP ©Q IR (D)  sitar 3T
78. IS SR@1 @i A T@rerd fawi faaesr JHemee! g1 :
(A) T SAEE (B) Aok e © FafE D) foam fafem
78. IS ToRIY U9k o1 & ST o hROT U & Uil oh1 Uil TS et HThal hl el =i & :
(A) TR (B) TRiEH © FREE ©O) ferifaaam
78.  Yellowing of plantleaves due to deficiency of certain mineral is referred to :
(A) Discolouration (B)  Necrosis (©  Chlorosis (D)  Defoliation
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79. sifeTamize IFT Ao 20y

@) e (B) 2T 66 © e D) W35
79.  AIfTSRIZG A wAfermaft 2

A)  OFEH (B) T2 66 © e (D) TACPETRD
79. OfITATES T qfed /T STTems

(A) TESH (Teflon) (B) EE 66 (Nylon 66)

(© 2R (Terylene) (D)  deheTiee (Bakelite)
79. UiferATES W el sgeh (W) ©

(A) <IN (Teflon) (B)  FAM 66 (Nylon 66)

(© O (Terylene) (D) JHAEE (Bakelite)
79.  Polymer thatcontains polyamide is:

(A) - Teflon (B) Nylon 66 (©)  Terylene (D) Bakelite
80. IR0 ©oTF (@RI TAMT ?

(A) ST IFRSFFI (B) (o9 FRES

© TS =REe (D) (A) == (B) {0
80. I3 ea 5 47t S 2

(A) AT IRZFLFI (B) @ X ABE

© TS SIREe D) (A)3 B)53T
80.  HISSHI MBI el eTaTHT

(A)  AYTSH TGl FREE ®) T fafg g=R

© S e D) (A)#W (B)

SPACE FOR ROUGH WORK

UPT-19/P-11/O 66




80. ‘wrEfed’ feAifRd H | HH-W IURH ¥ 2
(A)  STIYIE T TGRS (Exoskeleton) (B) Il Ut o1
© A HBA D) (A) R (B) I
80.  Chitin is a component of which of the following ?
(A)  Exoskeleton of an arthropod (B)  Fungal cell wall
(©) Plasma membrane (D) (A)and (B)
81. Mg -3 0T QG F13G’ (ST SIS TSI 510 I AT o796 Rfwxr FRaca it 2°e1 | Seom et
(SR B
(A) NO, (B) NH, © N, (D) HCN
81. Mg -93 T @1 Rrte FZGICSIAT AT oTi6T T 519 FAI 517 ST 0 [ ST 2671 HAF
ST R0
(A) NO, (B) NH, © N, (D) HCN
81. T Mg 1 Rl reg 'SH STeRmEmaE TSl SIS FeA1 S fhTsnems S SHe STe | St
T ST
&) NO, (B) NH, © N (D)  HCN
81. T Mg  Hid % Zhs ohl SIS o SATERU H STl Bid.deh T8 i I o @t fafshan s fozn w1 369
3T B aTelt T T
(&) NO, (B) NH, Q@ N, (D) HCN
81. A piece of Mg ribbon is heated to redness in nitrogen atmosphere and then treated with water. The gas
evolved is:
(A) NO, (B) NH, © N, (D) HCN
82.  JRMIFS NI IV (XX :
(A) A TR (B) T g (©) TS BT (D) SIS CerEer
82. IR Y BN 9
(A) AT TTET (B) AW LI
(©)  TISIETIISE S5 (D) T CTe
SPACE FOR ROUGH WORK
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82. TG A TR WIHIAT STe
(A) SRR HEA dHE (B) SRR SFYATA
© TG SN WA (D) < e A

82. TEHA R TEAFME :

(A) @ (B) @EEHIH © UJAMFUEA (D) 99
82.  Main function of large intestine is :

(A)  Absorption of food (B)  Storage of food

(©)  Digestion of cellulose (D)  Absorption of water

83. 4 (®f¥) &M NaOH, 10 foT51F et Wb Tdigs F1 2°e| TQIOR pHE'I
Aa) 2 B 9 © 12 O) 13

83. 4 (BH) oM NaOH, 10 (7) fT5I@a WS Zacet udpe F41 o7 | T8 pH A

@A) 2 B 9 © 12 D) 13
83. 4 (3) UM NaOH ®l 10 feieR <3ma Tema @ Sie | TAEs=E pH 31 STe

@) 2 B) 9 © 12 D) 13
83. 4™ NaOH =l 10 TfeX & SaUT (Solution) | far=ifed fohall T 1 €& (Solution) T pH BT :

@ 2 ®) 9 © 12 O) 13

83. 4 (Four) grams of NaOH have been dissolved in 10 litre of a solution. The pH of the solution is :
@ 2 ® 9 © 12 ©) 13

84. HF (37 WH OOt dfFm 1'%
(A)  ATP f3piest =ifieq 5167 2%
® TTeTE
(©  AMF 7[T RS 5fE (% ATP RRBics s167 =7
(D) ~fex [Hsfe 927
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84. W IT YN X% OF 41 Afwa Ttw
(A)  ATP R0 *1fea sy =3
®) Tfearm
© AW A e 5 2 ATP 2717 B3 =7
D) #ifs fFsfe =g ar
84. T IMM IR FTIRAR HIEGI -1 STTele HiAY :
(A)  ATP T wfRT@l SHYATA
(B) VfRTE! IREA
©  STERFTRR Ve TRAR SR ATP Helid SHYHA
(D) foE! TRAR ST
84. ‘voA’ Uk UHI iR ¥ W :
(A) ATP & ®9 H Sl G il 7 |
(B) il (Energy) @d Bl § |
© TrEH el T et ATP o €9 H He& Y ¢ |
(D) ol Hod T8I B & |
84.  Respiration is a process in which :
(A)  Energy is stored in the form of ATP.
(B)  Energy is consumed.
(©)  Energy is released from food and stored as ATP.
(D)  Energy is not released.
85. JSIFIT FFo I RIT Soiax QBT "R ToT6 (FF0R 39F0 ST 937 ?
(A) oIRGB (B) T IJPTE
Q) 8T U8 757 (D) ®7F3 (A) 3= (B) [01R
SPACE FOR ROUGH WORK
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85. JQIFIR FCF A AT GFC SALTEA ARSI (57 @FIAG7 317 HSHATeT 97 7
A)  Sorafiaed (B) FEARIIONG
© 3NET GFHS T (D) @& (A) 932 (B) 553
85. TifEs werammEme aH™ Jgaf Jea ARy av fafefom, Terf suf e 9 7T ¢
(A)  TRHIH HIQHSI (The mass of the Satellite) (B)  hEITHIM @agi@l (Radius of the Orbit)
© TSI S 7T (None of the above) (D) (A) 3N (B) EIEEC
85. IR el H AaTel Yeat STE Ueh o1 Faiashat frefafad sA-a1 S § frufvefie =& & 2
(A) SIUT F ¥R (B)  HETYY T S
© TRHE S o & (D) FTWH (A) 3R (B) IHI &
85.  The time period of an earth-satellite in circular orbit is independent of :
(A)  The mass of the satellite (B)  Radius of the orbit
(©  None of the above (D)  Both(A)and (B)
86. CuSO, -3 ¥JT QOIS &8 (Zn) T4 fircet F017 (Cu) S SHFG 27 | 21T IR LT
(A) foicss Roie 906 (B) _ CuSO, -3 &R «Ch
© foigws e =B (D) SOF 7 wrEe Risiee a1
86. CuSO,\T IFfb T ST (Zn) T I X, FF (Cu) SLSFHFS 2| 47 ST 2T -
A fos fstaa 9 (B) CuSO, -9 SE [T o
© fSerwa SR € D) SOF AR frstiael <G
86.  CuSO, 1 ArH Setre Jaral fSieh (Zn) 31a BhrEiieett AR (Cu) 371 @e fiHsnes el | S SR Ste -
NIRSEIRCLIREIE| (B) CuSO, 3 AFRIAST
© TS e D) SO3 ST EHEarE]
SPACE FOR ROUGH WORK
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86. CuSO, I I T ek (Zn) H Sed § Cu 319:far S &1 9 FROIT :
(A)  Zn 1 TR e 7 (B)  CuSO, %1 3T fereeroo =ea T |
(©)  Zn o SR T B | (D) SOF 3T I fasTRo e ¥ |

86. When Zinc (Zn) is added to a solution of CuSO,, Copper (Cu) is precipitated out. Itis due to :
(A) Znisreduced (B)  CuSO,is hydrolysed
(©  Znis oxidised (D) SOi_ ion is reduced

87. AT Flovwe! SfEHIT QB Ao, I Rt ASPFTe FWel 38 (TYIR N1 fEeTeia ARG HR9IT F15RS I91 LT
AT FF, ANANEI R
(A) MgBr, (B)  Ca(HCOs), © CaCl, O MgCl

87. e Ffodwl BT QHTH Ael, @G SHSTHF Rt SFHR STes FHeT A (U 98 PreTeld TG0
TR0 0 ST SLSTHS ST 0, AT 267
(A)  MgBr, (B) Ca(HCOy), © CaCl, D) MgCl,

87. & N GRS OFY e, S SRETCRAE. SIS Aidsetl WHAT e fef-er ST faear Teee ame-am
HAETE THR RIS AfS ol Atsraiaral; SgEdl S
(A) MgBr, (B) Ca(HCOR3 © CaCl, O MgCl

87. UM &l HhoRdl e HA ATl T AR, S & Theqor § T T fe@m § i faeer e 59 & 91 9
STV 3T HIT &1 AT (Compound) T :
(A)  MgBr, (B) Ca(HCOy), © CaCl, D) MgCl,

87. A compound, that, causes hardness of water, shows orange-red colour in flame test and gives white

precipitate with AgNO; solution is :

(A)  MgBr, (B) Ca(HCOy), © CaCl, D) MgCl,

UPT-19/P-11/O
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88. TGl I ATCE, (HeTd bIR “131 et
A)  TWERSWfeTe i 77 B) @M=
© ZHAR (D) Q& AT

88. TWol Jim (5IteT M AT :
(A  SHER AT I & ® e

© JPTAE (D) GFZUIE

88. QTSN TS Ieall, YugaH 9 T fafcremn smie :
(A)  TATEIS FHH HeX T (Increases proportionately with temperature)
(B) S (Increases)
(C) @I (Decreases)
(D) TEF UNTH (Remains Constant)

88. YHN gf§ T | Teh @llcish (pendulum) 1 T it :
(A)  TTIH SHT FHIATL (proportionately) ®9 9 gfg BT |

® Ffg
© wEEm
(D) T S @

88.  Asthe temperature is increased, the time period of a pendulum :
(A)  increases proportionately with temperature
(B) increases
(©)  decreases

(D) remains constant

SPACE FOR ROUGH WORK
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89. UWAIAIAS PIRIT 5T STRCST 7|3 I I (20T PIROA

A) TS S B) T TE@T © I girem (D) TIeT 5%
89.  «WAl FIRIF (P TS F[IF FAF TS (I Z00% -

(A) ISR (B) HREIF@E © S eromT D) T=R5ZF
89. T & Al et fordrf | & ARt forafer gm -

A) ST SRAwR ®) et & fafafem

© T TSI (D) T S<IHHE
89. ¥ i fIT ¥ WeS W YUh HLA H HIVA € :

A) TR amE (B) i TR IR

© stk T D)  F&q TfeH (Cavity)
89.  The artery can be distinguished from vein easily by their :

(A)  Thicker walls (B) Morebloodcells (C)  More plasma (D)  Larger cavity
90. TINFU I SW@A @ (&I NorSea o (207

(A) OIS (B) TS © AT D) o wrs
90.  (FNEFY JRIT ST 28T (¥ RIS 2RIIG 200 -

(A) @B (B) OIS Q TS D) AT
90. Tafg e o« argeE fie fSafg fogmn Jefemr :

(A) HIHS (Metaphase) (B)  TATHS (Anaphase)

(© 9% (Prophase) (D) <A'HS (Telophase)
90.  HIfVTSRT Hes T T B ATl HITTRT fa9TSH (cell division) 1 T € :

(A) TR (B) TIHA © UrRd D) fearrd
90. The stage of cell division in which the nuclear membrane disappears :

(A) Metaphase (B) Anaphase (©) Prophase (D) Telophase
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PART - III : Social Studies
(Candidate has to attempt Part - II or Part - III)

[ Candidate has to attempt Part-II or Part-III which they have
given in their Application Form and recorded in the OMR
Answer-Sheet |

31, ik (s YIS “ATBIET, ‘T, “©ITe’ 0 =N F Jonidfget 2

(A) OB SHTST (B) @bt I © 9T ISH (D) @G ¢ofta

31, Hifw @ Jost “Atsier, ‘F=2°, ‘Tae’ i Twesfer & g ?

Q) GG SHEMDT  (B) G5 LT © 9B ST D) 9D (sif@

31. 1] dfeeh eTe  uEe ), (FE ), IR’ Srafe SIkieshT 31 BREERHE 2

(A) I ER (B) TH AT Q@ S (D) T

31. URfusw Afcew e ¥ ‘uime’, ‘FE ],  ara’ enfe wss form ged ® v Ea 92

(A)  TF SIS ®) THEA © THTHA D) TEHH

31.  During the early Vedic period, words like ‘Panchala’ or ‘Kurus’ or ‘Bharat’ referred to:

(A) aTribe (B)  aTerritory (© aKingdom (D) aGotra
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32. ey oR}fe &7

(A)  SEY e oS B) Toa Lo oS

© FIRe (D) eI s
32, FRiER #IF@ 7o

(A) 1B ofFe e (B) Tpd G e

© IS (D) SCERPER e

32. Temrets ersimmE S@ 4
(A) TSI R TSI (Old fold mountains) (B) e R SIS (Young fold mountains)

© el SIS (Block mountains) (D) 31T IS (Volcanic mountains)
32. oo™ e €

(A) UEH afad ged (B) A aferd ged

©) =Afeh geid (D) SATTE! 9o
32. The Himalayas are the :

(A)  Old fold mountains (B)  Young fold mountains

(©  Block mountains (D)  Volcanic mountains

33. ©elo Sed I ISP (FIFU oo S PR Sl SEo 2
(A) ciforssz et B) w3 fer Q@ fofpertfoet (D)  Freomsis et

33. 9 Sty AT ST @ (Seite 8L AT S safFe 2
(A) MO (STl (B)  WEIL (el © foremicwen (D) FiResE e

33.  TIRMEE H@ @ AEMA o« e s sS i sumE |

(A) AR fSieen B) & feem © Tfafgfen fseer (D) REER fSeen
33. e fou e erem o s @ foret ¥ SR Ui Sem srafer © 2

(A)  EiTaq e B) = S © fogfenfsenr () fREErR fSer
33.  Inwhich of the following districts of Assam is the Orang national park situated ?

(A)  Sonitpur district (B)  Darrang district

(©  Tinsukia district (D) Sivasagar district
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34. [FITHTSTCST ©eTd (FICOT 7T \B"(]Qﬂ‘ﬁ ?

(A) SIS (B) SRR © RS D) ©T e
34. fFRMIGET (Kilimanjaro) 6T (19 407 A (0 SHiRa ?

(A ITeRERE (B) WS AKS © IS (D) ©ffwT s
34. foRfeMMSIREN (Kilimanjaro) TR el et ferfaf-er -

(A) ST BTl (Volcanic mountains) (B)  HTeAAH TSI (Residual mountains)

© el SIS (Block mountains) (D) I SIS (Fold mountains)
34. Towrfamsm 9= fau o =F 9 gda &1 Seet € ?

(A) SISt geld (B)  STEfT= wed © Al gad (D) dfed geia
34. Kilimanjaro is an example of which of the following mountains ?

(A) Volcanic mountains (B) Residual mountains

(©  Block mountains (D)  Fold mountains
35. OINOWRTTRICSIE (@i ST 97gd BT 7' :

(A) I (B) e e © AW Srme (D) wFFT S|
35.  GROIA SICE @ S f ST23e7 26t :

(&) oI SyeT (B) TG T ©  ~AFou Srset (D) Wl SgseT
35. MR sRIfgs ot ge S Aty M1 e Se

(A)  FHST A (B) I AHEA © HHE AFEE (D) el A
35.  TRAEY I T HHAT S ST 87§

(A) I aA B) I aA © HEH &= (D) <faoit &5
35. The most densely populated region in India is :

(A) EasternRegion (B) Northern Region
(©  WesternRegion (D)  Southern Region
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36. IO AFEI] INF TSI TIT (T AV (FI SR Biafeet 7

(A) TS comet (B) "WWERAES () INRIFEI (D) TR R
36. ORORTE S FACSE AT LA (F SATAT SRR ?

A) FS.@ o (B) WMol @S (C) IR @ (D) WIS ST
36. YRAIR GEWRM Oram e st gifaat fifsamear S |

(A) GXK. Gokhale (B) Dadabhai Naoroji

(©  Rash Behari Ghose (D) Mahatma Gandhi
36. YRl % foTe ToXret shi BT o Ugel fohe Scemd feman ?

(A) S, e (B)  TTRIE RSt © T =Rl = (D) T et
36. The demand for swaraj or self rule for Indians was first articulated by :

(A) GK. Gokhale (B)  Dadabhai Naoroji

(©  Rash Behari Ghose (D) Mahatma Gandhi
37. fones SefEs sifswett @bt :

A) Ry B) & © s D) e
37. TRIEAE S1FS SIS (Zojila) G

INIIRECRIEY B) A © forfas (D) =T
37. TenretgaE am@ SISl (Zojila) o1 WY ¢

(A)  gITN T ® & © @) frem
37. feurea ¥ erafied Sifsen & e

() femd ® T © - O =
37.  Zojila, situated in the Himalayasis a:

(A)  Glacier (B) River (© Mountain pass (D) Stream
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38. THofaie @as 0 (SIAETe N ©iTed ofolT GHT ST ATBIFIT eTRR1ES “1ge 3

o

fafeer 7

A) EoTF B) TIIR Q) @A (D) oI

38. Tafeii® @[ I (CHIEe TeRed oifexr (BT @ F1R™ F1aT TR “7ifSe FEieE ?

Q) Tees B) W@ Q) e (D) G

38.  TEEM GR fafeer Serst TSR YRAt amfaan <dt 3 S It etz @l e H ?
(A) BWSH (Havelock) (B) ¥ TH (Hugh Rose)
(©)  $Fhd (Campbell) (D) 3T (Outram)

38. Tr=fafed i @ fafes SHe 3 7eg Rd & qrean 2 S S st T aaHiens sl qufsia feram o ?
(A) TEArR ®) TS © Huee (D) TS

38.  The British General who defeated Tantia Tope and Rani of Jhansi in Central India, was :
(A) Havelock (B) HughRose (©  Campbell (D)  Outram

39. TIb ISHU Joiele Row S 2z | 3T SO0 ©fsl 9 Nifge (@16-R2T | el [ S St
Qg

@A) @Io-sreT B) @59

© SIG-m-REE (D)  IB-FICst

39. 15 SIS EfG ©itsl Row T4l 2@fReT | 337 AIPew Bitsd 717 fie] @IHRRE |1 7 Fef4fb i 7oy <t 2
A)  @TE-TrsT (B) T3
© sIRb-@n-faE D) oIS

39. &9 UESE G SRFIE T SGHH | A6 & 9 TSl & = foaRr g7 St | 9 & = Tegsira q/
A ST ?
(A wHE-uN (B) H=AMR © TERE-®E R (D) w=-EN

39.  hrd TSI I S WA H faaifed foren ) ufveeft v o1 AW e foer an1 gl Wi R e A g S
T 7

(A)  HE-S (B) HETR © TERE-HE-fIER (D)  HE-TE
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39.  The Koch Kingdom got divided into two parts. Western part of the kingdom was known as Koch Bihar.
What was the Eastern part ?
(A)  Koch-Bhajo (B) Koch Nagar
(©  Guwahati-Koch-Bihar (D)  Koch-Hajo
40. o SEARG (@FFSH B NRCE MR F5TAFT ATF[S 900 Show 7
(A) 1.5 w@E oAt (B) WOWT 23T
© T uE.fk @S (D) =T SH "Rl
40. oA SEfie @ TRF TEiEmIET 357G SE e T Sifve 7
A KK wEm SR B) THWR 2ZeR
© T° IR.fo. [ (D) T S wfrer
40. TEMEIE B R AT He-sieR ' ARIR fog—rma ares € ?
(A) IR 9. SIRM TR (B) HIEHR &R
© = emfe oAt (D) 9N S AEid
40. TrefafEd § ¥ oF Oesics! TR & TfTshR & @ 9 € ?
(A) IR, . TIRH W (B) -~ HIfEHR Fier
© S AR €L Ssi (D) ©X S ARfd
40.  Who among the following is associated with the discovery of the city of Mohenjo-daro ?
(A) R.B.Dayaram Sahni (B)  Mortimer Wheeler
(©  Dr.R.D. Banerjee (D)  Sir John Marshall
41. ‘SIS’ - AEfEis @aed fdle paea 556 Sioe ke ?
A) - RS (B) HETSmA FAferfs
© R gE Grae D) fowT @iy
41, ‘SISt ST’ TEld @ el T Sihbe &R  ?

UPT-19/P-11/O
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41, IfcE @1t TREE S feei SR gardrtsi 9Eal T 2
(A) wEER-fo-gud s (B)  TTcTRiEd faafs
© TS EREd's (D) fowr<tafe
41,  ‘Ufer SuEIH’ 1 9§ feoe goar & @1 S § ?
(A HeHe-foA-qers (B) FTREN faest
© TS o qierh (D) Tow=T e
41. The ‘Padmini Episode’ is connected with which Sultan of Delhi ?
(A)  Muhammad-bin-Tughluq (B) Alaud-din Khalji
(©  Firuz Shah Tughluq (D) Sikandar Lodi
42,  BG A FISF TSI I AN T TSI (SO FAT o1 927 7
(A) 3 OB TRATHHS LS55 |
(B) A TeoAifie TSN ety fame F6F |
© SNRI ISCARSS STHIFIH IFIF I ISANST CFAATS 3, 3G BT ofeTd FF |
(D) 2o FoT® U2 NGEIE (e AT FF |
42, QT TR I N0 PR AT ST R @IFBTE 5o 3 2
A)  aff 96 TAMET 572515 |
B) AT Sesifits TR yer g F |
© SISNYER TSARST SHFE[T AMFT TS A (A oF (F@ I BP9 BT AT FF |
(D) AT TR W% NoBfeT TaI8 ooRwT I |
42, @' FIEE MeehR e o« 29 wefafef-emn 9 75717
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42, T A HA F et & el gonett & 9 § fefated wF @ e @ g2
(A) 9% T S T TS T
@®) fiee senfed Tt & geai 1 fa= & §)
© TieSl (F8) & TsHfaes SHmRiaT B % SR TSifash &3 H 3 Teh Hewqul JfHert o qre i & |
(D) ogd ¥ 7R # 3 fireg g1 off o)t o €
42.  Whatis not true about the functions of guilds during Gupta rule ?
(A)  Organization of production.
(B)  Guilds controlled the prices of manufactured articles.
(©  Guilds were politically ambitious and therefore played an important role in the political arena.
(D) Inseveralcities they seem to have issued coins.
43.  OoTo SfHfS NRRIET (@IASH SIS ALHTHS AT SIS ARewiT Jef =ief o7 37 17 2
(A)  an.fs. Tt (B)  ~if&&T IR
(C)  ToIsiIeT Sicel=T SIS (D) TSRS et
43. @ Stafie WG @ TS STLFIIE AT SIS AfopTer Ieit @o 2 ?
(A)  aN.fS. FIeS (B) TG IvRE
(C)  TSMSAIST STTelT SIS (D)  TSHIRSAT ¢ Cel
43. TR TR HERTE M R TSl TRATSTIRE! JTeHT FHIS TREE-RA TR <oARTR 2= -1 8 ?
) TEMN e (B)  Ui<dl THETE
(©) TS T SANTRHR D) Sa'fasn Fel
43. Trafafed § 9 merme & forg THS R S WA TS % & Yiqsde wgl Sl ¢ 2
(A) THSH TS B)  dfear THmETE
(C) T OIS SRR (D) Sifaen Fal
43.  Who of the following reform leaders of Maharashtra was the chief architect of Prarthana Samaj ?

(A) M.G.Ranade (B) Pandita Ramabai
(©  Gopal Ganesh Agarkar (D) Jyotiba Phule
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44, O (PIFYF NS0 rETl CS\{VTGCWW ?

(A) 28 TR (B)  GeGH wRTIsIT

© o= EReTeE (D) e NERTeE
4. ST @ TG GRS (S ST T 2

(A)  STIB TSI (B)  SIGeIfGF WIS

© N TR (D) ©IFe TZETeT
44, TR e AR TARS iSRRG A S

(A) T ereiE (B)  STSaf<eh Tl

©  ghEE e (D) ¥R oeimn
44. = fou U HF | FRER H wARE STAER uRl S § ?

(A) IS HEHIR (B)  3Tifeh HEHNR

(©)  3ATehfcsh HEETR (D) - fég 7R
44.  Florida current is found in which of the following oceans ?

(A)  The Pacific ocean (B) .. The Atlantic ocean

(©  The Arctic ocean (D) The Indian ocean
45. (IS SN ISR FRT IS0F AP 716 3016 #f3ers sfafer 2

A) IR (B) =Fuber O SRS PR (D) oot Bieg
45. T3 SRV IS FRIAT TS 1o SfEse aretite “foe s 7

(A) =R (B) u Biex O TRS 187 (D) oo B518g
45. TR 3TEH ST HHMR TS ifthd Afdar Tent Tevafife GremeRRiEm ?

TN | ®B) ®=fEg © vIwES fHE (D) vdm f&g
45, Trd 318 TS A FHERT TS ! ATfYar Hieen T & €9 § qRom fohan ?

@ T ® w=fue © St g D)  Fam g
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45. The Ahom ruler who first to turn the Kachari Kings as Thapita Sanchita Raja was :
(A) Suhungmung (B)  Rudra Singha
(©) Jayadhwaj Singha (D) Pratap Singha
46. TF ST SWSFAT WIS ST 2’ -
(A)  TRINSHE SPiLehs (B) ST BPITSRS
© W3RG-BEFA Spikefe (D) @FF 9OI8 727
46. 93 (Mantle) ©< SBSFTETT NICIT T 267
(A) T 3pTesife (B) FIT IPLsIfS
©) RG-S THATS T7Lsifs (D) THET QB3 Tt
46. TMHI (Mantle) TR BT (Core) TSR Towman Sem
(A) ¥'TUMES fegwfefsie (Mohorovicic Discontinuity)
(B) IS feHHA3e (Conrad Discontinuity)
© a's%rré—g%qaﬁ feqshrfefTsfe (Weichert - Gutenberg Discontinuity)
(D) TS Hde 7T
46.  STERU AR STV & o<l &l 1T
(A)  HARRIfafae® sl (B) HAS FHS
(C)  ASAR-TA SHagal (D) T ¥ &E o 7
46. The boundary between the mantle and the coreis :
(A)  Mohorovicic Discontinuity (B)  Conrad Discontinuity
(©  Weichert-Gutenberg Discontinuity (D) None of the above
47. TOORL FONAT OFFARLT T CifeeT
A) SIS B) e © TeIIE D) @RS
47.  RTOEA FONTET BiFall @R Sigs e ?
@A)  oIRbite B) Foifst® © TsEReE (D) REET
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47.  dgIeHM HHel arf oA TeRE! JE e |

(A) TERERE (B) TIEE © I ET e (D) SEREAE
47. AT H1 FHHC AHYH ARG T S §

(A) TEEEH B) EH © SWamAH (D) “ARGH
47.  The Kamauli Copper Plate Inscription of Vaidyadeva was discovered at :

(A) Guwahati (B) Nagaon (© North Bengal (D) Banaras
48.  «e [qAT 7o ¢

(A) el Sigfes eirerabia B) TELhT IR

Q) 9T AT SIS (D) ®7[T qbIe 957
48. Qe AT (El Nino) 3 :

(A  efb SNghed Aqieeibi (B) TFGNT SWS!

© 9OFAFFNLS D) AT 9B 77
48. 3 T3 (El Nino) & :

(A) ST TR S G 38 9T (B)  SITCTRTHIN S

©  HHY @ e (D) TS HEa 72T
48. AT :

(A) T TSI SRR K a1 fafa (B) YT 1 & (stream)

© T YRR H (D) T A RE ot
48. ElNinois:

(A)  Aring-shaped coral reef (B) Astreamina desert

(©  Atype of mountain (D)  None of the above
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49. ‘[ @S IQ @F T29 Ffget 2

(A) TN (B) T T BT

© IFFBIF SIS (D) et (o) et
49. ‘R RNEFIQ @& I67 A ?

(A) ¥l msTE B) X IR sl

O R B Il (D) ST (SRS IFT
49.  ‘Buranji Vibek Ratna’ @l HR TTHESIHM ?

(A) IR aH (B)  GSIHUR ¥

©) T I SRYSR (D) USHTY RIS S&el
49. ‘ST oot fohem O L ?

(A) ¥RE feam (B) T FER gz

©) T I SRYSRI (D) USHAIY TTRls &
49.  Who was the author of ‘Buranji Vibek Ratna’ ?

(A) Maniram Dewan (B) ..SK. Bhuyan

(© HK. Borpujari (D) Padmanath GohainBaruah
50. OIS (FFUF SPINIT TS fro e gas SRR SrKiEs 3977 T (20T 2

(A) W (B) TI&S © e (D) I QT
50. SICHF (FIF ISP ST faoly Regrad FIRAT SRR I FT JEe 2

(A) TN (B) S © Teew (D) A TGS
50. TR Se WA ST Tet W A ek et e sHigAe € 2

(A)  HRH B) W © ™ (D) AT TR
50. freAfafEa S @ ewfaan Su=g fadta fova g =it Fert W | € 2

UPT-19/P-11/O
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50.  Which of the following Assamese novel is based on the 2" World War ?

(A) Makam (B) Mereng (© Jangam (D) Katha Ratnakar
51. OTRISHed ot Jaey =00 2°e

@A) I (B) TOEATY © = (D) 87<T I8 F27
51. ONASHTed frol gxey o420 =7 :

) e (B) ZSEANT © == (D) TR QO3 T
51.  HRERIH 3 <H wee S :

NI (B) EH © wf (D)  TirSi H&e TeT
51. HRHSd ® T feormeras e & -

(A) FBHld (B) IOE (EUULE) () WM (D) T § &E o 7
51. Thesecond largest planet of the solar system is :

(A) ~ Jupiter (B) = Uranus

(© Saturn (D)  None of the above
52. O (@FAF IT7@T TGRS SAFAT 7

Q) EIRERE (B) T Q@ s O) IR
52.  SICbA @A IReL@ IR TAFAT 2

@) IEITE ®) e © fore D) 6! ffke
52. TITERIE BT o SRR SHI <IE Iremme <

(A) gaAfaR (B) wfufa © fe=i O) e € ()
52. = foU TG A i SRIgE i GO 9 Yo Tl © ?

(A)  goArad T (B) el I © fegin =& O) dfe fefén <t
52. Which of the following is the largest tributary of the Brahmaputra ?

(A) Subansiri (B) Kopili (© Disang (D)  Burhi Dehing
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53.  ‘Poverty and UnBritish Rule in India’ S349 (7 I=4]1 i ?

(A) T (B) RPF vm et O MR ASST (D) W ST
53.  ‘Poverty and UnBritish Rule in India’ TG (F T57T PRSI 7

A) oI I ® RPEsTEE (O wweR @EST (D) NGNS
53. ‘Poverty and UnBritish Rule in India’ forsmerat feagiam |

(A) FIE g ® foftm == @ © <SRMEARUST (D) HIM M
53.  ‘Poverty and UnBritish Rule in India’ T T+ 1 ToHT foh i ?

(A) GuEEg ® ffEImTa (O <RME IR (D) FegHm
53. ‘Poverty and UnBritish Rule in India” was written by :

(A)  Subhas Bose (B)  Bipin Chandra Pal

(©  Dadabhai Naoroji (D)  Madam Cama
54.  ATBH SPWR I IBF G ISTSH @1 SNifeeT 7

(A) s B) T Q ofoHd (D) ©rFI P
54.  ATBH ST IH IS (13 AT (& T ¢

A) o B T © oo (D) SFFIHA
54. TG SATE( S WeR siaen G 9rEE ?

A) T I B) ey © HaaH= (D)  TshT SEA
54.  WTEHA STEH o oHA o1 h SHfH T B 9 2

A)  gHATHT (B) e ©  yfd = (D) R A
54. Who was the last ruler of the Varman dynasty of ancient Assam ?

(A) Pushyavarman (B)  Sriharsha

(©  Bhutivarman (D) Bhaskaravarman
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55. ©61F (AR Y SIT0ING ASSaeAT GpHT o @5 7
(A wWE-@ (B) W forewa - WLy WG
© FRF - N forees D) TF - =TT
55. FIBA (19 TS GO 4SS AT A I 7
(A) TE-@ (B) ¥ G0 - WL AT
© HFRF - 755 formT (D) A - CTULE
55. TR ae T vRae i SgHifT seire e
(A wE-H (B) TR fedwRr - TR "
€ TR - ToR fedmr (D) S - ¥R
55. i QU U A 91 99F YRaa™ § JeAred-t HEH g HET S © 2
(A) = - T B) " fogwr - e A
Q) FTRT - 7 feaw=Rr D) 3 - f&aq=r
55.  Which of the following is the period of retreating monsoon season in India ?
(A) March-May (B)« Mid December - Mid March
(©)  October - Mid December (D) June-September
56. GITOI NI Y IF T3 NYTE SIS NIS1o THIAF ATLH 274
(A) 69T (B) 49D © 5% g0t (D) 790t
56. GIROR 2N S 3 RSB N SR H 1Y 267
(A) 69T (B) 49T © 5% gt (D) 79T
56. VR AH ¥9 3T WHged o) §A Ted §89H 6RET S6
(A)  6F=T (B) 4T © 5% il D) 75
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56.  {RAE A GHF AR W= HeATE FIcl o o THT T AR T

(A) 6¥U (B) 4¥U © 5%@% (D) 790
56. The difference between the Indian Standard Time and the Greenwich Meridian time is :

1

(A) 6 hours (B) 4 hours © 55 hours (D) 7 hours
57.  AREQT ISP Sgfos e @I-T Ameeid! el orifsffosaT siifige -

A) T3S (B) Mfeg © orFF (faen) (D) JIS=MREF
57.  S{fRQ (SNTETRIR HFhod KW 40 @H SO (SHifesaT IceTed ?

A) TSI B) ofeg © wFF(fmem) (D) A=W
57.  SgAM geR HeXM WM< g fifs yRaiR s fafiamfiiE IrEm

(A) TR (B) FmNg © R () (D) =EfAfeT
57. Gl & TMeld STehfd o fowa § sier ael 9oW IR @ fodmt o ¢

(&) S B) swwg Q@ "R (@) (D) e
57.  The first Indian astronomer who said about the spherical shape of the earth was :

(A) Brahmagupta (B)  Aryabhatta (©) Bhaskara (II) (D) Varahmihira
58. ‘GI30IA’ GoTo SraTdl Faf SRCFRO (FIFOR S 7

@) FEife B) T © = O
58. ‘OIROW’ FEffie @H ad Sofax 7

@) s ® © = O
58. TSI TEMETE Y& & TEhHRM d¢ HiAAH T8

UPT-19/P-11/O

(A)  FEEfd @) @[ © TR D) Iu

89

P.T.O.



58. 2T A Seoi@ TRt U U H & ferwrent Suve 2

(&) e ® = © T © 9
58.  Titanis a satellite of which of the following planets ?

(A)  TJupiter (B) Saturn (© Venus (D) Mercury
59. IS BB BolF (FRE (517 INSET ST 78 Bl 5157 FF 7

A  FEG (B) SIFCSH Q) FRITIEZEEHET D) ='SH
59.  SIeA XTI S @19 sTITD IR TETT o1 78 ©lsT (ofd T 7

A)  TEGITSH (B) HFCSH © FRATERSHZT (D) S&HF
59. 3T HeL TR osl TH SHAUSHT 78% i Sriral < :

(A)  TEESH (B) RS (©) e SEFES (D) A'SH
59. STIGA o fedme § e feu 9 O 9 agHved % 78% 9T fmier s € 2

(A)  TEgNH B) A ©) e SEES (D) 3=
59.  About78% of the atmosphere is composed of which one of the following gases by volume ?

(A) Nitrogen (B) Oxygen (@  Carbon dioxide (D) Ozone
60. TITO® (FFIF IGH FIFS (1T AT AFIFS 2T 2

(A)  TheBengal Gazette (B)  TheCalcutta Gazette

(©)  TheIndian Journal (D) TheBengal Newspaper
60. SICSA (FIF TLIMAG AL AH1FS et ?

(A) TheBengal Gazette (B)  The Calcutta Gazette

(©)  TheIndian Journal (D) The Bengal Newspaper
60. TR el HIY erel foretgdn YRt fifsfa e forers ?

(A)  TheBengal Gazette (B)  TheCalcutta Gazette

(©) TheIndian Journal (D) TheBengal Newspaper
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60. 9RA T T T THNER I3 Tl Tgel FehIfvrd gam ?
(A) The Bengal Gazette (B)  The Calcutta Gazette
(©) Thelndian Journal (D) TheBengal Newspaper
60.  Which of the following was the first newspaper of India ?
(A) The Bengal Gazette (B)  The Calcutta Gazette
(©)  Thelndian Journal (D) TheBengal Newspaper
61. TSRO MRLET 25 (F) [21 - A] S C0=% G611 (FFCOT CFaAF 1576 oo ?
(A) T ST (B) Frsiw SfFE
© B ARSI (D) SV S HHFIF
61. RO ALRUET 25(F) [21- A] S0 Feba @19 R 57 Sifow 2
(A) s ISt (B) - PFrtg STPIF
Q) I LI (D) OB S LRI
61. NG SRIGH Wietsar] gl 21(F) 3T TR o JiTsil SHral 1 2
(A) ST AR F @ WA= (B)  HciiensH R
©) wEfEf drerg () IREIPEIEIRIE RS
61. YR TTEM % 21(F) TS & ded = & [ & & 1o grafchd ¢ 2
(A) T gl (B)  T3re <h1 AfEreRR
(© e il YR (D) <A S 1 SARIHR
61.  Article 21 - A of the constitution of India is related to

(A)  Food Security (B)  Rightto Education

(© Rightto Health (D)  Rightto Information
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62. ‘TIIFH SIBFUT (T TFAS 576 SMoS 7

(A) B cva (B) FHTFA © @rfe e (D)  FHRE Y
62. ‘IR AT @FF CFad I L& ?

(A) Frecsa (B) FTFCFA © ol T (D) FHILEH (8
62. “Kayakalp’ foerifiean <1 i ?

(A)  HiciiemE wrersi (B) HEH @IS

(©) THFE 3TICd SRS (D) g ARSI
62. ‘HTAThTY’ IS fRE & Y T © 2

INERALIICES (B) WA S © v faw (D) HHGEIH gie
62. ‘Kayakalp’ scheme is associated with :

(A)  education sector (B)  health sector

(©)  skill development (D) __employment generation
63. BT (FIFO! SFS SITOIF LTI FIHENIF! AT (Fa® T70 T3 7

(A)  odreT (B) « Reifpig dwrg

© fefereE (D)  WCATCTIS ST 2B
63. A3 @F Taiefb BRred M A GEHIF ARIBETE (F@ BIT 27 71 7

(A) AT ®) Remferase

© eferarez (D) NCAICITS JFH T ABIT
63. TR 98 HIH WIf-2/1 YRA SRR TerarH=IR Se{ SRR fEare SrhrsmaT ?

(A)  Question Hour (B)  Privilege Motion

(©) Fillibuster (D) Calling Attention Motion
63. frafafad sF-w gomelt 1 YRa % Hog sifereeH % wrisn § 71 T S § 2

(A) T 1 FUT (Question Hour) (B) Toforerst A (Privilege Motion)

(©  TwfeTeE (Fillibuster) (D) EAMEU-HRA (Calling Attention Motion)
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63.  Which of the following procedure is not followed in the business of a parliamentary session in India ?

(A)  Question Hour (B)  Privilege Motion

(©) Fillibuster (D) Calling Attention Motion
64.  RFAUICEHD 2T :

(A) QAT pOTNIED B) W[ Koy o

©  (A) = (B) [eOHF et D) (A) < (B) AR 927
64.  RIRSTANIED =67 :

(A) GG AN B) T ey @FE

©  (A)9ag (B)yag fee (D)  (A) 932 (B) FHILR 77
64. Hypermarket 3T S6 :

(A)  HFY YR Jehe (B) - HIFTH fIwIR e

©) (A) 3R (B) Hi=sl D) (A) 3 (B) HI-al 7T
64. BIEUHRRS € :

(A) T G (B)  TH R R

©  (A) SR (B) <l b1 fargwr D) (A) iR (B) T T
64. Hypermarketis:

(A) asupermarket (B) adepartmental store

(©  combination of both (A) and (B) (D)  neither (A) nor (B)
65. W RIE?

UPT-19/P-11/O
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B Frxee Affers @ ST Rone @ bt 417e e |

© FryTe afafste @ aEFs bt 4iacet ey |
D) FrxEe b Ififsts @@ =T bt AfafstE @@ bt 4iacet i |
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65. T[T ?
(&) @I IS BeFBfel STOR SIS BT (AF O 417 @ |
(B) W IR IFIEHS 7Tt SRS TS I3 HIFT 419 o |
© IR AT FFS SEFE T €17 o |
(D) W@ Q0 FffenE 51T S5 9T TISTS I5T3FE DT 417 G |
65.  Siehf B AM :
(A) AR sienatl 9 RSTe SR %mE 1 SER @™ BR |
(B) HIEINTAR SehaT YRAT RS Sl 3™ BR |
Q) IR ST SR T SRR ARTRRA! 814 81 |
(D) MY FIARTRIR ST TR HAY IR S T 2™ ER |
65. S A HE?
) 58 goa ® aiftiisaes S ard it S 9§ 59 ot o © |
®) 58 R Y aifofsaes S ard st S 1 €9 st od € |
© 58 3 afofsaes o, oo il 9 sl o 2
@) 58 R G aftfaes s, TR T A0SHe s i T3 9l < & |
65. Whatis bank rate ?
(A)  The rate at which commercial banks borrow money from the Reserve Bank of India.
(B)  Therate at which commercial banks lend money to the Reserve Bank of India.
(©  Therate at which commercial banks lend money to the customers.
(D)  The rate at which a commercial bank lend money to another commercial bank.
66.  FISET yat N 4T JaIF (T2 :
&) ey ®) e g © et gar D)  (B) = (C) 7BiR
66. OIS JuT €L Ay JaT =67 :
(&) = 5@ ® RiEe gar © et gar D) (B)93R(C)TL01R
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66.  Currency Notes 3T Coins Y ESRISIEIE

(A)  Flat Money (B) LegalTenders (©)  FiatMoney D) (B) 3 © el
66. TSI ! HeT IR Taesht HgT 1 el a1 e

(4) R ®)  ferie ga © fEREE (D) (B) ¥R (C) A
66.  Currency notes and coins are called as :

(A) Flatmoney (B) Legaltenders (©) Fiatmoney (D) Both(B)and (C)
67. SEPTRIF (511D ([ TLCATSH SATBF AINCS 28 I VO 27T

(A) S SN RS @9 (B) dRG

© TR EL @ D) TR RS @8F
67. STAPTRRE (GBI BISF TLSH FHMS AT #7901 F41 HATDIAID 267 :

(A) S S f{EET BIeF (B) TREG

©) TS COh BILH D) TREON oIS [T
67.  ‘Self Help Group’ 311 sihsil HIHI=I SATRISIFAR™ HH ST STa :

(A)  STEM UTHA TR s (B) e

©) YR Ve dH (D) ¥R RSd sk
67.  TcH WIS T4 1 ek TATSH A1 o1 TAYLT Fat hiarell HeM ¢ :

(A) 319" I faeR S B) e

© YRdE Ve d& (D) R Red o
67.  Self Help Group Bank linkage programme was first launched by :

(A)  Assam Gramin Vikash Bank (B) NABARD

(©)  State Bank of India (D)  Reserve Bank of India
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68. ©INOT (PRAT IS fia-Sl [T WeyeT ®ieg ?

@ 5 ® 7 © 17 @) 19
68. SIRISA I ACST - [RLTATIT MR ?

@ 5 ® 7 © 17 @) 19
68. WG HIToE TSI e g w2

@A) 5 ®B 7 O 17 D) 19
68. WRAA % oo T H fg-we faum dea €2

@ 5 ® 7 © 17 @) 19
68. Inhow many states of India have bi-cameral legislature ?

@A) 5 ®B 7 O 17 D) 19
69. TR PG SO NSTS @7 IR 727 ?

Q) WO gEie T (B) B3 2ol F1

©  dioyar sifs st (D) =9 =
69. AItba @D SRS SIS I3 a FIY 7 2

(A)  REFE gk TP (B) " Il oitCAT

© Ao quld (@I ST (D) e (=
69. TR oel HITET YA STel sfehf= G ST ©

(A)  Custodian of Foreign Currency (B)  Printing of Currency Notes

(©)  Issuance of Coins (D)  Controller of Credit
69. e T HH-| A RSTel oo o1l TE © 2

(A) SRR HET T ETH (B) T HEU HLAT

(©)  TH=R1 H=T1 T=me (D) kU fER
69.  Which of the following is not the function of the Reserve Bank of India ?

(A)  Custodian of foreign currency (B)  Printing of currency notes

(©)  Issuance of coins (D)  Controller of credit
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70. RO (&FIFUF ST oA ©lFF fofew stoq Fat txfiget 7

&) TEE B) SifEErg © &g (D)  TPICETS
70. ©RGA @F ASHH o o fofers sifve zafs 2

A)  WREE ® oAy © = AT (D)  FTsiTeTie
70. WA F& WY Tesien fifoeaf amem ek fafie amm e SeiEe ?

(A) IR’ B) dHEAE Q FYUYE (D) FNATS
70.  RASY < fohd T hl GLH AW 1 STTERYA AR TS foram T o1 2

(A) HENTZ (B) diHeTg © Y (D) FTFIE
70.  Which of the following state is formed on the basis of language in India ?

(A) Maharashtra (B) Tamil Nadu (©)  AndhraPradesh (D) Nagaland
71. OO (@IFAF ST BiTed fooge G160 A1fF S ?

A)  FIMGF (B) & AT Q)  ~FeRRsst (D) LS
71.  ba @ Fr5015 BFed FHIHF CTHT SSoie $ 7

@A)  FATF (B) H AT © siFouam (D) ATLAS
71.  ARAH o6 WY TS St 91 fog=ma S ?

(A)  HERH (B) ITY U ©) I= AT (D) FRE<
71. Trefafad feg T3 § vrded & waifd @0l saks 3 § 2

(A)  leR (B) YUYW ©  uf=H s (D) ¥REsS
71.  Which of the following states is the largest producer of gold in India ?

(A) Karnataka (B)  Andhra Pradesh
(©  WestBengal (D)  Jharkhand
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72,

72.

72.

72.
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SIS MR O HPTB! T5FE To1F (FIACGT BT B 7= 7

)

B)
©
D)

TIIOT MRS T HPTHI ST 7B SAS GBS SIS IS AR S TLFoF FAGo]

SARE® By |
TV SPI0I SHSTO R STHISTS bfeT AT AT/ SNZAT FIFHo Mg |

T - SR STFCETt TG MBS sifaaw 70 Spibls 7iat Afyeifers 23 |

TV IFPIo! WS 5if5e Frrg TS ifam shyza [y, srifadias sie T3 wwef 31 |

SO MLRAT T SPoI0! ST [Hbd @FF 510 3w 77 ¢

)

®)
©
©)

SIFSR ML RTHT T LI Had A BT SHSI SR IS - A ARSF QIR F [oF FRTo!

ReE FE® |

IV FPI0! SASINS ST 5ol 2R=A15M HIZAE FIFho MR |

Tad S BIETH ST FRG 1T +ITam I8 P67 =T Abifers =2

TV SPIOIF H0o 51f5® TG =17 <ifam siyead R, SRS 9ag TR wiel x|

YRd Blere Giefsat 6 &1 g snfesen et o« 99 wRAEfRT 9r T ?

GV

®)
©
©)

AR BRI 6 T4 SR F1-HEST HRAM SRR SHISR, TSE-2r= ST FREeni e e
Werred! @ Qe |

6 T SHET SFSTTTRR THISTE M6 Me T SRS TR THET ARG sTerH] JRTE g |
BIESIES ﬂmﬁ"ﬂﬁﬁﬁmwa% (Autonomous Councils)tl'ﬁ'{@ 6qurﬁ%'quaé:‘ﬂl

6 T2 SwRI aNTfsat el e sierg (Autonomous Councils) RIS MR 3T SRS, HEE: 3THR
AR TSI Tt o |

IRA o Hfau™ &l T8 ST & FH=fafed sH-H 3fa 91 & © 2

)

®)
©
©)

ARAa o Hfau™ 3 73 ST & STIHR 9N o SWR-Yaiad o SISl Sl FHTeh-TsHfdE 31K
Gieh e TR ht &1 LA § |

S ST T ST FHIST ol T i shi GRET o ferq wiehfa < €1
TS TG o q8d TRR ARAaY o S-Yarad o G W e aReg i Tod Hd ¢ |
TS ST oh ded TR T I IRES i faem, el 3R =1 &an St Te i ¢ |
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72.  Which of the following statements is not true to the Sixth Schedule of the Constitution of India ?

(A)  TheSixth Schedule of the Constitution of India ensures the socio-political and cultural autonomy of
the tribes of North-East India.

(B)  The Sixth Schedule recognises customary laws prevalent in the tribal societies.
(©  Allautonomous councils of North-East India are governed as per the provisions of the Sixth Schedule.

(D)  The autonomous councils governed under the Sixth Schedule have legislative, executive and judicial
powers.

73. WITOT (PIFY ST AVW ABITO! ST TIES ADAT S48 FN =Y 7

(A)  =PW ® == © JroES D) “@7

73. SIS (FIF AITSH ABITS! IS IR AN 25T RJ7?

A) W ® f@=e © FoEH D) A&

73.  YRA TRIGSTE o6 HIMY TESiIeTe T-aisid ISl GATSal Hifeiaid 2

(A)  SrEE ® fowr © TSI D) TS

73. 9N % Th9 ToF H e IS SFere Teer ST foram 731 © 2

(A) 3EH B) fa=r Q@ USEIH (D) G

73.  Which of the following states was the first to adopt the Panchayati Raj ?

(A) Assam (B) Bihar (© Rajasthan (D) Punjab

el a Sl e

74. ©lTod 24 ARG Afssgare fofe oo et SR 27 ¢

(A)  RETERET o (B) (2T OHIST I
© v e (D) o onf¥

74. ©RCGK AW LIS sfiFgmTm fofs Retw @aar st (model) 24
(A)  TARRCIE ST (B) TZAT GNIAS el
Q) T At (D) STRISIF srore
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74. WG TRRM GfY o1 SERIR faeifeal TMemEf 99\ Aeaf S dmE SeiEe 2

(A) e 'fo¥ Hed (Mahalanobis Model) (B) T THAR HeA (Harrod Domar Model)

(© 3R WA (Harris Model) (D) T #ee (Gandhian Model)
74.  IRASS 1 GUH G=H S GRATSHI oh1 SER HFRL Telel HiSel of :

(A)  HTERTGE 1 He (B) FES IR A

© TIRE AfeA (D) TiEeTE Afew
74.  The firstfive year plan of India was based on the model of :

(A)  Mahalanobis model (B) Harrod Domar model

(©  Harris model (D) Gandhian model
75. R ABIRE AAfRFEaiE e @it sy e

(A) 2010-15 (B) 2011-16 © 2012-17 D) 2013-18
75. @I AL SAfeg oRe STH-6reT :

(&) 2010-15 (B) 2011-16 © 2012-17 (D) 2013-18
75, fSife s SR foerfen stafiam e w6 s

(A) 2010-15 (B) 2011-16 @ 2012-17 (D) 2013-18
75. ISR U= o1ftish IRETSH i Hreire iy :

(A) 2010-15 (B) 2011-16 © 2012-17 (D) 2013-18
75.  Twelfth five year plan covers the period :

(A) 2010-15 (B) 2011-16 © 2012-17 (D) 2013-18
76. SIS HIATCET ST (P SSRTIR e ?

(A)  wErer B) 23y © @IIW (D) s’
76.  SAWPESIA GIRG 2 (& AT BfeT 2
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76.  Concept of Utility qrTEE! AR @R IR :

(A) RS (Marshall) (B)  feo (Hicks) (C) SFU™ (Bentham) (D) T (Gossen)
76.  SUAATAT G0N oh1 Heiqer ferd gafdd feman o1 ?

(A) AR ®) few © ouM (D) e
76.  The concept of utility was introduced by :

(A) Marshall (B) Hicks (© Bentham (D) Gossen
77. 2011 I¥F CETIHTET ST SR [SeT(@3A [Goae S+ FrFole 2 I3 fSefriq e :

(A)  Bar B) @ © ewEsi (D) ot IS
77. 2011 ST SHseT ST SR (Sreriesfera Nies Sy Treqed 217 AT (STl =67

a) oare B) 43 © uEs (D) four zPms
77. 2011 AEUEM 49 9ME Afcd M Seem®RM TSR Jafigsdl SHed ol TR gy 9eel 9™

IESYRISIEIRE

() f= B) yId © R (D) fem-zmm
77. o8 2011 St STUHT & STHR STEH & foiell § § Fei Felf-Te Herar s gfaera e €

(a) fe ® g3 © SEEIR ) fem zmER
77.  Asper 2011 census, the district having the lowest literacy rate among the districts of Assam is:

(A) Chirang (B) Dhuburi (© Udalguri (D) Dima Hasao
78. IO SITGET CFa® [FFTS (PO O 8% 7

UPT-19/P-11/O

(A) ST SITGITEF 53T AP TOI ST GF(F5d 2 |

(B) TSN SOIEF BIBI TRRHFUF TG oFfoq 2'3Z &1 |

Q) TP TSI 531F AFhos ool ITolfEF 23 (N |

VY a2

(D) TSR SIeF® AL SIFIFT e Frf 515 |
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78. R slo@d (F@ [ARfeie @1 o6 8% ?

(A) TSR STSIF TAFF AF RS5OSR T IF TP 27 |

(B) TR sireifz sTaTEa TG fafis s 3res 2@ |

© T ATGIET STRF AP o5oel[ TSTolzs =7 77|

(D) TR SIeE TG Twra T 1% |

78. IfciATH=IR HRER GUEATE TERH o6l HTH sy e ?
(A)  TifeamE=R ERER e Jhdd’ i GRer aHeEs |
(B) el HRER Gergare ferer wfefsid enemi |
(© eI HRER Grsare TS f-2@ o= g7 |
(D) T FH=R GRER Gergamd BRI getae ' gee s |

78. U GHIA Yumell TR H frafafed sm-w sfaa wgt & 2
(A) T HES JUMCH SRR FHI TH{TTd €9 § ThHIEH & |
(B) TH THT Yorelt TR Ffv=d w9 | e fofea wfaum @ g1
© T HHI TUME! SRR Yhiaid €9 9 USThid T8l aid ¢ |
(D) T TH YUIetl TLhR o T Teh AHER ShidTereh ¢ |

78.  Which of the following statement is correct in case of a parliamentary form of government ?
(A) A parliamentary government is always unitary in nature.
(B) A parliamentary government must have a written constitution.
(©  Aparliamentary government cannot be monarchical in nature.

(D) Inaparliamentary government, the head of the state is the titular executive.

o/

79. ©cld (0T BiTeIT BT (Faw AIST 7

laSlaNey

(A) o= B sficery, [od @1t siafe (B) SWiFsifes dfofig

© O TSIEI WS TG e (D) 35T UBI8 ©7 92
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79. 63 @R Rl SRS HRI5A7 oF @ ATrss ?
(A) AW FF (s oA 2830 i
(B) SWIFHies dfsing
©) SRS TS Feo! A1g#ifea 59
(D) THET QI3 T
79. TR el HIGA HRA Brara forrerg 'fuf Sref-eram et 2
(A) VT TG 9 99 SRR Ei |
(B) HHM EJARAMN oI = Wif-er |
©  HRER SIUTE BeX Wi BRIGHTR | A |
(D) TSI HiHe IR TS|
79. freAfafed sF-w wRdE fafem o wwafed &2
(A) g9 ¥ fHereret o fosell Y@ el (B) FHIgIfcOes gfdfiee |
(©) TR Tzl o aE Teeufd fHare | D) SR FHTH H Yg T&l |
79. - Which of the following is associated with Indian Elections ?
(A)  First past the post system
(B) Proportionate Representation
(©)  Presidential Pattern of Election like U.S.A.
(D) None of the above
80. SITORRRUIAT (FIFCOT SRR HAPIF ST 5IFT QAT TR (i Sp1fy sa1a vercet spml e
FBATSET 13 ITTT® THIIBIA T B! (A B 21 2
(A) IR 350 (B)  IqCozH 352 (C) o 354 (D)  SIqCo=H 356
80. GRO MIRHIAT (@ SFH ST ST F7 QF 5 et &ftr Sdt s sretits some

30T AIBS 33 TST TP IPIA T SI<ET (TN FACo ATET ?
(A)  SFRT o (350) (B) J R 0 R (352)
© T 08 (354) (D)  SIFRI O (356)
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80. WA BIRIGH WSS o1&l HITH S ZHSETE Tgsl RGN HSTS THaed SRER e g
TRIGHTRAT o TESiG! SARSIG S@ATd A& gl ?
(A) 350 THIH (B) 352 THIA © 354 THIA (D) 356 THIH
80. Tr=fafEd ford STT=8¢ & RO YR & HiGe™ A fohdl T T T T THR A& €9 9 & T8l Fandt ©
T G oR1 & STTHR 39 T 1 qgufa 7 Tl I S S Gohd © 2
(A) 3T 350 (B) 3T 352 ©) T 354 (D) TT=% 356
80.  Under which Article of the constitution of India, the President can declare state emergency in the event that
a state government is unable to function according to the constitutional provisions ?
(A)  Article 350 (B)  Article 352 (©) Article 354 (D) Article 356
8l. ORB:{IZRNBI® 5! (FTHAI (FA® O] (FICOT TIZT 2T ?
(A) RTGS (B) NEFT (©) SWIFT (D) «be 727
81. ST 8@ yut [Kiwas ovwa Fea @910 T9me = 2
(A RTGS (B) NEFT (©  SWIFT D) a3 T
81. TEATIS U QYR (transfer) SATATE AR 9 TIAHG! STRTETE ST ?
(A) RTGS (B) NEFT (@ | SWIFT (D)  HFHa TS
81. SR TR H YeT-aed o & H = -9 HeeR foham a1 ¢ 2
(A) RTGS (B) NEFT (© SWIFT (D) TR HTH o T
81.  Which of the following is used for International Money Transfer ?
(A) RTGS (B) NEFT © SWIFT (D)  none of these
82. TITG bIBIF 1983 BAG 5107 FT BIFITAT ST @276 T8 F9T ROt Sffie

(A) & E ST SIFPNET NSH 3791 e ol Nofowa R ATrH F17 |

(B) ©ITeT TG T AYANRIT WST® F=71F SN TGS oS REmor A 517 |

Q) TG bIFIFT TANAS SiF ST Wote =967 REzehT AT 57 |

(D) T BIFR AF IIST BIFIINRI WIS A6 RO 1961 F4 |
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82. 1983 (a1 ©iFw JIFIT TIAT 5107 T TSI SN 3947 758 AT 7IgfG foze :

(A) @ YIS TS IIFABCER TS Fo9F I NGl [RelSaq il 190t Fa7 |

(B) ©HCed AFANS QL ALANIG WK ST79F I FNeIF f[ersaa famfl st w1

Q) ©FG TRIIET TRAersr e =g wogs s (b o1t st

(D) U STHIF IR ST AIFIKB T NS Ao TG 2K 7 |

82. WA HR@RI 1983 HIZHTEAE TMHH= TN SRAHI TRAT M foaaT1 Sem
(A) ToE GRER ST TEsi SRERM TSRE GHERl $ARI TR TTArEAE - SR TRfets e |
(B)  TRIGHTR IR et Af-Y TSre W<l ST el T - e TEfafs e |
©  vRa 9rErf fafseafa s gk GRier e 9l TRfafseTm |
(D) & SRER AR TEs GRERER TSRrE TR SR e Aot |

82.  YRA TR 7 1983 H TLhHTIAT SN TUH T e I & foT Eiad 9|
(A) = 3R T5T TIHR & o9 Ty IR A Her o ok §
(B)  MIRGa o TR TR TETTHA o i<l Trae TR &7l Hqerd o ok o
(©  YRGaY & =AIfeish! SR ST Ty & TR
(D) T2 iR T & o= § &Ha1 fawTSTT ol §eod e 3g

82.  Sarkaria Commission set up in 1983 by the Government of India was entrusted to examine :
(A)  therelationship and balance of power between state governments and the central government.
(B)  therelationship and balance of power between the President and Prime Minister of India.
(©) therelationship between the judiciary and executive of the government of India.

(D)  the conflict between centre and state on division of power.

83. RO MRUFT ‘T TNBHI’ GIINCTT ©oTq (FITAT JEF ST 419 FIT (7 7

A offebafim @) JoRstgesg (© s (D) ZISIFCETS

83. T©RReR MR ¢ ‘Fiferss SR 7 417onfB fAeeg 9 918 (AE @S 3@y 2
) coifs@baf B) JIWHITEFAE (O A D) IESITETHIS
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83. YN TRIeM Hiafsar ¢ = fafsm wf-e’ @l Ter 9« SRIeH%E | o Siel ?
(A)  ghwe afga (B) STHRAIAAZEG (C) MM (D) YOS

83.  WRd Hiaum o ' =nfaes Teien’ s uRon - frefated faa T2 4 sga 2

(A) USSR (B) USA © Japan (D) Switzerland

83.  The concept of “Judicial Review” in the constitution of India is borrowed from which of the following ?

(A) USSR B) USA (© Japan (D) Switzerland

84. SITOR MR S JPIoo PO SIT6 R ST FFho Ml =207 2

(a) 18 (B) 20 © 22 D) 29

84. TROR MERYNAT BN SJPIBIT T SASR SINIE FIFhS (3T X ?

A 18 B) 20 © 22 D) 29

84. YN BRIGH WlETSIar Sg-iY SwEE QIS e Sf<H= T

a) 18 B) 20 © 22 D) 29

84.  YRA o HfGHM 7 STl AT H fea AR (S b1 i fear e ?

(a) 18 (B) 20 @ 22 O) 29

84. How many language does the 8t schedule of Constitution of India recognise ?

(A 18 B) 20 © 22 D) 29

85. (I 570 SlToN [NTTS ([@0F J&iF GITNRersEa 4199 M1, M2, M3 ST1< M4 2787 33 7

(A) 1956 B) 1966 © 1977 (D) 1991

85. T STl SiTON TS TieF quid @ferfetsR €179 M1, M2, M3 Q38 M4 4379 F ?

(A) 1956 (B) 1966 © 1977 (D) 1991

85. o SIGRE MRAE el sishl TSR ARG T He@ M1, M2, M3 3R M4 Hed SITEeHA 2

(A) 1956 B) 1966 © 1977 D) 1991
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85. fom ad # vrd fisred S A g1 1 Joft faurs™ St amon M1, M2, M3 3R M4 § e forg & 2
(A) 1956 B) 1966 © 1977 D) 1991

85.  Inwhich year the Reserve Bank of India introduced the concept of classification of money into M1, M2, M3
and M4 ?

(A) 1956 B) 1966 © 1977 D) 1991

86. [T (IO siToma (IFEs 927 7
(A) SRS (B) Fom Fssfiferss
© (D) ISP =TT

86. fAGIE¥ @14 sitemEg @FEy 97 ¢
(A) ST T B) ToF TR

© = (D) LT 1

86. BRI o HFHA YYSNR (Democracy) [ g Eame e ?
(A) SRS GSTAPT ®) i fafswata
© faaa't (D) s TR TS Se-E

86.  T=iaRt S-S UK k1 SHferee e § 2
(A) T 1 WA (B) I A WIfeART
© e (D)  SIhH T
86.  Which of the following is not a feature of Democracy ?

(A) Ruleof Law (B) Independent]Judiciary
(©  Elections (D) Hereditary Rule

87. 5 Fofass TITSIG 2ITaIsy a1 2R (T4 30T -

(A) ©FS (B) S © (TS (D) WRF TG

87. 5 fofas TS o3l FaT AW ¢ifD =67 -

(A) TRS (B) NF ©) 3Ty (D) WIRET FFAIE
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87.  ‘Zero Based Budget’ STEREISI-E BIRIGSAT ST& :

(A) ¥Rd (B) UM © 3aive (D)  STHRGR ST BT
87. I I SR HHH ol TR HIAaTel JIH T € :

(A) 9rd (B) SMH © 3wl (D)  Hifeh HYeFTE
87.  Zero Based Budget was firstadopted in:

(A) India (B) Japan (© England (D) USA
88. TI-77 sifiame bfen Swoe @Il B0 27 -

(A) 1991 (B) 2000 © 2002 (D) 2005
88. Twa-F Afm By arswit s ® 2677 e’ 26T :

(A) 1991 (B) 2000 © 2002 (D) 2005
88. 1 HIAS HRAM siEremgare Rfsrpriel VIHHE A1 ST «

(a) 1991 (B) 2000 © 2002 (D) 2005
88. SR-Yd URwg ¥ fafeesn &l ford o # Sirel 1= 912

(A) 1991 (B) 2000 @ 2002 (D) 2005
88.  Sikkim was added to the North-Eastern Council in the year :

(A) 1991 (B) 2000 © 2002 (D) 2005
89. ISR 15T SIS Yo 16 ST 72yt fdwT 2

Aa) 3 B) 13 © 4 D) 14
89. TRe R SIS (G A5 iy 111G 7

) 3 ® 13 © 4 D) 14
89. formera 'fy strerma Te formmera ' sRfaEAR ol 2

A 3 B) 13 © 4 D) 14
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89. WA frafem st ot ot Fater e 1 we fhaf ® 2
A) 3 ® 13 © 4 D) 14
89. How many Election Commissioners are in Election Commission ?
Aa) 3 B 13 Q 4 D) 14
90. ©eIF @O ARRUIAF ST 2
(A) ST Sere B) s Scrs
© SPpIte siifes AFR SISt (D) Q[T STHCET (FROT
90. T IATG S Rifazs 725104 2
(A) LI5S ®) T e
© TPIbe Sifed FIG R SISt (D) ORI 5K D
90. TR S¢l W& GiSSIAam wEe ?
(A) formrg o s (B) U@l
(©)  Scheduled Caste 7 &SR AT (D) TirSH T TS =
90. fr=AfafEd wF-a1 digefs ogom €2
(a) fHat=m s ®) foa smm
©  ryfEa sfd 1 T s D) IWHaFE
90.  Which of the following is a Constitutional Body ?

(A)  Election Commission

(B)  Finance Commission

(©) National Commission on Scheduled Caste

(D)  All of the above
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PART - IV : Language - II [ English (Compulsory) ]
TIPS QR ST ofi-II (RIS )-S Yo 3007 2 IR SN Q3 S T AIHT IR TSNS |

WAt s Q2 Ol SEl- 11 (ReFE) -Ts TiiD 3015 o Mitg ©3e W Sist Si3et PR Sy IS |

AT WA ST STerETEE e -1 (ESt ) e 30 it e e e mde oAt o TR
T

TEqut . |l wenfiE % fore T e H -1 ( 31T ) o |edt 30 we St €1

Important: This Partcontains 30 questions for Language -1I (English) and it is compulsory for all candidates.

(EN GLISH)

Direction (Q.No. 91-93):
In each of the following items one word is underlined. Four alternatives are given against each underlined word.
Select/Choose the word/ phrases nearest in meaning to the underlined words.

91.  One should be precise in his speech and should not be impertinent in expression.

(A) impudent (B)  restrained (©) irrelevant (D)  superfluous

92.  Ascientist generally carries out his investigations empirically .

(A) by intuitively (B) by observation and experiment
(©) = verbally (D) logically

93.  Thereis no single method to teach in every class. The teacher must be eclectic in his approach.

(A) wunusual (B)  proximate
(©  roundabout (D) drawing from various sources

Direction (Q.No. 94 - 96) :
In the following sentences some are correct and some are incorrect. Find out which part of the sentence has an
error. Mark itas (a), (b) or (c). If there is no error mark (d).

94, The world today is totally different than we have seen in the last century. Noerror
(a) (b) © (d)
@A) () ® © © ® @
g5.  Perhaps you know that I have passed the examination in2015. Noerror
(@) (b) © @
@ @ ® O © © ©
96.  No other hill station is as beautiful as Shillong with its scenic beauties. Noerror
@) (b) © (d)
GVECY ®) (b) © © @) (@
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Direction (Q.No. 97-99):

Each set of the following sentences have four alternatives. Select the most suitable alternative in accordance with

the correct use of tense.

97.  (A)

He lived in Delhi for two years when I went there.

(B) Hewasliving in Delhi for two years when I went there.

(© Hehad been living in Delhi for two years when I went there.

(D) Hehadlived in Delhi for two years when I went there.
98. (A) Itislooking thatit may rain. (B)  Itlooks thatit may rain.

(© Itislooked thatit may rain. (D) Itlooks thatit might rain.
99. (A) For the last three months I am working on the book.

(B)  For the last three months I have been working on the book.

(©  For the last three months I had worked on the book.

(D)  For the last three months I have worked on the book.

Direction (Q.No. 100-102) :

The following sentences are given in Active/Passive Voice. Four alternative sentences are given against each

item. Select the best alternative that expresses the same.

100. We must endure what we cannot cure :

(A)
(B)
©
D)

What could be cured must be endured by us.
What could not be cured must be endured by-us.
What cannot be cured must be endured by us.

What would not be cured must be endured by us.

101. Modern means of communication have made life much more comfortable.

(A)
(B)
©
(D)

Life was made much more comfortable by the modern means of communication.
Life has been made much more comfortable by the modern means of communication.
Life had been made much more comfortable by the modern means of communication.

Life is being made much more comfortable by the modern means of communication.

102. One must keep one’s promise :

@)
©

One’s promises are to be kept. (B)  One’s promises must be kept.

One’s promises one must keep. (D)  One’s promises were to be kept.

UPT-19/P-11/O
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Direction (Q.No. 103 -106) :

In the following passage there are blanks each of which has been numbered. The suitable word for the blank has
been mentioned against the number given below. Select the most appropriate word in the context of the whole
passage.

WhenIgointo astranger’slibraryI _ 103  round the book shelves. This is to know the type of person he is and
Ifeel thatI know the _ 104  to his mind.

Ahouse withoutbooksisa _ 105  house, no matter how rich the carpets are. These only tell you whether

he _106 _ alot of money, but the books tell you whether he has a mind as well.

103. (A) wonder (B) run (© look (D) wander
104. (A) secret (B) muystery ©  key (D)  solution
105. (A) characterless (B)  bleak (©  unlucky (D) Dbad

106. (A) had (B) has (© have (D) has had

Direction (Q.No. 107 -109) :

In the following items you will find some gaps. Four alternatives are given against each gap. Select the most
appropriate alternative for each gap.

107. Encouraged by the success of his venture, he has decided to embark the expansion of the project.
(A) at (B) for ©  with (D) upon

108.  The rich are always succeptible flattery.
(A) for (B) to © of (D) into

109. Co-operation between friends stems mutual understanding.
A) at (B) from (©  upon (D) in

Direction (Q.No.110-112):

Read the following sentences. In each sentence one word is underlined. A set of four alternatives are given
against each underlined word. Select the word opposite in meaning for each of the underlined word.

110. The Government may identify vulnerable areas for precautions.

(A) important (B) remote (© invincible (D) famous

111. The Judge thought that the offence was deliberate .
(A) negligible (B)  unintentional (©) casual (D) legitimate

112. Modesty is a virtue but it must not be allowed to be exploited.
(A)  reserve (B)  mildness (©  boldness (D)  humility
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Direction (Q. No.113-117):
Select the correct alternative for the underlined word in each item given below. Against each underlined word a
set of four alternatives are given. Choose the correct one.

113. Learningalanguage involves the establishment of the links between the language form and their meaning.

(A) style (B) pattern © type (D) usage

114. Language teaching methodology indicates the sequence to be followed in a language activity, and the role

of the teacher and the learner in the sequence.
(A) technique (B)  design (©  procedure (D)  process

115. The cognitivistic school of language teaching looks upon language learning as a process of hypothesis

formation and hypothesis testing.
(A) explanation (B) assumption (© idea (D) principle

116. A sense of success and achievement is especially vital in any teaching learning environment for motivation

to learn.
(A) incentive (B)  willingness (©)  desire (D) passion

117. Prognostic test discriminates learners and provides guidance for future career.
(A)  Achievement (B) Diagnostic (©)  Remedial (D)  Predictive

Direction (Q.No. 118 -120) :
In the following items some parts of the sentences have been jumbled. You are required to rearrange these parts
which are labelled as POQRS. Choose the correct sequence of the labels to get the meaningful sentence.

118.  The essence of democracy for which every citizen must be

P Q
educated and matured is the active participation-of the people in govt. affairs
S R
(A) PQSR (B) PRQS © PSQR (D) PSRQ

119.  The management having agreed the workers called off the strike

S R
to increase their wages and returned to work
Q P
(A) SPQR (B) SQRP © SRPQ (D) SRQP

120.  Scientists carrying out a study of an ancient caused by man made carbondioxide emission

P Q
glacier feeding the Ganga may melt before the end of 215t century because of climatic changes
R S
(A) SRPQ (B) PRSQ © PQOSR (D) RQsP
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PART - V : Language - I (Optional)

VST S AR T SINT-1-B SPINIAT, BT, 0T, STEt, T, Wi, @i, wfieffs sie S - afso
OIFIF 30 BICE 2% 3Mtr | 2T S #1@ =i OMR $@1-91a9 ©fFl-1-© Srard 397
O AT Twg ] &iforT |

WEHIET ¢ Q3 SR SINI-1-9 IR, IS, 00T, ST, B, W, @#rer, wisfy a3e s - 2R
R 3010 I oA IR | AR @R #1t@ 9 OMR S8T-91(as ©iFt-1 16 Seavd FT
oY g Sed fite =@ |

AT AT ;A ST e -1 7 s, ae, v, TR, 6=, 7R, Jurelt, [forgd SR et - srafe- S
TFE 99 30 FifY 9FTF | SRR fSARER TSR 3T OMR e ot w@-1 9@
EiCiEIPRCIEREE RS

TETAYUT :  $H W o T - 1 o fore fou e foeredi # srafimn, sier, siel, T, fet, 7R, Jaret, 7l we
el — Yk T H 30 U9 W | qlrenfsti 7 eeea-us 3R OMR SW-9 H uren -1 # f59 o
1 Sooi fohan &, ST 9o #f ST SR

Important: This Part contains 30 questions each in Language - I, for which the options are Assamese,
Bengali, Bodo, Garo, Hindi, Hmar, Nepali, Manipuri and Karbi. Candidates should answer the
questions for only that Language-I option which they have given in their Application Form and
recorded in the OMR Answer-Sheet.

(ASSAMESE)

121. S79 (PO @0l St FRFT (Second Language Learning) C¥@® IS 923 ?
A) 2T He Tl Al |
(B) 3 Preies 3oyl Ao |
© Seifes [f-RaEs s Frat g
(D) @O ST Frs QT SifDe ofr i E oGl SN2FTOE IS AR 733 |

122, OIFI RIS B35 FHCOT BT

(A)  TRT-FIT- T T - Ao (B) IRI-FAF-Aod-feTyd
© FNF-FHIA-o1F-ferds (D) =FA-sAoq-FAF-ferda
123. [ARETG (@FAF 98 ©Idw 7ed 647 ?
(A e o wef (B) TMERmEETET (O I (D) AR
124. Frei¥i oSl o @bt Fiieics [fen 1390 oot a3 | Moy BNt Fieies QiF @aiRa S SICerbat
P
(A)  ConTEs SIElsE (B) WSS
© dum ReEdT eg2 (D) s eiFiesiy

125. WORSAR FROT 4T 717 :
(A) TGS (B) SIS © WiemE (D) T FleT
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126. PSS ObT FITHICE SINTTR JIT SHIEIT LFITT I F ' ICeT AR el Ao I |
Q% STTICOR ST 27T
(A) RS 8be® 16 - e 38! ST |
(B) TITHIISNG TheT TreIC +HfGatsT et |
(©) ©FT (RIS A0l TTC513 WA |
(D) TIPS AR IECTer (RIAICE I FARSIT A7 38 @A1CE (3et- ctfers S Freir |
127. PR SIS [FE Fasaiag sieas 27
(A) 5ol (B) 5SSO © vor (D) 580t
128. (ICAT T AT O ISR (FIT G0 272 7778 ©FF (I3
(A)  evE Ofe (B) @ TfE © T (D) SRS
129. ISP AITCHIOT GBS FAFC :
(A) TH-SRIGR IRTT SR IITo! FI1 I ST (FIAT S TR FIIACeT AL RS Sqed F |
(B) TS fomel, T[FIIT 5159 SN KT SatT S St A1, T 1T orw-ot Fifs IS asam"
FR=CeT 3bet 2% |
© Wik SIe Felea A1] “I1E, TR OTF SfFt (@1 FRRET GiHio (o1os W |
(D) FAT-IST BT (ISAST TSI AT IO SFH T S od 7B A |
130. TSUIRSZRTIN SISIFQICT ST 710 27T :
&) s $3t (B) TN ©) cowf (D) iFes faforst
131, FFAF 959 IR T A ©EEE BFAS I01 TS P 2T 2
(A) eI B) Y& Q@  *reqr (D) =Fer @™
132. fafeTi¥s @A Ife = 7
(A) ISP SEIF I67 [FIIS (B)  I4 FPIN 1T 91T ~ffaqda 927
©) o9 SPIfs RemIT IR sfadazg (D)  SPIINT ©iFrs 959 fsfaasa
133.  CoIRIfe I9<19 ST AR 2°a
A) @R (B)  STHAT ©C) =Iiibe /T (D) TGO Sige
134. faaferfis @aoTr Sfs 5 2

(A)  TIFS SIS WRTEG <@ ST SrHI6 A P IS 1HF Hf SrFae AT |

(B) HPIIST FIC TN SRS HPFRERRST T35 @f | Wi it TRTe Sififafes et
N |

© FWEN S (AT [T SASIICS FoT S’ /i S5a1- 36T Shifvs 27 | 75 Spis
BT AT AT I’ & Ao =7 |

(D) 8913 HCIEHI0I BF
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135. =R S Ao @FITeTd S 5 JfeT St TR 2
(A) iy e AFHTSF (Active, Productive) (B) STFI 3 FXAQF (Active, Receptive)

© &T S 93¢0t (Passive, Receptive) D) SR SIF AFHTS (Receptive, Productive)

136. SPTRRI SIFF S84 (FFRY 21Fes 79T (20% :

(A) TS e B) ThReHaFe (O TRRG AT (D) W AFe

137. ©F< (ST ISP ST s o oifts & 99 Szl ?
A ¥, B 7,7 © ,7 D) ,%

138. T *1=e ST *1%7 B0
(A) ©F= B) ©% © < (D) e

el aSileyY

ffeTfis @FI0T == STfHRa Teto YT (207 ?
(A) g (B) AT © IW-oT=Y (D) T 3

139.

140. ST SIFIF SHAGRT AP AITAT SICTelt o8 e
(A)  SPIRT Ot S SororaT (B) SO SF SO OFI- S O]
© « Bifs I IMFI 8 @ TIACETS S SIS (D) Toren R

141.  FfARS @NF30T AT B@6T 1% SfeTa :

(@) e (i) o

(b) ST (i) NF I

© (i) =S

d e (iv) It

(A)  (a)-(ii), (b)-(iv), (c)-(i), (d)-(i) B)  (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
©  (@)-(iv), (b)-(iii), (c)-(i), (d)-(ii) D)  (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)

142. ISP ©IET S8 T=91(F woTo Srad FT (I SR 5 7o SoRTIEE 8= 519 347 |

(@) ORI SIE ()  oTEs-siFenE fma

(b) AT IFT (i) oM oiFe

(©  iferam ofy (il) IR SF CINT 21FS

@ R FHhs (iv) TR oS

(A (@)-(iv), (b)-(iii), (c)-(i), (d)-(ii) B)  (a)-(iii), (b)-(ii), (c)-(i), (d)-(iv)

©  (@-(), (b)-(iv), (c)-(i), (d)-(ii) D) (a)-(ii), (b)-(iv), (c)-~(iii), (d)-(i)
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143. IPTO JFT-SPRIAT Qia-2a1s SRR ©fFt Fresis S 27 ¢
(A)  EA-ZAPRRCE SPHRT SR KPR BFE SR FRI 1R S MoeRT AR Gs PEies
AT g T #i1faa |
(B) TOSEIE TATT W, Spdl-ob IF - A FY SPRT BIFIE FA-JoaT #1fex A1f
I SO BRI (@I FAT-IoTT BT BT TR w7 SHTRT s fim i
Q) Z@-ZaPTHCE SRR SN fbf5-ota, i, 641 o< ofefes Rfed @it waes «ft7 e fafig
AT |
(D) 8T FICIFI0! B
144. ‘@0 3 [ o1 27 ¢
(A) @&t (B) TIeT (FST © T3 (D) = P
145. SoTe Sfafl® @HEH TRE Soret 2
(A) I P NN (B) SIS S AToIS
©)  MibshreT e Ireiirsy (D) IICRLT I IR Sorot
146. SPIRT BTG *Bhs 1 T |
(&) fofG (B) @b © o D) oIRG
147. QB! 5T YT SO S ST 2T 7j/F F¥ (y1ce fnferfis @afiy Ram fos e stz 7
@) oef B ot © ooy fEr D) =g ffs
148. “fAWTST $2AT° FHFAFT I -
(A)  SIETR ot It (B) ISHIFIE ITCA
©) pel bU SIS (D)  TSHifezsTw SsEeTeT!
149. RS (FIHO! 575 GOR 739 SFFA6S 7+ Nefes Snzad ?
A)  «F (B) @It o D)
150. P37 21Nfiis Frsrs Too Sos segsd | S99

A) P oer o sgdr wfies [RPHe T2 FF |

B) STIfSE Siqas [T I Moet S|
© FooNT @i Freg 57egieq o5 =91 900 |
(D)  S91<F SGIRCRRGT &7 |
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(BENGALI)

121. SI6A @F ABHre TR’ = G T AT @R 2
(A)  TTeSITa B0 (GINIF AT (o (B) D TRFF Tt @AY
Q)  SiefEsr Aifssts Sl (D) SIS VAR BI 7%

122, ‘T8 THG TNILF TGS A6 @& IHD 2
(A) TSI @F T AT & ? (B) ASIHI ST T CF T T HLOR
© I TSR Vol TIRIF FAE A (D) [R5 et ST ©F T3 W

123. eI IFENET (@I ATaFR Flay O dw fercafncer ¢

(A) IR (B) TN of@ © IS (D)  IIM AGIFA
124. O FrEE GF@ AA05S Frw 5157, 739, FA9, T wra 536 smat Fracs onfa) - o3 gt 5 &6 2
(A)  TI¥ - AT (B) T - feram © TR - 51T (D) “od - foras
125. FATEATCF CIET SR 67 @ TRk S 2
A QR GAFSIT (B) - ARYETP GAFSIT
© ~ 28 ST ST (D) @HIFEE ST

126. SINIHE (0T AT O (@15 —oeT! Ot I 3! ©lF! Frsr (¢ 3 2

(&) FIPrT fAgTeT SEy (B) _ o TS =540 BT FSHT TS
© I TATSAT T (D) BF S I S5
127. TSTRIGT (U@ 4G GIaTa (rfas #Ifadig S=oims e (Soifes™m Srsaamrert| sifawifbg 9m $
et 2
A SEEgH ®) i ISt © eI (D) STV ST

128, SRSIT TAIfE @ UFITN FFF IR @IS IS SASF AR SF3. (Sfet =0 TP
(S ARTS TR | - BRI B @& IR TS 2

(A)  FF IoW (B) IBCT ST © A D) aFmeTITIfs

129. SN (0T WToWINT FRFT SIReReTId FIK 5 2
(A) T AR ToORT 55K Hel<
(B) B TR FTrel
© TSR AIESS A1 FF TS A1 SPIbeo!
(D) SRR TSl
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130. FI57 I 971D 3836w RGPS anfers F647 2
@A) QoEssfiefs B) e IadnT © aifs ket (D) oS! BT

-

131. FNIF I ©IF ARRIT (AF AFFG 287 @ Fressifxess stfas forates o3 fasifog 7w
(A) T B) T © feome D) T

132. F@ 71 - [Fofs g Fa1

(A) ST ot ®) f Ko fsm
Q) =T QST AT D) SR e FrT Fare fae
133. SIS TSEEE INE ‘FIFS G 5o A & g @ 2
(A) A I =] (B) o oMW O
Q) ST GrATATLI (D) TS 33 TIA
134. JISE SIFIF ATBIF Fooi S 19 57|
(A) TRATSM! (A G Tox (B) TN TS (ACF =T I @R TS
© @ TeR (ATE JBT TeR (D) QT ST (ATF AL TR
135. ‘SREAM’ I ‘SAfeaN’ Q3 TS RomiF =itwa oI 1=/ [Fo7 34 |
@A) Fe5 93t SFEs (B) Tw® QI JTER
©) HFIT® Qe I (D) RIS 9I HHBE
136. 1B SO oY BFF ¢1® fFef7 &HT 2
(A) LA (B) I LRS! ©) IrRe D) Teifran
137. U FIF FIF 71N 5 foget 7
) Yy ==y (B) oSt @ar ©) SR (wat (D)  ramr (wQr

138. iR QL SNIIT TH@ AICHR @I IF/G w3 ?
(A) SRS SR Kele @R o+ (3 (B)  STWICT #Ithd el (@l o+ (3%
© e Kofea a7z7 @3 (D) TET 9 H8 T

139. “‘QILET 570w TS SR (R sMaT ©fsf I QI Sefiero T KAssT Fa KT Sd SR 907
SIFY AfFs Fa - SfEH w7

(A)  IETEH BLGIATKSI (B) ITHANR ST
©) ST IR D) TI& OFIETLHR

UPT-19/P-11/O 119 P.T.O.




140. ‘(NYNW IY’° FIESK SICEHAT I G mﬂﬂmm FEE 7

(A) I B) SSH@ © el D) Aafs
141. eifEs - aff @ Wi 2

A) I=29% (B) IS © w2 D) T ooy
142, % ws Freaa MiRfos s @G 2

(A)  BHm B) g% ganee © TewIoEd D) GENSEIGNIG)
143. AETF Sfe [T F7 -

(A) S INE (OF I @ T ASPER 4 [{oltsl S8l 2@y |

(B) T IeTeT AN foral oI 4 oIt (@sieg |

© TIFCE IR I, 93 Tmgg «3e fefee fefirr amm o sy snfaifzery s T 17
(D) ST g FeTced, S (et RFed TSt WIS IR @, ST5d (@IS TR |

144.

GBMF Q3 (AT 3 AR T

o 739 s SIfew o - 3 sRerenfBa ‘ashim 9§ o/ Sifer 737 1@ Tt 2o i fo
FTIRORE ?

@) sfefafs ® s ©  wgafs D). rafs

145.

nRReT-#FBY A18 I SASET 6 2
(A) I (B) ATTAST Q@ Il (D) FWEAT

146.

N3 AFoNI e SorerT iF 2
@) e ® o © <wE D) TS

147.

‘FIAENR TR’ ISEIRITTT 3 7 2
(&) SISl JT 2T ®) YR @b
© I ST O W s STesfqT FT (D) el AT 063 ©f ©f sl ST

148.

BT FF ST IFENECULT ©F 8 CTITARILF SAFTT 7
o) fgw B) IRI@ILIA (O JAWTS D) 7T %At

149.

TSRS SIS QTIET FIET TN 5 o 2
(A) TS (B) BITHST © oo (D) xReTel

150.

‘o’ *fB I = (AL 7
(A) IR (B) & © A3F (D) S=ax
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121.

(BODO)

' a1 FIARE Aiedl BRI sifqeal A6 SIS g% SiHE [ -
(A)  STEE Y ®) fiea’ amE © W (D IRGRIESEIHEE]

122.

T YA RIYRE TS ' Het ferfii wet fammafy g g’ g 'ffen st
(A) T FEA T B) =R g s © HAEE HEEd (D) foutsH "R

123.

TeTel TrTgTe Wi ¢ Timfer fmenst' ! wiemel wreef oe Wi<rsa wRamE! -
(A) ST (B)  SIEEHIAE ©)  STATTEETE (D) TS

124.

forem Tt 13 TR e i SeieET S TEre e -
(A) TR SR @i RERfrE Aiene faamafagmm

(B)  NYTHRE! oIS R

©  TEEeE! TeE RRIA™

D) (A),(B) ¥ (C)

125.

X e A S TR AR SR o a6 S e gm -
(A) T S TSR (B) TSRS 3A © o SR AN A (D) o e

126.

R SRFESH Sl 191 TR a2l e |l & S -
a) o (B)  EIfeRH "R SRR
© Fomrdt gate (D) | fRer

127.

* STEET ™ SEE ! g e JiEd -
(A) ST ATEST B) faMSGaEsn (©) TIRISTE AEsn (D) I SME A=t

128.

el gfvgawr fom et -
() fifem@d=ndgd @ Afaw@aIngd ©  (A) JR(B) (D) &Y qE B el

129.

o R ' s SiFm 1 ¢ firfe faeng ' wremg fastmen JemeiEe -

(A) 1984 (B) 1980 © 1982 (D) 1986
130. TEMEM o« AEEn @it 53 faferenfy fefer -
A  TE ® T © @ D)
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131. X' A ARESHE T fefern g qead -
(A) HEH B H= © HE (D) HEIm
132.  TEHI S ATESSi (4T SISIea] JISTeT Hi= dsete -
@ TP ®) dHER © fafa ©) T
133. X' Y@ wifed HeehR e -
(A) TR FERFRRS SRS ®) TR FERfusi SrmEs=
© TR AR @R RErfysi SmmesEE (D) TS Aea 98T
134. ‘19 ezt Seen Terere TeM HREE! REeEH! O o1 G YAersEl JYERHA TR SR TeEt-e B
forsTel TIEERER SR fodRf i fosTehRE! X' 6 SHERREE 1 S e 9R geEH
(A) TS TRRE (B) IFEHERIGAI (O) FAAFEARSA (D) HFEH R’
135. 1971 HIZTEAT IS eROMeR STaRif ‘A’ Tremeare T -
(A) T2 GBI (B) T24TART Q) T20TAET (D) Ti26 GBI
136. A. Christiansen 311 feiiAT™ Grammar and Dictionary of Kachari Language fISITell STI@REHI
(A) 1906 WA  (B) 1932WRAEAE () 1904 FWEUEIAE (D) 1905 UEEATE
137. S5 HHR SR SUEhRE St -
(A) Ui SEEARE! 1 | (B) __ HFSIEER sEETREE! IA1 JiHl
(© & B RRERHER™ T 4= (D) TSI T
138. o ETE MR HeR TIATIA AIEeTel®IHT s 3TRI SR 7o -
(A)  HTESITRE e (B)  HHITRM WA
© HEIEHEE S (D) TS s
139. TEMT se HH SHTSTHEN o Ta Mer o faamt fafer -
a) 9 ®) 11 © 99 D) 20
140. ‘AR 9 AR fefenn 37 SeTERE! SR qaTd 6 96 GHTEsi AR Sl -
(a) Afresmeamty @) JIfwememfy  (© IR Ay ) afY, Afey ARY ammfy
141, SR SEAAH sfesen faaanft g e -

(A) 1797 HIBUEMHR 1959 HZATSEH (B) 1920 HIBUEHMA 1939 HEZATSEH
© 1911 HEUEHEE 1937 HEAEHA (D) 1921 HIZATSHEE 1948 HEASHA
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142. Reverend Sidney Endle 31T R ' SR, =iy, g YAare s e G ferem ferstren smem -
(A)  The Kachari, 1911
(B)  Anoutline of Kachari grammar, 1884
(©  Borogrammar, 1959

(D)  Ashort grammar of the Mech or Boro Language, 1889

143. TMEEMH GR YA ThE faie i -
(A) TeERTR' (B) TR~H ARRI © Troawua s (D) THATH I’

144. TRMEM 99 foeET J.D. Anderson 3T feREHM -
(A) Dimasa Vocabulary, 1895 (B)  BoroGrammar, 1959
(© Dimasa Grammar, 1906 (D)  Sketches of Assam, 1855

145. <R’ TG W TEUEHEE o GHUEREE A 9EE JFed 39 SSTee] STerEa S -
(A)  THA (B) O © HHum (D) HHfe

146. TR o1& ST THX SR 9 STRETEAE SIHE HI=1E =1 TS -
&) fosr (B) e © = D) TR

147, fom U@ AHAE! S s seen T g -
A) TE, 7Y, SR smEfef framgnEmE
B) =R Hrers e
©  TFA TeE A S
(D) TE@I °H SR ST

148, =R Y9 HEARE! GHeEeT I@HA HAT -
(A)  HHa B) HF © Hrs’ (D) ¥ Ha™

149. TREMA o« HHY ST 91eT ¢ Ted ST s Sfiferd wrymE -
@) faxw (B) @HH THE © a2 (D)  AT=IE T

150. TS @RI g’ e’ fosiren o6 Argensae Jeei|e -
(A) 1978 (B) 199 © 19% D) 1992
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(GARO)

121. Sing-anirangna ong-ako basee aganchak-bo.
Ku-uko skie ra-ani minggni skillrang kna-e aro Agannachi ski-e ra-ana-man-agita.
Gipin mingni skill - rang ku-uko apoan dake ski-e ra-na man-ama ?
(A)  Apsandake ski-era-na man-a
(B) Apsandake ski-e ra-na man-ja
(C) Ming bri skillrasgan apsan apsan dake ski-e ra-na man-a
(D) Misgbri skillrangan namen ding tang grika
122. Sing-anirangna kragipa kattarangko seoke aganchakbo.
Sentence-o salsretgipako mai aganani bake-ne minga ?
Tonang aganna “Anga mi cha‘enga”
@)  Agangipa (B)  Aganenggipa
(C) Agannasienggipa (D) Agannako man-gipa
123. Ka'mao on-sogimin sing-anirangna ong-ak seoke aganchakbo.
‘Harvard Denison’ uni orto ba miksonganiara mai ?
(A) - Gisik aro bilko bilakatani ja-pang (B)  Gisik Rong talgipako man-anija-pang
(C) Bilakani aro seng-ani ja-pang (D)  Skia man-ani aro toromni ja-pang
124. Sing-anirangna ke-ako seoke aganchakbo. Poraie ku-uko skie ra-anio badita bak niamrang
donga ?
A) Gadanggni B) Gadanggittam (@) | Gadangbr1 D)  Gadang dok
125. Ka-'mao on-sogimin sing-arangoniko ong-ako
Jonmoni D. Shira badia songo atchiaha ?
(A)  Resu-Belpara-o B) Rajasimila-o
(C) Nisangram Baksel gittim-o (D) Matchakol gre-o
126. Singanirangna ong-gipa kattarang ko seoke aganchakbo.
‘Ma-ani ku - utang ko skie ra-na Indian Constitution - ni badia Article - O dong-a ?
(A)  Article - Six scheduled B) Article - Eight scheduled
(C)  Article - Twelve scheduled D) Article-45
127. Howard Denison mai bilsio M.A. English degree ko pass ka-aha ?

(A) 1936 bilsio B) 1938 bilsio (©) 1942 bilsio D) 1947 bilsio
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128. Sronggipa sentence-ko rikanio watchang gipa mai aganani bak ong-a ?
Subject + + Predicate.
A) Noun B) Verb (C)  Adverb D) Adjective
129. Ka'mao sing-anirangma ke-ako basee aganchakbo.
‘Gnigipa ku-u’ (second language) ine Ma-gataha ?
A) Hindi B) Assamese © Garo (D) English
130. Ka-'mao sing-anirangna ke-ako basee aganchakbo.
A-gilsak gimkni ku-sikrangona ong-nasipile pemangimin toromni git-a badia ong-a ?
A)  “JisunidJa-man Anga Jarikgen” B) “PaDe Gisik Namgipa”
(C) “Nam gipa Gisik Paroa” (D) “Bi-sadJinma Salgioni”
131. Ka'mao on-sogimin pragraphni kattarangko sawa bi-e aganaha ?
“0, Na-a pilakna bate bilakbatgipa anga bebera-a.”
@A)  Rev. Gilberth K. Marak B) Rev.Ramke W.Momin
(C)  Keneth M. Momin D) Mackenson S. Rongmuthu
132. Badia ong-a sing-anirangoniko basee aganchakbo.
A-chikrang gipin toromko ra-ode mai ong-gen ine Ramke.Chanchiaha Chim ?
(A)  Depante demitchikrang gipin jat pilgen
B) A-chik manderang tomtome dongna man-jawa
(C)  A-chikjat gimaniong-gen
(D) A-chikjat silrorona mah-jawa
133. Sing-anina chongmotgipa katta ko basee aganchakbo.
“Mikjumang A.gilsak” ia poedoko sawa seaha ?
(A)  Evelyn R. Marak (B) Barendra Bangshall Sangma
(C) Jonmoni D. Shira (D) Koplane G. Momin
134. Iasing-anirangna aganchakbo.

Mai jontuko A-gim - Gonggim - Simdim ine minga ?

(A)  Matchako B) Singhoko (C)  Giraftko (D) Mongmako

UPT-19/P-11/O

125 P.T.O.




135. Ka'mao sing-anirangna ke-gipa kattarangko ra-e aganchakbo.

Sentence-o-salsretgipa katta ara mai Gender ong-a ?

Matchurang bakrao cha-amenga.

A)  Me-agender B) Me-chikgender (C) Ramramgender (D) Grigender
136. Sing-anirangna ong-ako basee aganchakbo.

Sako Mane - Pite A-inma A-dindin ine minga ?

(A) Balawanimako (B) Chinima-ko (C) Salgini ma-ko D) A-anima-ko
137. Iasing-anina ke-gipa kattachi aganchakbo.

Ramke sachi napolatako man aha ?

(A)  Rev.Rupreet Bion B) Rev.E.G. Philips

(C) Rev.Miles Bronson (D) Rev.Mason
138. On-sogimin sing-anirangna ke-gipa kattako ra-e aganchakbo.

Howard Denison uni poedo “A chik ku-rang” ko mai miksonganio seaha ?

A)  A-chik skia man-ani batrorobachina

B)  A-chikni ku-u silroronam rorochina

(C) ~ A-chikjatni torom giproroangchina

(D)  A-chik jatni dakbewalrang samroro silroroang china
139. Badia ong-a uko seoke sing-anina aganchakbo.

Tuniram ‘Do-kua’ poedo-ko 1914 bilsini mai jao seaha ?

(A)  Septembar jao (B)  Octobarjao (@G  Novembar jao (D) Decembarjao
140. Sing-anirangna ke-gipa kattarangko basee aganchakbo.

Sako “W.A kong” ine bimungko donachim ?

(A)  Mackenson S. Rongmuthuko B) Tuniram Rongma Marako

(C) Monensing R. Sangmako (D) Kosan G. Mominko
141. Sing-anirangna aganchakbo.

Mingogni dingtang dingtang kattarangni ortorg apsan ong-gipa kattarang.

A)  Hyponym B) Polysem (C) Antonym (D) Synonym
142. Ka-'mao sing-anirangoni ke-gipa kattarangko basee aganchakbo.

Salgi bangbangni ma-a

(A)  Susimema B) Sangkildoma (©)  Urenchima D) Urendama
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143. Ka'mao sing-anirangna ke-gipa kattaraogko seoke aganchakbo.

Badia aganani bako dingtang dingtong gender - rangni rokomrangko uina man-a ?

@A) Noun-0O B) Pronoun-O (C) Adverb-0O (D) Adjective -0

144. Ka'mao on-sogimin kattarangoni badia kattarang Antonymy ong-a ?
(A) SiaaroTanga (B) Cha-aaroRinga
(C) Re-anga aro Re‘baa (D) Dongnue aro Am-e

145. Ka-'mao sing-anirangoni ong-ako basee aganchakbo.
Badia do-oko Tau - racha Malagitel ine minga ?

A)  Do-rengko B) Do-poko (C) Dokako (D) Masilenggako

146. Sing-anirangna ke-gipa kattarangko basee aganchakbo.
Badia miteko Salgra - Moepa ine minga ?

(A) Asikinimiteko (B) Jajongnimiteko (C) Salni miteko D) A-animiteko

147. On-sogimin sentence - rangoni badia ke-e jakkalgipa sentence ong-a.
(A)  Gonny! Iachire-babo B) Gonny aro Tom adasa
(C) Gonny aro Tom baso (D) Gonny aro Tom sakgkian grapenga

148. On-sogimin sing-anirangoniko ong-gipa kattako seoke aganchakbo.
Mai bilsio Garo National Conggration dolko bikotaha ?
A) 1912 bilsio B) 1913 bilsio (C) 1914 bilsio D) 1917 bilsio

149. Iasing-anirangoni badia ke-gipa katta ong-a seoke aganchakbo.
Gonmoni uni “Do-kru” Poedo-o mande baksa mai kamk tosusa-e aganaha chin ?
A) Ku'mong nangrime donganiko B) Saksa Sakgipin baksa meligrike donganiko
(C)  Gik aro se ka-sagrike donganiko (D)  Gik aro se tomtome donganiko

150. Ka-'mao sing-anirangna ong-ako basee aganchakbo.
Agannaniko dingtangate aganani skanggipa hiam.
Aganenggipa verb da-o onggipa ba mikkarngchi ong-nasienggipa ko Reported speecho indake ong-a.
(A)  Tenseko dingtangata B) Tenseko dingtangatja
(C)  Tenseko bikpilatna nanga (D) Tensekoon-daphananga

UPT-19/P-11/O 127 P.T.O.




121.

(HINDI)

T HRE T gTe 39 ©
(A)  UISIYEI TSl (B) RS GKIh UgHl (C) TR IgH (D)  STieTd AT

122,

‘R aga A

(A) RIS H S (B) RIS H off a5 1 Wik T
© T R YHE® He (D) FEI-Feh a1 HTAT
123. ‘= gt T E?
(A) g gd (B) SEURIYHIS
© g et frren (D)  welee =l

124.

fe<t =1 wfaem gry fom o =1 g fear € 2

(A) T (B) TSIl (C)  HIEH | (D)  EHER W
125. fe=i =t Ho1 Scufe fope stasier & o T8 ® 2
(A) HENET (B) WREA (@~ TR (D)  31¢f ATTeRt

126.

Trefeh T & fore e Te STER 1 v JoRe Hedl & :
(A)  HIHE qhEo (B)  Had FAh
© Tofed ademor & (D) = H 9 HE T

127.

‘FTE T % G HIA R ?
(A) TS (B) A © Ty fEg foet (D)  YEER

128.

7fg ‘Y’ ot afq o | uge 3T T T B
A) ® T © A D) R of T

by

129.

AR YU 1 e Tohed heqstl § e =fey ?
(A) IR (B) TR © S WEAhR (D) A FES H
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130.

el It Rl 31T fhE T R IS RERR e ?

(A) iR (B) s © g rerta (D) 3
131. f&=<) wfeea # ‘ emegfrer w0’ fond e ST €2

(A)  FO G (B) T Yer © e = @) e qg@
132. ‘S=aRv’ 1 Gfr=e 2

(A) 3+ TR (B) 9+ AR © THE+T (D) 34 + IR
133. T H | SF-91 ST YHE 1 e 2

(a) freen B) T_H (@IEKICE] (D) 379 37U STSTHeI
134. &< 1 30 STuyer it Sifam sTeeen ¥ TR & ¢

(A) T ®) e ©  sfeRE D) EEA
135.  T3reror 1 S Bl =0fe :

(A)  fornfiai § Srawfs Heerd i foawrd &

(B) RIS SieH o Ty faenfi=i =i Tam &

©  foenfri = udien & fau TaR e

(D) fomnfeRdi & QrSIeh SIFEehdl ol feehie s
136. ‘fe=t’ aqa: forg oo o1 wIse © 2

(A) e (B) © (D) W
137. ‘9hfd % GHAR SHfa’ ol el a1 e 2

(A)  TmH fEE faret (B) gIwIa fuet fRren

© g da (D) SR Y
138. HHEI-USI <l Gel faue fafEy - =~u swad

(A) =R hHA (B) =R AR FHHA ©) =R W HHA (D) =R H HAA
139. TrAfafEd # ¥ ARaTaa ageal i wfad sA-§ § ?

(A) FA AR HfHN  (B) TEHWHTW (O el ) femrem
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140. T&<1 1 ‘3T SicT =T i HeTTeT’ foRe et o1 ?
Q) fafeam &4 (B S R
© TS UHHEA T (D) 3for< =Y

141. i 91 I ST 1 &l § 2
INERESIE] (B) Y& © 7™ (D) <

142. TR I T ¥ Qe &=t A et fean ® 2
A) g (B) T © o fet D) G

143. e s g2
A)  THHEA (B) T foman A © TR D) TR

144. ‘A& vsg 1 fodim weg ®
A Sl ® g™ © ol D)

145. &=t 9o & o 1 T STIRH HH-H & 2
(A)  HIfel - 9T - 3Tayw - fe=d (B) Uihd - MUYV - o=l - wifd
(©  SA9YY - uifel - Uik - Tt O) T - wifed - sy - gred

146. Te=<t siferdi # form siferal o1 Hifeca So® gT=iq iR 9IS © ?
(A) TSI (B) T<o@Ue! Q I (D) =t

147. ‘S’ % gEME A ®
(&) TEH ® © o D) ¥

148. = § 9 -9 fag w9 § 2
(A) TR (B) W © g D) T

149. ‘oo’ o1 Giusse B
(A)  BF+ =R B) T+IAD © B+ BN (D) B+ A

150. et e foreror =% fafy @
(A) ST fafy ®) oA frmE fafy (@ s wErTeen (D) ST g+t
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(HMAR)

121. Andiktakthlangsuokrawh :
(A) I puonthanthlepchutléptuorin an lang
(B) I puonthantlepchuthleptuorin an lang
(C) I puonthantlepchuthléptuorin an lang
(D) I puonthanthlepchuthléptuorin an lang
122. Thawngaleivir chu :
(A) Thlipui hrang a nih (B) Ruopui vanawn sur a nih
(C) Thli hrang inkuol hrattak a nih (D) Sour luong hrat a nih
123. Chikchikrieu inhram chu :
(A) Khau chi khat inhram (B) Vate chi khat inhram
(C) Thil ri hrim hrim um lo (D)  Rihau inri bung bung
124. Adjective chu :
(A) Verb hrilfietu a nih (B) .. Noun hrilfietu a nih
(C) ~ Ama le ama an hrilfie (D) Thilthawhrilna a nih
125. Mithi chanchin hril dinga tirhai chu :
(A) Thangko (B) Tlangva (C) Palai (D) Tirko
126. Pronoun a third person hrilnachu :
(A) Nang kalawmche (B)  Keimakafe
(C) Ama thaw a nih (D) Kalawmche
127. Ramvachal ti umzie chu :
(A) Rama vate chal (B) Pasaltha
(C) Vate chikhat hming (D) Rama khawsa hlak
128. Dawlrem chu :
(A) Vate a nih (B) Inreng chikhat a nih
(C) Bal hna tawl a nih (D) Laiking chikhat a nih
129. Abstract noun thlangsuokrawh :
(A) Thina (B) Behna (C) Vwuongna (D) Thirbél
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130. Pam rorel umzie chu :
(A) Thil inhmang inpam (B) Thil inro leia rorélna nei

(C) Lo vatdan ding rél (D) Ram léng dan ding hril tlangna

131. Thangsuo ti umzie chu :
(A) Inthang suok (B) Taima
(C) Damlaia thiltum hlen (D) Hausa

132. Kumkhat sunga hun indawt dan chu :
(A)  Nipui, far, favang, phalbi (B) Nipui, phalbi, favang, far
(C) Far, favang, nipui, phalbi (D)  Phalbi, favang, far, nipui

133. Hmarhai lam laia thangve lo chu :

(A)  Pheiphit 1am (B) Khuol lam (C) Lam lam (D) Inchawm lam
134. suol bawia kan tang hnung kha.
(A) Hun sawt tak (B) Hlatak a (C) Det taka (D) Sawt tak

135. Andik tak thlangsuok rawh :
(A) -~ A hnuoi izirin tlaichi thlak hlak rawh
(B) A hnuoi izirin thlaichi thlak hlak rawh
(C) A hnuoi izirin thlaichi tlak hlak rawh
(D) A hnuoi izirin tlaichi tlak hlak rawh

136. ‘Sawmfang kir nguoi’ umzie chu :
(A) Phék sawm tam (B) Bu zatam (C) Phék za tam (D) Lo buvui

137. Chéngrang umzie chu :
(A) Silai (B) Pelt era (C) Chéngna in (D) Chemte

138. Loneinaa sinthaw dan indawt chu :
(A)  Hlo thlo, butu, hmangkhaw, busik
(B) Butu, hmangkhaw, hlo thlo, busik
(C) Hmangkhaw, butu, hlo thlo, busik
(D)  Hlo thlo, busik, hmangkhaw, butu

139. Thudik hril le
(A) Sazang kap (B) Thiemchangna nei
(C) Ramlenga fe (D)  Thil inhmaw taka thaw
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140. A hi damlai thil ngaituo ding
(A) Pawimaw le tul a nih (B)  Thil tul inkhaw a nih

(C) Thil pawimaw tak a nih (D) Thaw makmaw tul a nih

141. Ka lungdin khieng dang a awi tah ie’ ti umzie chu :

(A) Inkhieng thing awiin hla a sak (B) Ka ngaizawngin midang a dit tah

(C) Pasal dang a mi neisan tah (D)  Hmun dangah an inpem tah
142. ka lungrilah a hung var tah.

(A) Turnipui var (B) Chatuon kawlrawn

(C) Tlanga inthieng (D)  Pielral nisa

143. Concrete noun thenawi a thangve lo haichu :
(A) Proper noun B) Common noun
(C) Abstract noun (D)  Collective noun

144. ‘Thiemtuipek’ ti umzie chu :
(A) Thiem taka tui indawntir (B) Puon khawng sukhuna tui

(C) Puon khawng laia tui dawn (D) Tui dawn dan thiem mi

145. [ par mawi .
(A) Mi thliek rawh (B) Minsuorawh (C) Min hlan rawh (D) Mi pe rawh

146. Ei nun thiem ang
(A) Sie tarawnge (B) Sirtarawnge (C) Méttarawnge (D) Silta rawnge

147. Sikpui lam an lam hun chu :
(A) Nipui lai (B) Fur lai (C) Phalbi lai (D) Favang lai

148. Rengkhawthim chu :
(A) Inthim sa tak (B) Réng rama nisa tlak
(C) Khawstng inthim (D) Thereng chi khat

149. Thingkung a tha chun
(A) A par a mawi (B) Araatha (C) A hnaatam (D) A thing a chang

150. Simbak chu :
(A) Simbung chikhat a nih (B) Sakei chikhat a nih
(C) Thilhring chikhat a nih (D)  Pathien pakhat ni dinga ring a nih
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(NEPALI)

121. 379, JH, T, T 3G ekl TR g ?

(B)  FEE B)  FoE © T (D) TR
122, itel A1EE Saehiel fomTea Sashierent & g1 2

@A) 9T ® B © =g O
123. ey drearaars fermftn 3wfy fex =afaq = g2

(A) ot 5TeE ®) o 5TqEa Q) TESTERIGIAW (D) MM A
124. fafyen IR T H N ?

A ey ®) f=fafa © FEEfafy (D) auifafa
125. 9Tl WINTHI shigeiafa STy el Y& YUl Ui ?

(A) Hi1600UfEsE (B) ET17009f@eE  (C) TA1800 UfBe® (D) |A 1900 UfSee
126. JfFTded 3T fISens Aiiaie wiadn Sugeh! Yo qush! ol .

(A) E11978 (B)  §F 1980 W (@ §7 1982 (D) &7 1984
127. TOTCH SATRTOTH HHH Y :

(A) IEH HA B (B) = BT B © JAduEd e (D) foRmT gERg e
128. TYH T WREE s YH TS IACeh T ?

(A) TYEFREMINE  (B) TAWR © TRIGVE (D) Ui ¥mg
129. TEHTIRISTEh! S ST @ :

(A) 30 fegwer 1947 W (B) 25 feqwR 1948

(© 25 SHaRl 1947 (D) 25 SHERT 1948 I
130. ITcl SATRTOHT G4 R TehRent g5 ?

(A) TIPRFIEDT (B) THAURRHIEST (O WUATOHDE (D) AT g+ ged
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131. g HIEHAITE TATe! YTHTeh STHTIICTS Shid TITHT S@TT ?
(A) T 9 (B) T 9w © IR Y (D) dr= 9

132, ST ToReh] STARUHT d1fex ek gl :
A) HEER TS (B)  hdl HEAHI Aehalre e
© THHITR TS O) HEEfFES

133. THM YH 1 YSI & 2
() gt (B) TURAH © Ul (D) <o

134. HerTel fewsl MTSTeRT SHATERTUTeR! SIEl TEhToTHT Tl TeTehT Shicraret Tfteh! Swmusht B ?
(A) T (B) e © = RE (D) Hr=aa

135. ATel Aifeca SRy shedra hfd WX fafs v ciererigt &t & v fafrs?
(A)  TTEIHR (B) a¥sR ©) STFHHR (D) TR

<

136. SQHI=Teh EIH TUTCH {THTR] IRFY U T @ :
(A)  fad 1213 @) fa.49. 910 © TaE 1057 (D) fa.d. 1075

137.  HEh{d AeHIIHIE Seehieieh] ST YTEh! 313 B :

(&) g B) &S
©) FESNR (D) IRESESREIRCIEI BIN
138. HEHAHI TREEAT SITh! T TANT TS s

(A)  STHTHRI FAM (B)  TcHHeh! FART (@G CEEIR R (D) facisent g

139. HEA (F97)I HRbHH! 1Y RS
A fagm af = B) TH vl © faufe wfs (D) 3STEH 9=

140. UTCH WTSTCATS SRHTHT W= T2 =fed ohl g2
(A) “Egeterigifag (B)  sfew © foaeay o=@ (D) fagamfa

141, TS YEEHT AW T Sie FHRIS IR ?
(A) HAUHE G (B) AR HiS © vy (D) "HIE Wi
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142. TH TSI TST ATRISTRT S0 ITTHHRRT I Faestent fHgre=mn s&1 &1f<9 T g1

(A) 3T Fedd (B)  3T9F Hed Q) oI =ed (D) Iy =
143. TRV JEhT SFAYUHI 2 :

(A) 7S 1935 (B) 7 ST 1936 HI

© 7 Rgarl 1935 | (D) 31 SHa 1935 1
144. TcIh! P TS Feaed S @

A) T TEH U 9= (B) TREIIMY

© TR 9= S WAL D) T = ‘AmeTg
145. 1918 Th! 24 S[ATSH F foreafagameract Adrell wiHres i fSush! FU Teiedn S o ?

(A feeeht faeafagarer (B) herehdl fovafagare™

(© =ARE fagdfagame™ (D) TdRdR favdfagae™
146. ATEIeR! TUTCH TRV I SUST - T T AT — SIS TRHUSR hfd TTH Yeh1d Ul o ?

(A) §7 1870 (B) § 1885 (© &7 1887 (D) &7 1890
147. Sifecehl faw@ STEdTehl &1 2Teh! HTSTHT e Rushl Het fovders & vis2

(&) st fo (B) IIATEE Q) eR (D) eTafed foreer
148. 1992 1 20 STTEh! fa HRdeh! WfGHel 1 1 WTHTeTs A= fawent Tl ?

(A)  =ieRuft, FFOTGE T arelt (B) Erft, Aurelt T wfvrgdh

(©) i, A T faeh (D) F 9 B
149. YK TR ISRV ST & T :

@A) M HT B FT © T e, o (D) A A
150.  FUTATHT =T IU=ITY e ST-ATEHRN hl § ?

(A) TEIARTE (B)  itcTarRIgr &t © T HYERE TR (D) SHHUS IRR
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(MANIPURI)

121. (oAl S 5’ 2RT (A 3BT (I et S -
NI EGIRICRIEE B) & HsI (AT |
© T colFat TFT @350 | (D) T TFAT (oFAT 3350 |
122, S[FRT AT 5810 ACAAFILAT VG FIIBFT SNGF ASTHAT SCOIHT WY AGZA A9 -
(A) T (B) ety © | (D) Tt
123, NIS[ST (ST 3319 29T Q3T s [fEr e faster i -
) wlosa e ®) frar e
© T e (D) fersrol Reefawsery
124, “‘TSTHAN SRILAT’ IQT TIAWET ¥
(A) I FHeAf B) I, &, Toarse
©  AETW AwiaiA D) @9, A
125. Q@& I 5L R | SRIRFT TN O] HA ST AN |
@ ® (GRS D)
126, ‘‘SIR0ET, 8T BT THWSNCAT" FICIACEE ST -
(A) pu (B) I (@ SrISANELIE. (D) WAR WS Al
127. STHIT W4 -
(A 8 B) ¢l © v D) afFI
128. T[S (T4 SFT Syt 3f2afe
(A)  aN.. R (B) YEITW HREIf
© oW SrereEeH (D) Tf: eI
129. BT+ T = 5FL IRIRT -
(A)  TLTY FSFNT Ygrwi | ®)  fefE aoFaT i
© TGS qrSEAT L | (D) TIE T SpFT LT (S |
130. YA s TS FheEar eTiar Bifost TSt s@wmr qfers & @7 =T -

(A) W ST S3FT @R [ | (B) TP YOS AR |
©) XN ST 83T @ TR | (D) W& FVF oAife |
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131. &5.f5. org. ©3a 3 -

(A) ST WA Afyefy (B) Tl RS

©  SifST I TR (D) =3 A
132. O 9T 3771 e -

(A) T IS B) TRARE

© THA D) (A) IR (C) HATHFI |
133. ST IRRMRT

(A) R A IS QFAT AT |

(B)  MCx SN SNGI GZAT AT |

© AT FR@ST I AT IR AT |
(D) TR SN SHRT SIS THITH |

134, XS SReTeRETAT QR (NBAT IS

(A) 4G AwL 3IN3 (B) I *MHwe W3
© RS (CTRFIML RIWR (D) WS SN eTife

135. ‘&P T SIeeamr 17 AP SIRIIT (A FiAImT BIEd Qi |
A) e B) T

© (A) IR (B) S INS 3331 TMF (D) W SZNF BIAEE

136. NS TS TIRAE Ye3 Q31 (A (BIFRIRT :

(A)  SIMICATR BT BB | (B)  SAMICAIS /S FCAZ BIT BIHM |
© SAMNERNEZ/SANTE BIBIBM T (D) SN BIT BRIBMT |

137. “Y@IRA’ SRAHT -
(A)  TEF TR Ll (B) 7T RN gl |

© (A) L (B) TG Y7 SZATTEZ | (D) (A), (B) SR (C) SF I |

138. RS BT 37 Y& -
(A) RIS YT | ® & @ro smye sA |
(©) NS PR ;M &I (D) (C)=Tifer (A) SR (B) BRI

139. TH GFRAT (AT BT 7T -
(A) A (B) =Wl © §EEI D) weif|
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140.  “SPIRIT (FISSII TINT SR -

(A) Tl I 339 (B) Y13IF5W BREIAT 371

©  av, &, [T 33ty (D) 97 THWEIT 331
141.  TCersr ST 7fero QY (@719 SFT Touwt SRt i et ERIRRIEOEY

A) T B) erear © oft D) SITIE TS ACS
142. T[T ST o3RS ST Q3T 3777 IO @ rers sy -

A)  ToH B) @D ©) Tofess (D) =5
143. o7 ST SF QT SRt cate e -

(A) oS B) 33 © wREH (D) TSI
144. ‘TTBT ST 1 0T, TXIF (SFAT NBIRI” ZRIET IICxae JIbmr <o 3faaf

A) AT TEE B) ATFEAT

©Q AT IR AN TE R D) TE IS A3
145. ‘(OIFIg’ 2R[OM G’ RO

(A) (TR (B) IR AN © eI (D) TIE AT ACS |
146.  CHCOCETIFA AT 7 CFAI AT STRF SR SAIRT F1CR B ST} Fon T :

(&)  YBA 58 WIT TSl (B) 4B 5@ BT SRy

© BN s Ao D) B St WA
147. WS @ ©iFe TRLFAT 1T w33t Brgyemt safafT -

(A) TP R0, 5585 (B) HER0, 5850 (O)  HAE R0, 595 (D) BET R0, 5580
148. I AT AL ST 3370 -

(A) N (B) IEIeIEA ©  BREar D) THEed
149. TSt @ SIB7 RSy FeTET -

(A)  TFLEAAIT @A @I | B) el @]

Q) AT G | (D) TR TS FI |
150.  (SOIRSZSTW SIS 3771 T3PS ¢

@A) FwegfatE @) wefewfafesr © 0 oA D) (A) WX (B) P92
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(KARBI)

121. Lamtasam ateng penke Bangphu son Ko’an do ?

@A) Son-2 B) Son-3 (C) Son-4 D) Son-5
122. Monit, marat, lapen ason ason amen ki-ir aphan helo pulo.

A) Menlar B) Menklar (C©) Men D) Sai
123. Ha-i1/ Long Teron atum arong amen kopilo ?

(A)  Socheng B) Umrasi

(C) Amtarpeng (D) Somindar Anglong
124. Hirjir kihir kethan ke abidi kepangcho aphan.

A) Kaningje B) Karjulong (©) Ketok D) Kacharli
125. “Ne pinap hem damji.” pulote kopi ahut lo ?

A)  Non-ahut B) Chuahut (C) Mo ahut D) Isitakali
126. EpiAlam Kacharli along Adun alam ke Kopélo ke-ennangji ?

(A)  Assamese (B) .+ English

(C) Hindi (D) Bengali
127. Karbi Lamtasam ateng pen ‘Men’ son koan do ?

A)  Son 4 (phli) B) Sonb5 (pho)

(C)  Son 6 (throk) D) Son 3 (kethon)
128. ‘Karbi atiri ke lammet kadure.

Lunle Lunji ta Lunjir kedure

Lun pen Jutang ke isivet damkre

Kheita Virthuji lammet le ave

‘Nepi Alam’ ahirjir komatsi ketok ?

(A) LongKam Teron (B) Phulmati Teronpi
(C) Anima Terangpi (D) Bidorsing Kro
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129. “Arudangmi achiklo
Bengcheret langsok hang jo
Nonpu nongsim apor lo.
Chingrum non dei klimso”
‘Aporpen’ ahirjir ketok abang :
A)  Anima Terangpi (B) Bamonpo
(C) Lunse Timung (D) Dhoneswar Engti
130. Ha-i mu akitap Komatsi Ketok lo ?
(A)  Longkam Teron (B) Bonglong Terang
(C) Nihang Rongphar (D) Barelong Terang
131. Menlar son koan do ?
A)  Son 4 (Phli) B) Son 6 (throk) (C)  Son 8 (nerkep) D) Sonb (Pho)
132. ‘HUNMILI’ puke :
(A)  Kep angdeng akitap (B) Phoangdeng akitap
(C) Isiangdeng akitap (D) Nerkep angdeng akitap
133. Achom + Asar + Kekan = .
@A) ~ Chomangkan B) Chomkan
(C) ChongKan (D) Chom Kekan
134. ‘LAM MARJONG’ komat lo ketok ?
(A) Bonglong Terang (B) BasaKathar
(©) Bidorsing Kro (D) Barelong Terang
135. ‘Solangdo’ puke - Lindok :
(A)  bang 2 (hini) aphan B) bang 3 (kethom) aphan
(C) bang4 (phli) aphan (D) bangb (pho) aphan
136. Non an kedobom Karbi Medium School hum ko'anlo ?
@A)  hum 10 B) hum 29 (© hum 35 D) hum 19
137. Hem tibinpile sarbura apok keso livoi kopilo ?
A) Longthu B) Hulik (C) Birik (D)  Phelo bisir
138. Karbi Lamet Amei Kechengsi a Meiphu Komat lo ?
(A)  Prof. Rongbong Jerang B) Longkam Teron
(C) Bonglong Jerang (D) Samsing Hanse
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139. Laaber alamthe heihui Kechokvek abang kolo ?
A) dam vangret B) dam aret (C) damvaret D) damret

140. Lunjir along ‘RUN’ puke kopi aphansi kipudam ?
A) Langaphan B) Tovar aphan () Hem aphan (D) Ritde aphan

141. Abong pen Amarthu, Abi pen Ahiru puke :
(A)  Chelonchit aphan (B) Chetontepin aphan
(C)  Chingbarbepin aphan (D) Kemepik aphan

142. Isiangdeng along non KAAC/SSA pen keron ponbom akitap amen kopi ?
@A) Hunmili B) Lam Chili () Lam Aklim (D) LammetKimi

143. Amri Alongri asor aphan ke :
A) Lelangdotapu B) Arlangdotapu
(C)  Solang dotapu (D) Sankurtapu

144. KLDB ahin pen KLT atum aphan komantu pensi Kepadochenglo ?
A) 2008 pen B) 2009 pen (C) 2010pen D) 2003 pen

145. SABIN ALUN puke kopi aphansi kipu ?
(A) -~ Mahabharat (B) Ramayana (C)  Bible (D)  Panchatantra

146. Karbi Medium School along non (2018 pen) Govt. of Assam/ SSA pen keronbom ‘Kimlakha’ akitap
amen kapulo ?

(A) Netum Akimlakha B)" Kimlakha Ajadu
(¢ Kimlakha Kimi (D) Kimlakha

147. “NepiAlam Ne Kachinghon chenam” pu komat atumsi Ketokcheng lo ?
@A) KSA atum B) KLA atum (&) KLT atum D) KCSatum

148. Dimro puke :
(A)  Sokamen B) Hem amen (C) Hanamen (D) Rongamen

149. “Sining le ingthok ta emahang chero.” puke jonghele sorsa sita :

A) Edon apok-et pinak (B) Bangpinak
(C) elipen akethe pinak (D) elipen akibi pinak
150. Men alamthe alar kepacho alamthe aphan pulo.
A) Men B) Menlar © Sa D) Saiklar
-00o0-
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